'MODEL QUESTION
WITH

_ ANSWERKEY

For
Higher Secondary Examination

\QQ
«%‘%
q (COMMERCE)

Q ® ACCOUNTANCY
@ ® BUSINESS STUDIES
® COMMERCIAL LAW &

PRELIMINARIES OF AUDITING
® COSTING & TAXATION

West Bengal Council of Higher Secondary Education
Vidyasagar Bhavan
9/2, Block D], Sector II, Salt Lake, Kolkata-700 091




MODEL QUESTION WITH
ANSWER KEY

FOR

HIGHER SECONDARY
EXAMINATION

COMMERCE

West Bengal Council of Higher Secondary Education
Vidyasagar Bhavan
9/2, Block DJ, Sector II, Salt Lake, Kolkata - 700 091



aqAPMHF:
| R5S=BT TN R 1w

Fogwe! FF (T fores)

e Mahua Sen Majumder (ACCT)
Lina Shome Datta (BSTD)
Prosanta Modak (CLPA, CSTX)
Uttam Mukhopadhyay (CSTX)
Dr. Rajesh Das (CLPA)

prad
STIPT (FE905 (GHG I3 FCATC foihitbe

(sif*Eses) AFHICIR Seapial)

il



g

SRS ST FRAWR 21 (ACF I @ avl (@ Realtd gia-graiwmd oy, R
I T THARGICF ceat AT TCB GG € TNy eifSraifaret Je7s elraf< il
AR SR¥[2I2e F00 BRI — SI@ =l (S0F Physics, Chemistry, Mathematics @ Biology—
«3 R el fofes A 7jA<F 7j14< MCQ BiZst “Concepts with sample Question
and Solutions -3 32 2/ T 22T |

CRAE AL FAME il eIt ( Academic Department) Sowical [Reale Rz
Mock Test Papers for Higher Secondary and All India Competitive Entrance Examination

Y| I 2R | @3 3209 Physics, Chemistry, Mathematics ‘€ Biology — @3 51 Raza
afe R 266 @ Mock Question Paper SIITR | K1 2Rsi9i@ 75{(F S0 A1el] € T2
IR ey 2 T2 AR STial | SITCwR (R % (A 29Tl %Y RIa -l @ Fess sr=tet
S ANG! (FEICZ 018 T— FEGRSR A0S SR 26T Ol 2R |

I AT WS o , T eE ¢ Question Pattern-43 e Feaifs @rd e,
o] <R iferey fomil *1=i1 frazeyferst S ST e 7j2Feltd Model Question-«=
T2 2| 1 7T | GG SIS 2 el @ Alfeley Koo [Ew @9k 2116 KA Model
Question-4g T2 2| Tz | ol Kaejfera & 26 Volume-9 @<k iferey fzmejfera &y
@36 Volume-9 @R ZXAIG! R Ty 7j2i T2 2] 5411 261 | I3 I3 (R ST
SCes] Sy (RPICAT SRR (RICA et A1 3l T Joer Areat AR ol 7)<l wfepzipo |

AceTs fRrees fREpps e S TR A0 G2 Sens € R 929)fe1 2o S0,
I SIS (1AM S | FWE SIS ot a9 W'ad 47 Zia-gaimd
FICL QLR e 2 AP STAplol 2120 FCACR O S22l 2ff=f |

AR JATE e REEEICE SINoE Foes] SiAE Al SN GEReaE e
T MR |

ST AR S GRACTR Feolel I3 2 Ay 5 e [RSGa st (A2
AR | SR RCaNb 2CeT SR AL PR &7e T4 |
T3f6 AT ETRIC A, TSNS 8 A AW 279 F1 2 |

s

SY GETR, R0k ©. T wA
Teioife
%o T S Wt oM

il






v A

FRAWE SIS GR SHIFICSHRE [KOITaT OGIRAIT G2 22 THaiieea 3:1E,
el @2 ey RS0 (@ IS [T “Model Question with Answer Key for
Higher Secondary Examination’ %ﬁ?&?{%{ I 25 | 353G R A5 721 @i
72T IR IR0 G el [oieald vfb @ 26 Set-a w1 Political Science,
Philosophy, History @ Education -« 5140 &2 7 VOL-I Geography, Economics,
Sanskrit 3% Computer Application G2 51D = @ VOL-I1 €<% Accountancy, Business
studies, Costing & Taxation '@ Commercial Law & Preliminaries of Auditing —<3 51

Fifrey [eitam [Raw (0 @b 72 92 S e 2o |

Aol Rtz gerew 3 oft Model Set of Question Paper, 789! @b esi#itag MCQ
8 SAQ-T 2his|ferd e wTHfeTs T4l TR |

G wCel 3fewty el fofess sfb fRata@ ©sig (Physics, Chemistry, Mathematics,
Biology) Conceptual Question-47<2 3% Mock Test Paper 2 207 3 ARSI
MO TCCZ | GAICH Ta-2IG! @ Frws ACeR Sifenl @ 2= SeE s ¢ Jifdey
feazsfferst =y W2 Question Pattern @ 71%a Relea fefers eiojfer @s= ©it <=l
TRCT O BG-RAIe G 77 120 5{elIq7]e[eIta Siere A 09 AT,
SIS F5 T G2 2SI A A (G LSO R FHAC |

Tl 192 @2 FIET FCate @3 ey fMrmmsaspz AR T [ S |
RIG-RaT TS Z0E SR #F LF 209 |

SU TR, R05b S AT
SIRFAR O (oI Bt






Subject

Accountacy

Business Studies

Commercial Law &
Preliminaries of
Auditing

Costing & Taxation

C ONTENTS

Model Question
(Set1-10)
(Set 1 - 10)

(Set 1 - 10)

(Set 1 - 10)

vii

Pages
1-106
107-168

169-220

221-296






Accountancy







Model Question with Answer Key 3

Accountancy
SET -1 F. M. - 80

PART - A (Marks : 44)

e empejfers T whe : (RFgejfer sTmana)

Answer the following questions : (See the alternatives) :

1.

A and B are partners of a firm contributing 60000 and ~80000 respectively as
capitals and sharing profits and losses in the ratio of 3 : 4. Interest on capital is to be
allowed at 10% p.a. The net profit for the year ended March 31st, 2017 amounted
to ~7000 before making any allowance for interest. Show profit & loss Appropriation
AJcifthe partners decide to provide for interest on capital even if there is inadequate
profit. (Assume the year ended on 31.03.2017) 4

OR
SRR JET AT GIR Baife TSR 2Ny (@12 |
Write down the distinction between partners' capital account and current account.

X. Biotech Ltd. purchased machinery worth ~10,00,000 from Y. Biotech Ltd.
"5,50,000 was paid by issue of 9% Preference shares of ~ 100 each at a premium of
10%. The balance was paid in cash by cheque. Pass necessary journal entries in the
books of X. Biotech Ltd. for making payment. 4

OR
(a) IRAMFS o1 JETC0 I (@R 2
What do you mean by Reserve Capital?
(b) TEEEEGTSR (S TeTCe FI (= 2
What do you mean by Capital Reserve? 2+2

AB Ltd. issued 5,00,000, 7% Debenture of ~50 each. Pass necessary journal en-
tries in the following cases :

i)  Ifdebentures are issued at par, redeemable at 8% premium.

i) Ifdebentures are issued at 4% premium, redeemable at 5% premium.
2+2

OR
(a) AR Aeiofg Fi 2

What is Bearer Debenture?
(b) FETGEE TS N fraga Kot w1 710 F @™

What do you mean by issue of debenture as Collateral Security?

2+2



Model Question with Answer Key

A and B were partners sharing profits and losses in the ratio of 2 : 1. Their Balance
sheet as on 1st June, 2006 was as follows :-
Balance Sheet
as on 1st June, 2016

Liabilities N Assets N
Capital : Goodwill 12000
A 30000 Sundry Assets 57000
B 24000 54000 Cash at Bank 6000
Reserve Fund 6000
Sundry Creditors 12000
Bills Payable 3000

75000 75000

On that date C was admitted as a new partner. He paid ~30000 towards his capital,
but was unable to pay anything for Goodwill in cash. It was agreed that Goodwill be
valued at 210000 for the purpose of admission but no goodwill should appear in the
new firm's books. The new profit sharing ratiowas 3: 2 : 1 for A, B and C respectively.
Pass necessary journal entries in the books of the firm. 6

OR
Ale-Fod 217 @3 FMS-Hfe TG A QTS S =A<y o 39 |
Distinguish between profit & loss A/c and profit and loss Appropriation A/c.

Z 1td. issued 3000 equity shares of ~10 each payable as "3 per share on application,
"5 per share (including "2 as premium) on allotment, ~4 per share on call. All the
shares were subscribed. Money due on all shares was fully received excepting A,
holding 100 shares, failed to pay the allotment and call money and B, holding 200
shares, failed to pay the call money. All those 300 shares were forfeited. Of the
shares forfeited, 250 shares (including whole of A's shares) were subsequently re-
issued to C at a discount of "2 per share.

Pass necessary journal entries (including cash transactions) involving forfeiture and
re-issue. 6

OR



Model Question with Answer Key 5

Write short notes on : 6
BRAl (o1

a) Bonus Share a) (ISR CeRE

b) Subscribed capital b) & e

¢) Securities Premium c) vl wifaRle

Nadi, Sagar and Pahar are partners in a firm sharing profit & losses %th, % th and

71—th respectively. Their Balance Sheet as at Dec 31st, 2017 was as follows :

Liabilities Amt. ~ Assets Amt. ~
Capital A/ cs: Goodwill 15000
Nadi 45000
Sagar 30000 Land & Building 30000
Pahar 25000 1,00,000 Plant & Machinery 39750
Motor Van 7750
General Reserve 10500 Stock 22500
Creditors 22500 Debtors 16500
Bills Payable 3000 Cash 4500
136000 136000

On the same day, Nadi retired from the business and the following adjustments were
made :

1)  Firm's goodwill was valued at ~36000

i)  Assets and Liabilities are to be valued as under :-

~

Stock — 18000
Land & Building— 33900
Debtors — 15750
Machinery — 37500

Creitors — 21000



Model Question with Answer Key

i) Sagar to bring in ~30000, Pahar to bring in ~7500 as additional capital.

iv)  Nadi was to be paid ~24300 in cash and the balance of her Capital Account to
be transferred to her Loan Account.

v)  Sagar and Pahar decided not to show Goodwill as an asset in the balance sheet.

Prepare Revaluation A/c, Partner Capital A/cs and Balance sheet of the firm after
Nadi's Retirement. 3+3+4

The following particulars are extracted from the Balance Sheet of Goodwill Enterprises
Ltd. as at 31st March, 2017 :-

Equity Share Capital 3,00,000
10% Preference Share Capital 1,20,000
Capital Reserve 60,000
Profit & loss balance 1,20,000
12% Debentures 50,000
10% Mortgage Loan 1,50,000
Current Liabilities 2,80,000
Non Current Assets 4,80,000
Current Assets 6,00,000
Calculate :

1)  Debt-Equity Ratio
i)  Proprietary Ratio

OR
BRAl (eT2

Write short notes on :

i)  Debtor's Turnover Ratio (MR SIS SgiT)

ii)  Gross Profit Ratio (3G Iz S 2{T)



8.  Prepare a Cash Flow Statement from the following Balance Sheets of ABC & CO.

Model Question with Answer Key

7

Ltd:-

Liabilities | 31.12.18 31.12.17 Assets 31.12.18 | 21.12.17

Share Fixed Assets | 7,00,000 | 5,00,000

Capital 5,00,000 | 4,00,000

Reserve & Non Current

Surplus 3,05,000 | 2,10,000 Investment 56,000 70,000

Long term Inventory 2,80,000 | 2,10,000

Borrowing | 3,10,000 | 3,00,000

Trade Trade

Payables 95,000 80,000 Receivables 1,14,000 | 1,40,000
Cash & cash 60,000 70,000
Equivalents

12,10,000 | 9,90,000 12,10,000 | 9,90,000
OR

T 271z [REAR 9o Sraly (514 | 997 2[R RAE @R T 32-93 C AL
T =31 | 2+4
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PART - B
(Marks — 36) 1x18=18
1. s g fadion == :
() TG SHAMITE beTre ARSI (Ta— ]
a) Wl (BRE 2 b) M s TR
¢) (SR @, @ @TEFT  d) IR (ORE 261
209 Al
Current Account of a partner — [ ]
a) will have a debit balance always
b) will have a credit balance always
c) may have adebit or credit balance
d) neverhave adebit balance
(i) (I ARCE SRAACS A LA T2 37 (e =e [
a) TradingA/c b) Profit& LossA/c
c) Profit& Loss Appropriation ~ d) Suspense A/c
Alc
In which account interest on capital payable to partners is shown? [ ]
a) TradingA/c b) Profit& LossA/c
c) Profit& Loss Appropriation ~ d) Suspense A/c
Alc
(i) SCoF (G A2 ]

a) GG AAEHCE SRAMIE AT 2Zel F91 T Al

b) CFGH TR SRAMIT AT G 2 SIACHT A SAEFF @ Wi
R 22 F =

) TG TRIERCS *LG SRAMISIR AR 2l T *06 SRAMIE 2
age 1 =

d) e




(iv)

(vi)

Model Question with Answer Key 9
Which of the following is true? [ ]

a) aminor cannot be admitted as a partner

b) aminor can be admitted as a partner with rights and liabilities same as an
adult

c) aminor can be admitted as a partner only into the benefits of the partners
d) none ofthe above
T (@ SR 2fe AER LT AR @Y Srew F0F, O GMo

TSI TS 77 2 — ]
a) 6 b) 5%V

c) 6PN d) 12309

If drawings are made by a partner equally at the beginning of each month, then
interest on drawings is to calculated for [ ]
a) 6months b) 5% months

c) 62 months d) 12months

M X @ Y- 3L A0 (capital A/cs)-a7 IAFCT ~25000 € ~20000 2]
0 L 12 12
ER Z (F (G ST 5 SO G SRAWI f27AIC 229l 41 27, 919 Z-4

ETG FE— ]
a) 15000 b) 20000
c) 22500 d) 25000

If capital balances of X and Y are ~ 25000 and ~ 20000 respectively and Z is
admitted forg rd of total capital of the firm, then what will be the amount of Z's

capital ? ]
a) 15000 b) " 20000

c) 22500 d) " 25000

IO SRAMICIA 25 S G2 TR A 2 20 (SIS S-AmId o2
ST, i 37) — ]
a) 5%p.a b) 6%p.a

c) 7%p.a d) e 29

Rate of Interest on dues of the deceased partner will be (as per sec. 37 of
Indian Partnership Act, 1932) [ ]
a) 5%p.a b) 6%p.a

c) 7%p.a d) Bankrate
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(vii) SIS, RS @3 OB SRR @R S -75fs I5+ 1 % % @R %

(ix)

(X)

AT | W R SR 29 B0, O e SeHiie 23 — ]
a) 3:1 b) 3:2
c) 1:3 d 2:3

Aminul, Biman and Christopher are partners and share profit and losses in the

proportion of % , % and% . If Biman retires what will be the new profit sharing
ratio— [ ]
a) 3:1 b) 3:2

c) 1:3 d 2:3

A G3R B FAS-6 35 6 1 : 1 SGAITS | C-(F oo SAMIA 2T 22l 411
W}WWWW|WW-Wme— []
a) 1:1:2 by 2:1:1

c) 3:3:2 d 1:2:1

A and B share profitand losses in 1 : 1 ratio. They take C as a new partner
for4lpart of profit. New profit sharing ratio will be — [ ]
a) 1:1:2 by 2:1:1

c) 3:3:2 d 1:2:1

SIS pfEa seeifeifers, SremeT S o= 29 2@ — ]
a) 5%p.a b) 6%p.a

c) 8%p.a d) (FF3W e 2 N

In absence of partnership agreement, interest on drawing will be [ ]
a) 5%p.a b) 6%p.a

c) 8%p.a d) nointerest will be paid

plelleeire 2w — [ ]

a) SR SEATS — TYT OGS b) T SN — A SATS

) FFC TS + Toa St d) (S

Sacrificing Ratio is equal to — [ ]
a) Old Ratio — New Ratio b) New Ratio—Old Ratio

c¢) OldRatio+ New Ratio d) None of these



(xi)

(xi)

(xiv)

Model Question with Answer Key 11

'Share Allotment A/c' 2&T 9316 — [ ]
a) I TR foorRere b) Jfex e

c) «Ifss e d) @b

Share Allotment A/c isa— [ ]
a) Realaccount b) Personal account

¢) Nominal account d) None of these

KR < [feT-71eIg R (@ 9= St ©f %9 ¢ ]
a) v b) A<l a5

c) HElvo d) 4 ex

The provision for issue of shares at a premium is stated in : [ ]
a) Sec.78 b) Sec.79

c) Sec.80 d) Sec. 52

i eIt A6 3rife ™ 1,20,000 SCeTs ARRCS AW~ 1,00,000 0= 377l
MRS X [fer 1 27, O SR 20000 (&FIF AT (FCE F

2@ ? [ ]
a) AN RARITS b) R GRS ZERRITe

¢) se-wle 2ARITe d) Reeelr fReice

If vendors are issued fully paid shares of = 1,00,000 in consideration of net
assets of = 1,20,000, the balance of ~ 20000 will be credited to — [ ]
a) GoodwillA/c b) Capital Reserve A/c

c) Profit& LossAlc d) VendorA/c

T 10 YT G0 CRIE, T 8 Ol ZRCR G 6 SR FRCE, AT
41 76T, OO0 (RIS o1 20 (TfT Fe00 209 — ]
a) " 10 b) °8

c) "6 d "2

If a share of ~ 10, on which ™~ 8 has been called and ~ 6 has been paid, is
forfeited, the share capital A/c should be debited with [ ]
a) " 10 b) °8

) 6 d "2
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IR IR SCeTE T9 woies] i R 2o ke s @re
ST 2 []

a) 20% b) 30%

c) 40% d) <IN

Maximum amount that can be collected as premium as a percentage of face
value of share is — [ ]
a) 20% b) 30%

c) 40% d)  Unlimited

AT I RO TofI] wAle — [ ]
a) W2 aE b) SfFGTHE 2R

c) 10%2= d) @=e

Preference share holders get dividend at— [ ]
a) Fixedrate b) Fluctuating rate

c) 10% d) noneofthese

M R 2fTeT S W e 27 90 Ol (i ARSI S
= — ]
a) e Al <ice b)  CARIS T TS

) I SeR Algle AT d) @«

Ifthere is profit on re-issue of shares, then that profit is transferred to— | |

a) Capital Reserve A/c b) Share Capital A/c

c¢) Revenue Reserve A/c d) none ofthese

ferasgr ffer s (7 <G 2wl 1 27 ©f 7o — ]
a) I TS b) vefe Fife

c) e ArIfe d) Sl sle

Discount on issue of Debenture is — [ ]
a) Fixed Asset b) Current Asset

c) Wasting Asset d) Fictitious Asset



2.
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Ao g fom =4 - 1%x6=6

Choose the correct alternative (Answer either Question No. 2 or Question No. 3)

() T LT SIS 72% 2, OC IR AP Sg41 77 — ]
a) 15% b) 18%
c) 22% d 28%
If operating ratio is 72%, what will be the operating profit ratio? [ ]
a) 15% b) 18%
c) 22% d 28%

(i) BeIfS SIS S 3w 2e] — ]
a) 1:1 b) 1:2
c) 4:1 d 2:1
The ideal standard of current Ratio is — [ ]
a) 1:1 b) 1:2
c) 4:1 d 2:1

(i) AW =~ 3,00,000 27, G AP ST 20% , C Neg TSI " 1,20,000,
O(J TGO SRS AL 2T — ]
a) 2314 b) 437
c) 834 d 679
If sales is = 3,00,000, gross profit ratio is 20%, Average stock ~ 1,20,000,
what will be the number of stock turnover — [ ]
a) 2times b) 4times
c) 8times d) 6times

(iv) W BeTfs Sgsite 3 @ 2 =R TG IR TR~ 60000 T, O belfe Fwifes
A 207 — ]
a) 40000 b) ~ 60000
c) ~ 80000 d) ° 1,80,000
If current ratio 3 : 2, net working capital ~ 60000, then what will be the amount
of current assets? [ ]
a) 40000 b) ~ 60000

c) ~ 80000 d) ~ 1,80,000
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(v) o ife 2o — ]
a) BeIre FHfE — erw 7/ — W2 &g <=
b) elf® i — et
o) v eife — R
d) e
Liquid Asset is equal to— [ ]
a) Current Asset— Stock — Prepaid expenses
b) Current Asset— Capital
¢) Current Asset—Investment
d) None ofthese

(Vi) oW 2_IZ REATS ST Ml «d 7 — ]
a) [z 7w el b) RSl 1® FeEsl
¢) ONfYF RN I I, d)  (FA02 T
In cash flow statement dividend paid will be considered as : [ ]
a) Operating Activities b) Investing Activities
c¢) Financing Activities d) None of these

3. Computer in financial accounting.
4. Frffee epsfera g Tea whe @ (e emiojfer svmdta ) 1x8=8
Answer the following questions in brief (Alternatives are to be noted) :
(i) IR (A RIS G SAIRPIF IG5 -G W& GO A1 T 74|
State one distinction between 'Charge against Profit' and 'Appropriation of Profit'.
(i) @G SRAMIC ARSI YRR 2T FICF A0 2
What is Fluctuating Capital Account of a partner?
(i) G o1y fefizce szt Fi 2
What is super profit in the valuation of goodwill?
OR
GFG G SAMI, R (6 T 60% vl FCACR, SIAmId! 5
el PRIFSCS fof (G YA F© SA] AT 2
What share of profit would a 'sleeping partner', who has contributed 60% of the
total capital, get in absence of a deed?
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(iv) A€ BeNe-H 3 : 1 SEATS I T | B OIF SRHAT Yo S o Somig C
(S et | e aire-Ffod Si=ire e <3|

A & B shares profits and losses in the ratio of 3 : 1. C is taken as a new partner
to whom B contributed }% of his share. Calculate new profit sharing ratio.

(V) SRAMEE SRR (FGg SR ST SN3c S F s =itz 2
What are the provisions in Indian Partnership Act regarding retirement of partners?
OR

(I SLRVICE DRI FICHE o 924 341 (ACF IRIIEMO (e @0 A
2

Can a partner be exempted from sharing the losses of a firm?
(vi) IR TS R @IS IR
What do you mean by 'Registered Capital' of a company?
OR
(AT VLR (FCq ““Pros bl B0e F (R 2

What do you mean by 'minimum subscription' in case of capital of a company?
(vii) SIfSHT ST 212 FCo F @RI ?
What do you mean by over-subscription of shares?
OR
AT eI A0S F (AR 2
What do you mean calls-in-arrear?

(vil) <R Rfsieael 1 ¢FCE [PO A0S J (@RI 2

What do you mean by IPO in case of issue of shares?

5. freferiee emieferm wiee Tea wie : (Ragefer svwaa ) 1x8=8

Answer the following questions in brief (See the Alternatives):

() R SFCET SAF [2HA FICF A 2

What is common-size Income Statement?

OR
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(1)

(iif)

(iv)

Model Question with Answer Key

OIS Wi REA FET0e F (@RI 2
What is Comparative Income Statement?

M (AT AP ST 20% 9% KRR NG 2[5l ™ 8,00,000 2, € (6
S[ATPIET 2/ ' B2

What will be the amount of gross profit, if gross profit ratio be 20% and total
sales be ~ §8,00,000?

R Siie 2
What is Mixed Ratio?
OR
ST SACSR S| 3w O 2
What is the ideal standard of liquid ratio?

T 92 G3R F9M 21T RN W0ay G0 A<y o 59|

State on distinction between cash book and cash flow statement.

6. Computer in financial Accounting.
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ANSWERS KEY

Part-A
1) Share of loss to A= "3000, B ="4000
2) No. of shares issued 5000; Securities Premium ~50,000
5) Profit onre-issue ~700
6) Losson Revaluation— 2100, Nadi's Loan A/c ~37500
Balance in Capital A/c (1. 1. 18) : Sagar- ~44400, Pahar = 24700
7) Debt-equity Ratio—3 : 1, Propritary Ratio—5:9/55.56%
8) Cash from Operating Activities— "1, 03, 800
Cash from Investing Activities— "1, 86, 000
Cash from Financing Activities — 72,200
Part-B
MCQ
1. @) c (i) c (i) ¢ (iv) ¢ (v) d (vi) b (vi) a

2.

wi) d (%) a ® b x)d (i) b (i) b (xiv) d

xv) a (i) a  (xviD) d

@d  (d (iii) a (iv) d ) a i) ¢

SAQ

3. v) A:B=3: 1,BSacriﬁses=%X%=% and gave it to C.

4)

-3 .1 1.1
_3 . 1.1
48 8
=6:1:1

1) G P.=71,60,000
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Accountancy
SET-11 F. M. - 80

PART - A (Marks : 44)

Answer the following questions (Alternatives are to be noted) :

Toa epia)fera Tea wie : (Regelfe emwatm) -

1.

Jeet, Preet and Preetam are partners in a firm sharing profits and losses in the ratio of
3:3:2. On 1st January, 2018 their capitals stood at ~16,000, ~10,000 and ~8,000
respectively. It was provided for in the partnership deed that interest @ 6% p.a.
would be charged to the partners on their drawings. In addition it was provided that
Preetam was entitled to a commission of 10% on profit after charging such commission
but before charging any interest. The net profit of the firm for the year ended 31st
December 2018 amounted to ~11,000. Jeet and Preet drew ~100 at the end of each
month. Prepare the Profit and Loss Appropriation Account of the firm for the year
ended 31.12.2018. 4

Or
SRV SIS Soie I el 3o I 1 a1 vl wace 2712 4

XYZ Ltd. forfeited 300 Equity Shares of ~10 each, fully called up, held by Manish,
for non payment of allotment money of ~ 3 per share and final call money of ~4 per

share. Out of these shares, 250 were reissued to Shyam for a total payment of ~2,000.

Give journal entries for forfeiture and reissue. 4
Or

3@31% RIS f?ff‘\@ﬁi%{ JI 12 (What are the features of equity shares) ? 4

Pass journal entries for issuing of 2,000, 10% Debentures of ~ 100 each in the

following cases.

(1) Issuedat “100 and redeemable at ~ 110 and

() Issuedat ™ 95 and redeemable at = 105.
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4. Cloud and Fog share profits in the ratio of 5:3. Their Balance Sheet as at 31st March,

2018 was : [6]
Liabilities T Assets b
Creditors 30,000 Sundry Debtors 40,000
Employees Provident fund 20,000 Less: Provision for

Doubtful Debts 1.200 38,800
Workmen's Compensa- 11,600 Stock 50,000
tion Reserve Cash at Bank 10,000
Capital A/cs : Fixed Assets 1,60,000
Cloud 1,40,000 Profit & Loss A/c 4,800
Fog 62.000 2,02,000

They admitted smoke into partnership with 1/8"share in profits on 1st April, 2018. Smoke
brings ~ 40,000 as his capital and ~ 24,000 for goodwill in cash. Z acquires his share
entirely from X.

Following revaluations are also made : —
(a) Employees' Provident Fund is to be increased by ~10,000.
(b) Alldebtors are good. No Provision is required.
(¢) Stockincludes ~ 6,000 for absolete items.
(d) Creditors are to be paid ~ 2,000 more.
(e) Fixed Assets are to be revalued at ~ 1,40,000.
4. Prepare journal entries and Partners' Capital Accounts. (6)

Or
TG SRAMI ACICAT AR 721G € AT 7T ST ARGl 2 (6)

5. Raj Ltd. issued 20,000 equity shares of ~10 each at a premium of ~ 2 per share

payable as ~ 3 per share on application ; ~ 5 per share on allotment including premium
and ~ 4 per share on final call.
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All the shares were subscribed, money due on all shares was fully received excepting,
Rup, holding 200 shares failed to pay allotment and first call money, and Deep holding
400 shares, failed to pay the final call money. All these 600 shares were forfeited.
Pass necessary journal entries. 6

Or
BRA (o720 (1) ATFare B (171 elfor=liof, (i) sgeros bt

Stone, Brick and sand are partners sharing profits and losses in the ratio of 3:2:1. The
Balance sheet of the firm as at 31st March, 2018 stood as follows :
Balance Sheet
asat31.3.2018
Liabilities b Assets b
Creditors 42,000 Cash at Bank 11,500
Workshop's Compensation 24,000 Debtors 80,000
Reserve Less: Provision
Investment 12,000 For doubtful
Fluctuation Debts 4,000 76,000
Reserve Stock 60,000
Capital A/cs Investment 30,000
Stone 1,36,000 (Market value
Brick 64,000 * 35,200)
Sand 42.000 2,42,000
Patents 20,000
Machinery 1,00,000
Advertisement
Expenditure 10,500
Goodwill 12,000
3,20,000 3,20,000

Sand retired on the above dates on the following terms :

(a) Goodwill of the firm is to be valued at ~ 69,600

(b) Value of patents is to be reduced by 20% and that of machinery 90%.
(c) Provision for doubtful debts is to be created @ 6% on Debtors

(d) Sand took over the investment on market value.
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(e) Liability for Workmen's Compensation Fund to the extent of ~ 1500 is to be
created.

(f) Aliability of ~ 8,000 included in creditors is not likely to be paid.

(2) Amount due to sand to be settled on the following basis : ~ 10,134 to be paid
immediately, 50 % of the balance within one year and the balance by a Bill of
exchange (without interest) at 3 months. (10)

Prepare Revaluation Account Partners Capital Account and Balance Sheet after
Sand's Retirement.

7. From the following information calculate Gross Profit and Net Sales. 4
Opening stocks ~ 60000
Closing stock ~ 100000.
Stock Turnover Ratio is 8 times
Selling price 25% above cost.
Or
Seire fResRIces Soiysfer 1 2

8.  From the following financial statements of KBC Ltd. asat31.12.2016 and 31.12.2017
prepare a Cash Flow Statement for the year ended 31.12.17.

Liabilities 31.12.16| 31.12.17| Assets 31.12.16 | 31.12.17
Equity Share 1,00,000 | 1,20,000 | Fixed Assets 180000 | 205000
Capital
General Reserve 50,000 60,000 | Trade Investment 20000 25000
Profit & Loss A/c 10000 15000 | Stock-in-Trade 50,000 70,000
10% Debentures 50000 45000 | Sundry Debtors 40000 49000
Sundry Creditors 90000 | 110000 | Cash 1500 1000
Proposed Dividend, 10000 15000 | Preliminary Expense| 18500 15000
3,10,000 | 3,65,000 3,10,000 |3,65,000
Additional Information :

1. During the year, depreciation changed on fixed assets arounded ~ 25000.
2. Thedivided proposed on 31.12.16 was paid on 10.8.2017.
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Debenture interest paid during the year ~ 5000.

Or
o =7ie [RRAR SRl bl 3 | 6
Part-B
(Marks : 36)
o< faaal® fdion <= 1x18=18
() S Bl = - ]
(a) 93 ferive pfe (b) @G GNT 5
(c) =¥ v <t forfee pfe (d) ToItIT T_F0 |
(i) AR pfea SeriPRfere SRl ofe 1567 FA0T — ]
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(@) I TG (b) SN Fife
(c) g Trife (d) SR S T |
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(@ 10 (b) 20
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©lol A 8 B eI [FSiE N0y 954 I 61, Mo e A0 Seire
I~ []
(@ 5:3 (b) 3:2
() 1:1 d 5:2
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(Vi) CPICA fPg Trerd A1l ARFCE O oil® 207 — ]
(a) T ST (b) =TT ST
(c) S[ETH A (d) T SIS
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(vi) GF 2
OR,
IPO <TCe fF Q-2
(vil) =ef=e 226 2
(viii) G==T #1g (Prospectus) F 2
5. A9 6 THA AT Tew wie : ([ erafen srwa) x4 =4

() o YRR STOIT SATSS A (72|
OR,

T 91 T SIS w08 F (2
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(iii) GG 37ife W=l Tl = @i (=74 |
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R o 2T ?

6. T RS F~eotas et

Answer Key
Part A

1. Commission to Preetam -~ 1000 ;

Share of profit : Jeet - ~ 4314, preet— "~ 2876,

Preetam - ~ 2876 ; Int. on drawings : Jeet - ~ 33, Preet - ~ 33
2. Transfer to Capital Reserve - ~ 250

4. LossonRevaluation -~ 36800
Cloud's Capital - ~ 145250
Fog's Capital - ~ 50750
Smoke's Capital - ~ 40000
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6. LossonRevaluation- ~ 1600 ;
Partners' Capital A/c :
Stone - ~ 134240
Brick - ~ 62826
Sand's Loan A/c - ~ 5000
Balance Sheet total - ~ 242566
7. Gross Profit- ~ 160000 ; Net Profit : ~ 800000
8. CashFlow from:
Operating Activities - ~ 5450
Investing Activities - ~ 55000
Financing Activities - NIL
PartB
1. ) a, d)a, i)b, 1iv)b, v) b, wvi)3:2,vi)b, wvii)b, ix)b,
X) a, xi)b, xi)a, xi)b, xiv)c, xv)d, xvid xvi)c, xvii) d.

2. )b, 1)ec, W) ¢, 1v) a, v) b, wvi)a

4.1v) X < O Wi 1
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Accountancy
SET - 111 F. M. - 80

PART - A (Marks : 44)

o ehie)fera Tea wie : (RFgelfer emwaia)

Answer the following questions (Alternatives are to be noted) :

1. Sunil and Saurav are partners in a firm sharing profits and losses in the ratio of 3:2.
On 1.4.2017, their capitals stood at ~ 50,000 and ~ 30,000 respectively. The net
profit for the year ended 31.3.2018 amounted to ~ 30,000.

After taking into consideration the following prepare the Partners' Capital Accounts.

(a)
(b)

(©
(d)

(a)
(b)
(©
(d)

Interest on capital @ 10% p.a.

Interest on drawings @ 12% p.a. The drawings of partners were : Sunil ~ 8,000
(1.9.2017) and Saurav ~ 5,000 (1.11.2017)

Salary of each partner @ ~ 225 per month
Saurav is entitled to a commission of 10% on divisible profit. 4)
Or

fesferfie fRamefer simifa afeditT e aRfem st 2@ (STmifa
pfF SpieITs)

AR (0

SETHCR CHAT I

ERIGE R ICE AT E R

SR SCEITCAs T 71 | 4

2. Angel Ltd. forfeited 200 Equity Shares of ~100 each issued at a premium of 50%
(to be paid at the time of allotment) on which first call money of ~ 30 per share was

not received; final call of ~ 20 is yet to be made. These share were subsequently

reissued at ~ 70 per share as ~ 80 paid up.

Give necessary journal entries regarding forfeiture and reissue of shares. 4

Or

AW 1K A0S P (AN 2 4
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3. Sunrise Ltd. issuing 2,000 14% Debentures of ~100 each at par on January 1,2017.
Under the term of issue :—

(1) Debenture interest is annually payable on 3 1st December every year, and

(i) '; ofthe debenteres are annually redeemable by drawings, the 1st redemption
occurring on 31 st December, 2019.

Pass necessary journal entries for 2017 and 2018.

4. Balance Sheet of Amal, Bimal and kamal sharing profits in the ratio of 3:2:1 is given

below :
Liabilities b Assets N
Amal's Capital 4,00,000 Bank 40,000
Bimal's Capital 4,00,000 Debtors 2,00,000
Kamals Capital 2,00,000 Len. Prov.
for Doubtful
Debts 3,000
Contingency Reserve 1,20,000 1,97,000
Trade Geditors 1,80,000 Stock 2,03,000
Furniture 30,000
Machinery 5,30,000
Building 3,00,00
13.00,000 13.00,000

It was decided to admit shyamal into partnership on the following terms and conditions.

(a) New profit sharing ratio among Amal, Bimal, Kamal and Shyamal will be 3:3:2:2

(b) Goodwill of the firm is valued at ~ 3,00,000 Shyamal brings his share of goodwill
in each.

(c) Shyamal brings in ~ 1,50,000 as his share of capital.

(d) Contingency Reserve is not required any more.

(e) Provision for doubtful debts is to be raised to 5% on Debtors.

() Machineryisrevaluedat ™ 5,00,000 and building is revalued at = 3,67,000.
Prepare Revaluation Account and partners' capital Accounts. 6

Or
G| 12 2714 (Memorandum Revalnation Account) J&T0e < (11 2
(6)
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X Ltd. issued a prospectus imiting application for 60,000 equity shares of ~ 10 each
payable ~ 3 on application ; ~ 4 on allotment and ~ 3 on call. Application, were
received for 74,000 shares. Ditcectors allotted the shares as follows.

to applicants of 52,000 Shares full allotment
to applicants of 12,000 Shares 8,000 shares
to applicants of 10,000 Shares Nil
Show journal entries and Cash Book assuming that all sums due on allotment and call
have been received. 6
Or
(T o (@l (@ARefer [ 6o 6
The Balance Sheet of X, Y and Z on 31st December, 2017 — the date of X's
retirement — was as follows :
Liabilities b Assets b
Creditors 25,000 Good will 15,000
Capital A/cs Land and Buildings 40,000
X 40,000 Plant and Machirecy 28,000
Y 40,000 Motor Car 27,000
V4 30,000 Debtors 24,000
Cash at Bank 1,000
1,35,000 1,35,000

The following terms have been agreed upon. :—

(a) Goodwill should be raised to ~ 21,000

(b) The value of land and buildings should be appreciated by ~ 10,000
(c) Plant and machinery should be reducedto ~ 23,000

(d) Create provision (@ 5% on debtors for Bad and Doubtful Debts.
(e) create provision of ~ 700 on creditors.

() The entire sum payable to X is to be brought by Y and Z in such a manner that
their capital accounts are in proportion to their profit sharing ratio.

(g) Theremaining partners decided not to show goodwill as an asset.
Prepare Revaluation account, Partners' capital Account and Balance sheet after
X's Retirement. 3+4+3



Model Question with Answer Key

31

7. (a) Currentratiois 2'5:1; Working capital is ~ 6,0000. Calcutate the amount of
current assets and current liabilities.
(b) Total sales for the year ~ 3,50,000; cash sales 20% of total sales; Sales return
(out of credit sales) ~20,000; Opening Debtors ~ 8,000; Closing Debtors
= 20,000. Calculate Debtors' Turnover Ratio. 4
Or
Bt (12 : (i) MeTE Seirs, (i) SRRz SRere
8. From the following prepare a cash flow statements for the year ended 31st
December, 2017.
Balance Sheet (as at 31 December)
Liabilities 2016 ()| 2017 (C) |Assets 2016 ()| 2017 ()
share Capital 8,00,000/10,00,000 | Good will — 20,000
General Reserve 2,00,000 2,40,000 |Buildings 8,00,000 | 7,60,000
Profit & LossA/c | 1,22,000] 1,22,400 |Plantand Machinery| 6,00,000 | 6,76,000
Bank Loan 2,80,000] 5,40,800 |Stock 4,00,000 | 2,96,000
Sundry Creditors 6,00,000 — | Sundry Debtors 3,20,000 | 2,56,800
Provision for Taxation| 1,20,000{ 1,40,000 |Cash 2,000 2,400
Bank —1| 32,000
21,22,000(20,43,200 21,22,000 |20,43,200
Additional Information :
1. Depreciation written off on plant and machinery ~ 56,000.
2. Income tax provision was made during the year ~1,32,000.
3. Dividend of ~ 92,000 was paid during the year.
4. Depreciation written off on buildings ~ 40,000
Or
ol @re KEwd Afiefer St = | 6
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Part-B
(Marks : 36)
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6. Computer in Accounting.
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Answer Key

Part A

1. Divisible Profit: - ~ 17410, Sunil's share - ~ 10446, Sourav's Share 6964 ,
Balance of Capital A/cs: Sunil —~ 58541
Sourav — ~ 38459

Amt. Transfered to Capital Reserve - ~ 8000

4. Profitor Revaluation — = 30000
Partners' Capital A/c : Amal — ~ 5,35,000
: Bimal — ~ 4,60,000
: Kamal — ~ 2,15,000
: Shyamal — ~ 1,50,000

Profit or Revaluation — 4500,
Partners' Capital A/c 1Y — 49750
:Z— " 49750
Balance Sheet total : ~1,23,800
a) CurrentAssets: = 1,00,000, Current Liabilitias — = 40,000
b) 26times
Cash Flow from :

(a) Operating Activities - ~ (1,84,400)
(b) Investing Activities - ~ (1,52,000)
(c) FinancingActivities - ~ 3,68,800

Net increase in cash ~ 32,400

PartB
. 1)d, 1)b, i) a, v) a, V) C, vi) a vi) a, vii) a, ix) d,
x)d, x)b, xi)c, xii)b, xiv)b, xv)b, xvib, =xvi)a, xvii) b.

. 1) b, 1) c, W) ¢, 1v) a, v) b, wvic

V) A ER B 97 OIS = 3:2
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Accountancy
SET -1V

PART - A (Marks : 44)

Answer the following questions (Alternatives are to be noted) 4)

Brishti and Megh commenced a partnership on 1.1.17 introducing ~ 20000 and
~ 30000 respectively as capitals. The partnership deed provided the following :-

1)  Profits and losses to be shared by Brishti and Meghas 2 : 3
i) Interest on Capital @ 6% p.a.

i) Interest on drawings @ 8% p.a.

iv) Megh will get a salary of ~ 2000 p.a.

The net profit for the year ended 31.12.17 amounted to ~ 19280 before considering
the above adjustments. During the year each partner drew @ ~ 3000 at the end of
each quarter for a total of ~ 9000. The date of their first drawings were on 1.4.17.
Show profit & loss appropriation A/c for the year ended 31.12.17.

OR
belfe f2oeie «ag Srelee ZARited Sy gy [t 34

Distinguish between Current Account and Drawings Account. 4)

Bata India Ltd. forfeited 500 Equity shares of ~100 each issued at a premium of 10%
(to be paid on allotment), on which first call money ~ 20 each was not received
and final call of ~ 30 is yet to be made.

The company reissued these shares at = 60 per share at ~ 70 paid-up.

Give the necessary journal entries regarding forfeiture and reissue of shares.
OR

A iz SRS wREEs o & & ey I92F I @0 2 2

What are the purposes for which amount received as securities premium can be used
as per Companies' Act ? 4)

Z Ltd. purchased a business from A Ltd. for a sum of ~ 4,50,000. The assets and
liabilities consisting of the folowing :
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Building ™ 2,50,000, Machinery ~ 2,00,000, Debtors ~ 1,50,000, Stock ~ 50000
and Creditors 1,70,000
7 1td. issued 10% debentures of, ~ 100 each at a discount of 10% .
Give journal entries in the books of Z Ltd.
A, B, C are partners sharing profits and losses in the ratio of 2 : 3 : 5 on 31st March,

2017 their Balance sheet was : (6)
Balance Sheet
as on March 31st, 2017
Liabilities Amount Assets Amount
Capital A/c: Cash 18,000
A 36000 Bills Receivable 24,000
B 44000 Furniture 28,000
C 52000 Stock 44,000
1,32,000 Debitors 42,000
Creditors 64,000 Investments 32,000
Bills Payable 32,000 Machinnery 34,000
Profit & Loss A/c 14,000 Goodwill 20,000
2,42,000 2,42,000

They admit D into partnership from 1st April, 17 on the following terms :-
1)  Furniture, Investment and Machinery to be depreciated by 15% .

i)  Stock is revalued at ~ 48000.

i) Outstanding Rent amounted to ~ 1800

iv) Prepaid Salary ~ 800

v)  Dbringsin ~ 32000 as his capital and ~ 6000 for goodwill in each for 1/6 th
share of the future profit of the firm.

vi) Adjustment of the capital of the partners shall be proportionately made in cash
to their profit sharing ratio, taking D's capital as base.
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Prepare: (a)  Revaluation Account
(b)  Partners' Capital Accounts.
OR
Toel S argeel 5 o ereifas 2

What are effects of admission of a new partner ?

Sunshine Ltd. issued 30000 shares of ~10 each. All the money were received with
the exception of one shareholder holding 100 shares failed to pay first call money of
* 3 per share and final call money ~ 2 per share. The shares were forfeited. Give the
necessary journal entries if the forfeited shares were reissued at ~12 per share.
(Application money — ~ 3 per share, allotment money — ~ 2 per share) 6)

OR
I f&ifera fafon aisiejfer ap=y <51 |
Explain the different steps involved in issue of shares.

P, Q and R were partners in a firm sharing profits in the ratio of 4 : 3 : 3. On March

31st, 2017, their Balance Sheet was as under :- (10)
Balance Sheet
ason 31st March, 17
Liabilities Amount Assets Amount
Creditors 25,000 Building 60,000
Bills Payable 8,000 Machinery 20,000
Reserve Fund 12000 Stock 28,000
Capital Accounts : Debtors 45,000
P 50000 Cash 17,000
Q 40000
R 35000
1,25,000
1,70,000 1,70,000

R died on June 30th, 2017. It was agreed between his executor and the remaining
partners that :
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a) Goodwill to be valued at 2 years' purchase of average profits of the last 3 years

which were :
2014 - 15 : " 15,000, 2015-16 : ~ 17,000, 2016-17 : ~ 22,000
b) Stock is found overvalued by ~ 2000.
¢) Building is to be appreciated to =~ 70000
d) Machinery is to be depreciated by 10% p.a.
e) Intereston capital to be provided at 8% p.a.

f)  Profit for the year 2017-18 be taken as having accrued at the same rate as that

of the previous year.
g) Halfofthe amount due to R be paid immediately.
Prepare R's Capital Account and R's Executor Account as on 30th June, 2017.
Calculate Operating Profit Ratio under the following cases :- (1+3)
Case 1 : NetRevenue from Operations (Sales) ~ 2,00,000 ; Operating Profit ~40,000

Case 2: NetRevenue from Operations (Sales) ~ 4,50,000 ; Cost of Goods sold
" 3,30,000, Operating Expenses — -~ 30000.

OR
B (e14
IR S GE (CERSISSICERC DS
i) G Aol RS SHiTe (2+2)
Write short notes on :-

1)  Working Capital Turnover Ratio

i) Inventory turnover Ratio.
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8.  From the following Balance Sheets, prepare cash flow statement for the year ended
Mar. 31st, 2017 :- (6)
Balance Sheetas on 31.03.16 and 31.03.17
31.3.16 | 31.3.17 31.3.16 | 31.3.17
Liabilities Amount | Amount | Assets Amount | Amount
Share Capital 55,000 | 70,000 | Goodwill 30,000 | 20,000
Profit& Loss A/c | 25,000 45,000 | Fixed Assets 40,000 85,000
Reserve 15,000 20,000 | Investment 12,200 11,500
9% Loan 25,000 50,000 | (longterm)
Creditors 16,000 20,000 | Inventories 30,000 45,000
Bills Payable 4,000 7,500 | Debtors 20,000 | 35,000
Bills Receivable | 4,000 10,000
Cash & Bank 3,800 6,000
1,40,000 | 2,12,500 1,40,000 |2,12,500
OR
T 2E RERaE @R Stenb 59 | (6)
Discuss the features of Cash flow Statement.
Part - B
(Marks : 36)
1. Choose the correct alternative :- 1x18=18
(1) Anordinary partnership consists of [ ]

a) 2to 10 partners
c) 2to 30 partners

(if)

average of

a) 6 months

¢) 9months

b) 2to 20 partners
d) 2to40 partners

b) 8months

d) 12months

If dates of drawings are not given interest on drawings should be charged on an

]




(iif)

(1v)

v)

(vi)

(vii)
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The Partners' Current A/c are actually [ ]
a) RealA/c b) Personal A/c

c¢) Nominal A/c d) None ofthe above

A commission of 25% on net profit after charging such commission is calculated

as []

a) 1/6 of the net profit before charging commission
b) 1/5 ofthe net profit before charging commission
c) 1/4 ofthe net profit before charging commission
d) 1/3 ofthe net profit before charging commission
Registration of partnership firm is [ ]

a) notcompulsory
b) compulsory
c) compulsory if number partners does not exceed 5

d) notcompulsory if number of partners exceeds 5

The profits of the last three years are ~8000, ~ 13000, ~18000. The goodwill is
valued at 2 years, purchase of the average profit of last three years. The value of

goodwill will be [ ]
a) 20000 b) " 25000

c) 26000 d) " 30000

Atthe time of retirement of a partner all accumulated reserves and profits/losses
are transferred to the capital accounts of the partners in [ ]
a) sacrificingratio b) capital ratio

c) new profit sharing ratio d) oldprofit sharing ratio

M and N are sharing profits in the ratio 2 : 1.

O the new partner brings ~ 24000 as his capital for 1/4th share of profit. What
will be the adjusted capital of N ? [ ]

a) 16000 b) 24000
) 48000 d) " 96000
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(ix)

(x)

(xi)

(xi)

(xiv)

(xv)
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The account that performs the same function as the revaluation accountis | |
a) Capital A/c b) Profit & loss Appropriation A/c
c) Profit&lossAdjustmentA/c  d) DrawingsA/c

The amount payble to the retiring partner has been determined at = 1,20,000. If
this amount is to be paid off by means of four half-yearly instalments with interest

at 10%, what will be the amount of the third instalment? |:|
a) 33,000 b) 32,250

c) 31,500 d) 30,750

A company has a separate legal entity from [ ]
a) itsemployee b) itsdirector

c) itscreditors d) itsowners

An authorised capital refers to — [ ]

a) paidup value of all shares alloted
b) called up value of all shares alloted
c) Nominal value of all shares offered to public

d) the amount which is stated in the capital clause of the Memorandum of

Association.
What should be minimum subscription of a company ? [ ]
a) 25% ofissued amount b) 50% ofissued amount
c) 75% ofissued amount d) 90% ofissued amount
Calls - in-advance shows — [ ]
a) only creditbalance b) onlydebitbalance

c) bothdebitandcreditbalance d) None of the above

The part of authorised capital which can be called-up only on the company

being wound up is called — [ ]
a) Issued Capital b) Unsubscribed Capital
¢) Reserve Capital d) Capital Reserve

Ifashare of ~10issued ata premium of "2 per share on which the full amount
has been called and ~ 8 (including premium) paid, is forfeited, the Share Capital
Account should be debited with [ ]

a) 12 b) 10
) 8 d 6
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(xvii)  Securities premium can be used by the company for — [ ]
a) adjusting trading loss b) issuing bonus shares
¢) payingdividend d) None of the above
(xvii) X Ltd. issued 2000; 12% debentures of ~100 each at a discount of 5%
redeemable after 5 years at a premium of 5%. What will be the amount of loss,
on issue of debenture ? [ ]
a) 5000 b) 6000
c) 10000 d) " 20000
2. Choose the correct alternative :-
(1) Costof goods sold is equal to [ ]
a) Sales—Expenses b) Sales—net profit
c) Sales— Gross profit d) Sales— Closing stock
(1) Ifstock turnover is 5 times, what will be the average holding period (Days) ?
[]
a) 70 days b) 73 days
c) 65days d) 78days
(i) Ideal value of Acid - Test Ratio is [ ]
a) 2:1 b) 1:3
c) 1:2 d 1:1
(iv) Analysis of financial statements are done after [ ]
a) Comparison of data b) Conversion of data
c) Compilation of data d) None ofthe above
(v) The currentratio ofa firmis 4 : 1. The purchase of goods for each will [ ]
a) improve current ratio b) nochange in current ratio
c) reduce currentratio d) nochange in currentratio
(vi)  Which item is taken as 100 while preparing common size income statement ?

]

a)  Gross profit b) Sales
c) Netprofit d) Stock
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Answer the following question in brief (alternatives are to be noted) :-

1x8=8
1)  Whatis hidden goodwill ?
i)  Whatis limited liability Partnership ?
i) Name two factors affecting the value of goodwill.
OR
Write the formula for valuation Goodwill under Capitalisation of super profit
Method.
v)  Why profit & loss Adjustment A/c is prepared ?
v) A:B=1:1.Afteradmission of C as a new partner new profit sharing ratio any
A, Band Cbecome 3 : 3 : 1. Calculate Sacrificing Ratio.
OR
Why Premium for goodwill is paid by a new partner ?
vi)  Whatis stock ?
OR
What is the minimum number of days required to serve notice to shareholders
for forfeiture of shares ?
vil) Whatis full form of SEBI ?
viii) Can a company issue shares at a discount ?
OR
How much interest can a company charge on calls-in-arrear if the same is not
mentioned in Articles of Association ?
Answer the following questions in brief :- 1x4=4
i)  What do you cash equivalents ?
OR
Give two examples of financing activities through which inflow of cash take
place.
i)  Give the formula for Working Capital Turnover Ratio.
OR
What do you mean Composite Ratio ?
i) What do you mean by 'Notes to accounts' ?
iv) Current Assets of a company = ~10,00,000 and current liabilities =~ 6,00,000.

The management is interested in making the ratio 2 : 1 through payment of some
current liabilities. How much current liabilities to be paid off to attain the desired
ratio ?
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Answer Key
PartA
Share of profit: ~ Bristi— ~ 6000
Megh — " 9000
Transfer to Capital Reserve :- ~ 20000
No. of debetures = 5000, Purchase Consideration ~ 4,50,000.

Loss onrevaluation— " 11,100

( A— 2220

B — " 3330

C— "5330)
Balance of Capital A/cs :

A —" 32000, B— " 48000, C — " 80000, D — " 32000
Profit on Re-issue — = 500
Transfer to R's executor A/c — = 54000
Balance in R's executor A/c — = 27000
Case 1:20%,Case2:20%
Cash and Cash Equivalents at the end of the year— = 6000
i)  Cash flow from Op. Act. — ~ 8750,
ii)  Cash flow from Inv. Act. — (" 44300)
i) Cash flow from financial Act. — ~ 37750
PartB

i) b, ii) a, iii) b, iv) b, v) a, vi) ¢, vii) d, viii) 6, ix) ¢, x) a, xi) d, xii)d,

xiil) d, xiv) a, xv) d, xvi) b, xvii) b, xviii) d

i), ii) b, iii) d, iv) a, v)d, vi) b
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Accountancy
SET-V
PART - A (Marks : 44)

Teva emefera Tea wis : (Regefer emedliz)

Answer the following questions (Alternatives are to be noted) :

1.

Rivu, Ravi and Rahul are partners in a firm sharing profits and lossesas 2: 2 : 1. The
partnership deed provides the following :

(1) Intereston capital : (@ 5% per annum

() Commission to Rivu at 2% of net profit after charging such commission.

(i) Salary to Ravi and Rahul @ ~400 and ~300 per month respectively.

Capital account as on 1.1.18 were Rivu ~25,000; Ravi “20,000 and Rahul ~15,000.

Net profit during the year ended on 31.12.18 after charging above items amounted
to ~20,400. During the year each partner drew ~2,500. Prepare Profit & Loss
Appropriation Account. 4

Or
SAIRFIR (A BID G AR G0 S0y AN 0 S | 4

Morgan Ltd. purchased a machine from Stanley Ltd. for ~ 8,00,000. As per the
terms, perchase consideration of ~80,000 is to be paid in cash and balance will be
paid by issue of shares of ~10 each. What entry should be passed if the shares are
issued :

(1) Atpari.e. "10 per share.
(i) At20% premium.
Or

Show journal entries in the books of a company regarding reissue of forfeited shares
(2+2)

(1) When re-issued at discount,
(i) When re-issued at premium.
Alpha Ltd. issued 5,000 9% debentures of ~500 each.

Pass necessary journal entries for the issue of debentures when the debentures were
issued

(1) at 10% premium and redeemable at par.

(i) atpar and redeemable at 10% premium. 4
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4.  Shyamal, Bimal and Kamal were partners sharing profits and losses in the ratio of

5:3:2.0n31st December, 2017 their balance sheet stood as follows :

Balance Sheet
asat31.12.2017

~

Liabilities
Sundry Creditors 90,000
General Reserve 1,02,000
Capital Accounts :
Shyamal 2,00,000
Bimal 1,60,000
Kamal 1,50,000
7,02,000

Kamal retires on 31.3.18. The following adjustments were made :

Assets
Building
Machinery
Debtors
Stock
Furniture
Cash at Bank

(@) Goodwill of the firm was valued at ~ 2,40,000.

1,70,000
1,30,000
1,42,000
1,20,000
72,000
68,000

7,02,000

(b) Machinery be valued at " 1,24,000 ; Building to be valued at ~ 1,90,000 ; and

Furniture to be valued at ~ 80,000.

(c) For the purpose of calculating Kamal's share in the profits, the profit of 2017

should be the basis. Profit for the year 2017 was ~ 6,40,000.

Prepare Revaluation Account and Partners' Capital Accounts.

6

(& A FIGS T @ TS (A SLAMICER SR S0 AN A SLAMCR T

35+ T (ST THw 2

6

5. ABC Limited has an authorised capital of ~ 5,00,000 divided into ~ 25,000 equity
shares ~ 20 each, the whole of which is issued and subscribed at a premium of ~ 2

per share. The amount was payable as follows :

on application and allotment
on Istcall

on Final call

* 10 per share
* 6 per share (including premium)

* 6 per share
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The company made both the calls. The application and allotment money was duly
received. But a shareholder holding 2000 shares failed to pay both the calls and his
shares were forfeited.

Give journal entries regarding the above. 6
Or
C<IRI ACSANSFI] TETCO F (AR 2 IR ST o0 SRR 7ot S (0
Il I o ey 2 6
Jam, Jelly and Pickle are equal partners in a firm. Their balance sheet as at 1st January,
2018 is as follows :
Balance Sheet
asat 1.1.2018
Liabilities b Assets b
Sundry Creditors 30,000 Goodwill 1,20,000
Employees' Provident Fund 7,000 Building 1,25,000
Bills Payable 45,000 Machinery 75,000
General Reserve 15,000
Furniture 25,000
Capital Accounts :
Jam 2,20,000 Stock 1,15,000
Jelly 1,60,000 Book Debts 1,05,000
Pickle 1,00,000 Cash 12,000
5,77,000 5,77,000

On that day, they agreed to take Juice as an equal partner on the following terms :
(a) Juice should bring in ~1,60,000 as his capital and ~ 60,000 as premium for goodwill.
(b) The goodwill account is to be written oft before admission.

(c) Provision for loss of stock and provision for Book debts is to be made at 10%
and 5% respectively.

(d) The value of building is to be taken at ~ 2,00,000.

(e) The total capital of the new firm has been fixed at ~ 7,20,000 and the partners'
capital accounts are to be adjusted in their profit sharing ratio. Any excess is to
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be transfered to current account or deficit to be introduced in cash.
You are required to prepare Revaluation Account, Capital Accounts and Balance
Sheet of the new firm. 10

7. The following is the Balance Sheet of Z Ltd. as on 31st December 2018.

Balance Sheet
as at 31st December 2018
Liabilities b Assets b
Equity Share Capital ~ 2,00,000 Land and Buildings 1,50,000
Reserves 90,000 Plant and Machinery 80,000
Profit for the year 60,000 Stock 1,40,000
Bank Overdraft 30,000 Debtors 80,000
Trade Creditors 1,00,000 Cash 30,000

Calculate : (a) Quick Ratio and (b) Current Ratio

Or

DIl G104 : 1) GG SRR S119; i) STeqe el) SRS SoiTe
8. The balance sheets of Raj Ltd. for the years 2017 and 2018 were as follows :

~ ~

Liabilities Assets b b
Equity share Capital 1,00,000 1,25,000 LandandBuildings 1,00,000 95,000
Debentures 10,000 7,500 Plantand Machinery 75,000 87,000
Profit & Loss A/c 30,250 33,800
Bank Overdraft 35,000 — Stock 50,000 37,000
Proposed Dividend 15,000 16,500 Sundry Debtors 40,000 32,100
Bills Payable 75,000 72,600 Bank — 4,000
Cash 250 300

2,65,250 2,55,400 2,65,250 2,55,400
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Additional Information :
1. Depreciation written off on land and buildings during the year 2018 was ~ 6,000.

ii. ~Land was purchased for ~ 19,000 during the year 2018. Prepare a Cash Flow

Statement of Raj Limited. 6
Or
w5 gfqrE REd ergrea g Wil 9 6
Part-B
(Marks : 36)
1. = faeal Fdion == : 1x18=18
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(a) 1930 (b) 1931
(c) 1932 (d) 1933
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& — ]
(@ 5% (b) 6%
() 6.5% (d) 10%
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& — ]
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ICHE &0 7 (ACeT 50T {2710 (Revaluation A/c) ST a1 20T — [ |

(a) CSRG (b) <5
(c) (SRT A (Fes (d) 99 @D 7
P@WW&W@%@WW@TW@E%WWWWWWﬁﬂﬁl

FIRICHR FACIE 3T~ 60000 ZCeT P (F S0 AW € L S0 22|

(a) ~ 8000 (b) ~ 6000

(c) ~ 10000 (d) 20000

P, Q, R SIKAMAHA I SIR* TP 1 : 2 @ 31 21 R @ TgJ ZeT | 79
RIS LS 2T — [ ]
@ 2:3 (b) 2:1

(© 1:3 d 1:2

o SRAMIEE TeRPIRR Al GHET 20eT SAMIEE 2ol TSR
ot orea gy 2 s w0 27 fofd =tet — ]
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(xi) FfeTCAIo ETHCTR (@ A (il oo feAtes [ e o et — [

(a) SrCaIire e (b) TS e
(c) fifFe Jemam (d) a7 AT 77

(xiii) JELTCTS R AT (AF @ AGHs 7R 2 Ol FI e 2 ]
(a) FATHRS ToTda (b) iR Afgs
(c) o g d) e Algls

(xiv) CRRIIE QSN AT 20 (I RIS (BG4l 222 ]
(a) Forfeited shares A/c (b) Share Capital A/c
(c) Share Allotment A/c (d) None of these

(xv) Sunlight Ltd.-48 10000 (<RI SNCHFFIKIHE JC&5 8000 (IR SAoiifom
I fifet 1 767 | G2 Wlgeiifes 209 261 — ]
(@ 1:2 (b) 5:8
(c) 4:5 d 1:1
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(@ 7@« (b) 6 @
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(xvii)  ENARRE 25 ST I 2 A (P (ACF 2 ]
(a) Securities Premium Reserve  (b) Statement of Profit and Loss
© ()9 (b) Towz (d) ICAIGE

(xviil)  ATATER TR AW ( pUl TR LI Al 27 ol 26 — ]
(a) TradingA/c (b) Profit& LossA/c
(c) Profit & Loss AppropriationA/c (d) Balance Sheet

2. Wow Tedl v 4 1X6=6
() TECRIT 9 ¢ Sfes w0 (IR 46l @ SEACE @RI @9)feT SRl

= — ]
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(c) 36 =P o= (d) PICDE



Model Question with Answer Key 55

(i) 72 <=C S Rl <2190 @ *rewwl 2T ARAR gereics e — [

(a) AR SFhoF sews K7@al
(b) AR SFhon Tadeig
(c) TN Sle-Fiod g

(d) TS Taéoig

(i) ?= ?ﬁ% x 100 ]
(@) (G YA Sgoire (b) <G P SegHiT©
(€) = (a) == (b) d) @Iz T

(iv) (oI55 € FFRIZT I (@I @7 TBeT 2 ]
(a) weifo Fife (b) w7 e
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(V) oT% TEred 2w = > 60000, NGred TS SATS = 8 9J¢l | AH YA
“AfIIel fRPCT 25% oI 231, O A1 BT — ]
(a) " 4,80,000 (b) ~ 1,60,000
(©) " 3,20,000 (d) ~2,00,000
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(a) T Tl (b) TrCTIR (At
(c) NG el (d) TSrRgR @ o3& 7w

3. Appliction of computer in Financial Accounting.

4. Tva epafera A Tea we : (Ragefer srwdm) 1x8=8
) T SRAMIF & SO SRR IS Sel) AR 2

Or
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6. Application of computer in Financial Accounting.
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Answer Key
Part A

Net profit as per profit and loss account ~ 32,436. Rivu's commission ~636.
(1) 72,000 shares
@) 60,000 shares

Amount payable to Kamal ~ 2,54,800.

Revaluation Profit - ~ 58,250, share of profit; Jam : ~ 19,416; Jelly: ~ 19,417,
Pickle : ~ 19,417; Capital to be tranferred to current Account; Jam : 44,416. Capital
to be brought in by : Jelly : ~15,583; Pickle : 75,583, Juice : ~20,000, Balance
Sheet Total ~ 8,46,416

a)11:10,b) 25:13

Cash Flow from :

Operating Activities - ~ 44,550
Investing Activities - ~ (—)13,000
Financing Activities - ~ 7,500

PartB

e d)b, d)a Md Ve V)b vi)e vii)d i e
X) a, x)a xi)c, xi)ec xv)b, xv)ec, xvid xvi)ec, xvii) b.

) a, 1)c, i) a, 1v) c, v) b, wi)b
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Accountancy
SET - VI F.M. - 80

PART - A (Marks : 44)

Teva erelfera Tea wie : (Ralfe srsaim):

Answer the following questions (Alternatives are to be noted) :

1.

The following particulars are available in respect of the business carried on by Mr.
P. Mukherjee :

Capital invested ~1,00,000
Trading results

Year | Profit © 24,400
Year 11 Profit ~ 30,000
Year III Loss ~ 4,000
Year IV Profit © 42,000
Market rate of interest on investments 8 %

Rate of risk return on capital
invested in business 2%

Remuneration from alternative employment of the proprietor (if not engaged in
business) ~ 27,200 p.a. Compute the value of goodwill of the business on the basis

of 3 years purchase of super profits taking average of last four years. 4
Or
J 1 ARFRISTS ST TR T SgE 2 4

Goodwill Ltd issued a prospectus inviting applications for 90,000 shares of ~10
each at a premium of ~ 2 per share, payable as follows :

On application T 4.50
On allotment (including premium) ©4.50
On Istand final call = 3.00

All money payable by shareholders was received except from Mr. Unlucky who had
taken 1,000 shares but failed to pay the final call. His shares were forfeited and
reissued to Mr. Fortunate at ~ 6 each.

Journalise the above transactions.
Or

339310+ @ TOTagIea™ SItay 2Ny Aol <541 | 4
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X Ltd. issued 5000, 7% debentures of ~ 100 each at a discount of 5% payable ~ 25
on application, ~ 35 on allotment and balance on call.

Company received application for 4,000 debentures and all were accepted. Debenture
issue expenses amounted to ~ 6,000.

Pass necessary journal entries. 4

A, B and C were partners in a firm sharing profits in the ratio of 3:2:1. The balance
sheetason31.3.18 was as follows :

Liabilities b Assets b
Creditors 4,000 Building 20,000
Reserves 6,000 Plant and Machinery 16,000
Capitals : Stock 5,100
A 24,000 Debtors 6,000
B 12,000 Cash at Bank 6,400
C 8,000

54,000 54,000

A died on 30.9.18. Under the partnership agreement, the executors of a deceased
partner were entitled to :

(1) Amount standing to the credit of partner's capital account.
(i) Intereston capital @ 12% per annum.

(i) Share of goodwill on the basis of four years' purchase of last three years average
profit.

(iv) Share of profit from the closing of the last financial year to the date of death, on
the basis of the last year's profit. Profits for the year 2013-14 - ~ 8,000, 2014-

15-"12,000 and 2015-16 ~ 7,000 respectively. Prepare A's Capital Account

to be rendered to his executors. 6
Or
(a) I ~AfFrfere simifE efovitag asfotTa etarem 27
(b) CoMNgINe FCF A0 2 4+2

Kapoor transport Co. Ltd was registered with an authorised capital of ~ 1,00,000
divided into 10,000 equity shares of ~10 each.

The company invited applications for 9,000 shares payable as follows :
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On application = 2.50
On allotment ©3.50
On Istcall = 2.00
On final call = 2.00

Applications for 15,000 shares were received. Excess money on 6,000 shares were
refunded. All the money payable were duly received by the company except that one
shareholder holding 180 shares failed to pay the allotment, the 1st call and the final

call money.

Journalise the above transactions in the books of the company. 6
Or

IR SRBCas 5 Sl R =[Sl sj7el w1 e 2 6

6. XandY are partners in a firm sharing profits and losses in the ratio of 3 : 2. On 1st
April 2018, they admitted Z as a partner. The balance sheet on that date was as

follows :
Liabilities b Assets b
Creditors 48,000 Cash at Bank 36,000
General Reserve 64,000 Stock 48,000
Workmen's Compensation Debtors 44,000
Fund 16,000 Machinery 40,000
Capital A/cs: Land and Building 32,000
X 40,000
Y 32,000

2,00,000 2,00,000
The following terms were agreed :

(1) Thenew profitsharingratio2:2:1
(i) Assets revaluation : Land and Building ~ 72,000 ; stock ~ 64,000
(i) The amount required for workmen's compensation fund is ~ 8,000

(iv) Zistobring ~ 40,000 for goodwill and 20% of the combined Capital of X and
Y after giving effect to the above adjustments.

Prepare Revaluation Account, Partners' Capital Account and Balance Sheet of the
new firm. 10
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7. Following are the Balance Sheets of Navneet Ltd. ason 31.12.17 and 31.12.2018.

Liabilities 2017 C) | 2018 (C) | Assets 2017 C) | 2018 ()
Share Capital 10,00,000 | 15,00,000 | FixedAssets | 20,00,000 |30,00,000
Reserve 10,00,000 |{10,00,000 | CurrentAssets | 5,00,000 | 8,00,000
Loan 2,00,000 | 8,00,000
Current
Liabilities 3,00,000 | 5,00,000
25,00,000 | 38,00,000 25,00,000 | 38,00,000
You are required to prepare a comparative Balance sheet on the basis of the infor-
mation given above. 4
Or
OIS R 3% AR SPphon Kaadia seay 212 Hoisl = | 4
8.  From the following information, prepare Cash Flow Statement. 6
Particulars Amount
Opening Cash Balance 60,000
Closing Cash Balance 68,000
Decrease in stock 32,000
Increase in Bills Payable 48,000
Sale of fixed Asset 1,20,000
Repayment of long-term loan 2,00,000
Net Profit For the year 80000
Or
o 2E KRR Aol Ssal 9 | 6
Part-B
(Marks : 36)
1. foog Teal fion =4 1x18=18
() T iR SIHAMIRR AW TR 29T - ]
(a) 2@ (b) 4@

(c) 10%@= (d) 20 %=
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(if)

(iif)

V)

(vi)

(vii)

(ix)

Model Question with Answer Key

AT pfEICa (PICIgl TTard A AFCET Were] SRAMICIR &Y AP BT

SIS 20T — [ ]
(@ 1:1 (b) 1:2

(c) 2:3 (d) ETHCS SlegoiTe

W (FIC SR 2lfe T TR Tsifasne Sree= Fa oed @i
CTSIETCAR G 9w 4 35511 & — ]
(@) 5 e (b) 6 S T

© 6 oG (d) 12 SI™ &

TR (I FAN TR oo w312 ]
(a) TG Tl oA<ifo (b) e “=fs

(c) TR 2/%(fS (d) <6 wife o/

? = 51 YA — Wl o1l ]
(a) Yo (b) IR AR 2

(c) ETH (d) ifEEre

IS AW T SIS S SIS el 27 — ]
(@) I

(b) ‘TR T qwess A @

(c) wfeofte e

(d) FmE

9T SRR &R F (el (Pl (AR AT Pl 22 2 ]
(a) & TG (b) &= A

(c) Iife ¢ MR TorREE (d) @ @IITE 7

As 26 SRR (I G0 A RAE 200 i v 222 ]
(a) Fro N (b) FTR A

(c) I e FAGTR AN (d) CICITE =

A € B S-S 36 FCF 3 : 2 SIAITS | C T SRAMIF fZAIT (iomie F561

IR 1 L S AT TV OE A 6 B I (M0 | 5TT® o g TgeAre

A= []
(a 3:2:1 (b) 1:1:1
(c) 2:2:1 (d 5:3:2
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X, Y '€ 7 OF I IGCTR ST 4 2 3 1 2 |y ST 2176l TR O 3o7jef Be

Z & FFET | X '€ 7 OF e oS J(J — [ ]
(@ 5:3 (b) 3:5
(c) 5:4 (d 4:5

SR SHARFS (A ACETANG FA Z0T KR o e (©fs w4
I — []
(a) W{C@"H (Face value) (b) WW (Paid-up value)

(c) weRCen (Called-up value)  (d) CFASCED (arrear value)

B (T YLl A (iR =el — ]
(a) SNBHHTS 52T el (b) foree =iy

(c) ifsrs wr (d) Toita TS0

T ~ 100 Sfefzs e fsit 5% wifwzica [ifer vt 27, ©rzwe 5000 & @ g9t
AT Sl (G O #liee] 20a — []
(a) " 4,75,000 (b) * 5,50,000

©) ~ 4,50,000 d) 525,000

CRICER SIS Y W2 YO F© 2SN FAATF O 20q2 [

(@) 10% (b) 3%

(c) 5% (d) 6%

Share Application Account (I 4J(4 TS 2 ]
(a) ife TR (b) I

(c) T (d) CICIoE =

TR e Rl JeTaw S — ]
GV (b) C=

(c) <G (d) (=G Al T
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(xvii) - STfeI7q SfHRI T0b TS (I e G2 T (A0S AT 2 ]
(a) @RPT R fRfeT 0 &y
(b) TTSTIRH AR Sy
(c) e 7gfore RIS &=
(d) ToITE TR0
(xviii)  fETIFIET TAF 5] afeieTl 21 27 — ]

(a) NI YR T
(b) R ETF ©oiF
(¢) (a)e (b) 9F ey @G T ©F T
(d) (a)'€ (b) 9= @G @ O TH

2. s faagfs fadion <= 1x6=6

() TR SRl F AR FH2 ]
(a) I STl (b) I oA
(¢) T AN (d) ez

(i) PR o = 2 ]
(a) GG srife — G v (b) CHITI T — oG
(c) beifs Fife — verfo i (d) @ICDE T

(iii) oIS SRS S i o 2 ]
@ 1:1 (b) 1:2
© 4:1 d 2:1

(iv) w9 2Rz 7Ea e (@i A=ifod Toig o et 2 ]
(a) ey e s fofe (b) wom fawaes fefe

(©) (a) ¥l (b) @ @A &I (d) e 7
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(v) <97 eRrRffeT IOt [eT 2

(@ 2 (b) 3

() 4 d) 5

(vi) o 2R Rl e i 2

(@) «F MCaa ooy (b) IS T &y

[

(c) b NI &l (d) IEF IR ARSI Gy

3. Application of Computer in financial accounting .

4. Troa emeffera Ae Tea wie : (em)fa medim) 1x8

(i)

(ii)

(iif)
(iv)
(v)
(vi)
(vii)

@b SR PRI IS J (@42

Or
AIfre mRYT SAMIfE 0o FI (=12
I SRl (2

| SR (T ?

S DT e & o 2

TN (A BT AR FACSH I+ G N0 G0 AN o 34|
I 74izss (Executor) (& 2

TF R 2

faeoitas #ifaacs gfo ! (Statement in lieu of Prospecters) ?
Or

Afoefon aral wi AN w1 FIes 072
(Company Limited by Guarantee)

65
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(viil) S[ETEE AGTS @R AN et ey @I 2NeRy (51 |
Or
- A 2
5. od e AR Ted wie @ (Rgsfer arwa) 1 x4=4
(i) eIl ST @ wseT QAT [0 G0 A1y o e |
Or
(G ST Trard 1 A o719 € 7S T3 IR TH2(d (AT (R |
(ii) o 2rE fRaaice FlenfEes [aadl <@l =1 (2
Or
WG W FTQCETH THIZel WG |
(iii) RS I SR 7 Sizel wie |
(iv) SR JIFR S F© 203, T4 FREE Sq9ite 78% ?

6. Computer in financial accounting .
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Answer Key
Part A

Value of Goodwill - ~ 17700 ;
Transfer to Capital Reserve - ~ 3000

Balance of A's Excutor's A/c ~ 48190, Share of Goodwill ~ 18000, Share of profit
~1750.

Revaluation Profit- ~ 56000

Balance of Capital Account ;

X — 7156800, Y — " 83200, Z — " 48000, Balance Sheet Total — ~ 3,48,000.
Percentage Change :

Fixed Asset— 50%, Current Assets — 60%,
Share Capital — 50%, Loan — 300%, Current liabilities — 66.67%

Cash Flow from :

a) Operating Activities - ~ 88000

b) Investing Activities- ~ 1,20,000

Cash used in Financing Activities — = 2,00,000

PartB

Cdec, d)a d)b id vd v)b, vi)c, vii)a i d,

x) d, xi)c, xi)d xii)d xiv)c, Xv)c, Xvic, Xvi)a, Xvii) a.

Ha 1)yc i)d i) a v) b, Vic
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Model Question with Answer Key

Accountancy

SET - VII
PART - A (Marks : 44)

frfariie emefera Tea e (Remsfaremedim)

Answer the following questions : (See the alternatives) :

A, B, C are partners. Their capitals were ~ 30000 ; ~ 20000 and ~ 10000
respectively. According to the partnership deed they were entitled to an
interest on capital at 5% p.a. In addition B was also entitled to draw a salary
of ~ 500 p.m. C was entitled to commission of 5% on the profits after charg-
ing the interest on capital, but before charging the salary payable to B. The
net profits for the year 2017 were ~ 30000, distributed in the ratio of their
capitals without providing for any of the above adjustments. The profits
were to be shared in the ratio 2: 2: 1. Pass necessary adjustment entry
showing working notes. 4

OR
SRAMIIE ALE] WG | G SRR TAMIT|fe1 F 2 242

X Ltd. forfeited 3000 shares held by Mr. Y who applied for 5500 (excess
application money refunded) shares. Face value of the shares = 100 each
issued at 10% premium. Shares are forfeited for non payment of allotment
money of ~ 30 (including premium), first call of ~ 30 and second and final
call of ~ 20 per share. 2000 of these shares were reissued for ~ 100 each.
Pass necessary journal entries regarding forfeiture and reissue.

M Ltd. purchased a running business from N Ltd. for a sum of ~ 7,18,750
payable 20% by a cheque and the balance by the issue of fully paid 10% de-
benture of ~ 100 each at a premium of 15%. The assets and liabilities consisted
of the following :

Building ~ 3,00,000, Plant & Machinery ~ 2,00,000, Stock ~ 1,00,000,

Sundry Debtors ~ 75000, Sundry Creditors ~ 25000. Pass the necessary jour-
nal entries in the books of M Ltd.
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feCagla T e 2 [BTAEIa T AT 222 1+3
(4) A, Band C are partners sharing profits and losses in the ratio 3:2:1. Their
Balance Sheet as at March 31st, 2017 was as follows : 6
Liabilities N Assets N
Creditors 87000 Cash 30000
Reserves 42000 Debtors 62000
Profit & loss A/c 21000 Less : Provisions for
Capital Accounts : Doubtful Debt 2,000 60,000
A 3,00,000 Stock 1, 80,000
B 3,00,000 Furniture 30000
C 50000 Plant 2, 00,000
6,50,000 Building 3, 00,000
8,00,000 8, 00,000

The Partners agreed that from 1st April, 2016 they will share profits & losses
inoneratio of4: 4 : 1. They agreed that

(1) Stock s to be valued at 20% less.

(i) Provisions for Doubtful Debt to be increases by ~ 1500

(1) Furniture is to be depreciated by 20% and plant by 15%

(iv) Outstanding salary ~ 3500

(v) Building to be valued at ~ 3,50,000

(vi) Goodwill is valued at ~ 45000

Partners do not want to record the altered values of assets and liabilities in the
books and want to leave the reserves and profits undisturbed. They also decided
not to show Goodwill in the books.

You are required to pass necessary journal entries in the books of the firm to

give the above effects. 6
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(6)

Model Question with Answer Key
OR
TG SREMI LTI AR 11 € VTR =TT 12w 1 ety Bl Bl Wl AT 2
Raktim Ltd. invited applications for issuing 70000 equity shares of ~ 10 each at
apremium of = 35 per share. The amount was payable as follows :
On application : ~ 15 (including ~ 12 premium)
Onallotment : ~ 10 (including ~ 8 premium)
On first and final call : Balance
Application for 65000 shares were received and allotment was made to all the
applicants. A shareholder, Palash, who was alloted 2000 shares, failed to pay
the allotment money. His shares were forfeited after allotment. Then the 1stand
final call was made. Abir, who had 3000 shares, failed to pay the 1st and final
call money. His shares were also forfeited. Out of the forfeited shares, 4000
shares were reissued at = 50 per share fully paid up. The reissued shares
included all the shares of Palash.
Pass necessary journal entries in the books of Raktim Ltd. (6)
OR

R QTSI =00 F (-2 ACSAN Tl Cersaffet & wziea «{wfifer =i
RIEE:

oI S{eIfeTst 211 el 2ret Of fRorafaemae Frela s =2 2+ 1+ 3)
Rabin and Barin were partners in a firm with capitals ~ 1,30,000 and ~ 1,70,000
respectively on 1.4.17 they admitted Nirab as a partner for 1/4th share

in profits and he paid ~ 2,00,000 as capital and ~ 90000 as share of Goodwill.
On that date of admission; Creditors - ~ 20000, Band Overdraft - ~ 15000.
Stock : ~ 10000, Debtors - ~ 40000, Plant & Machinery -

80000, Land and Building - ~ 2,00,000. It was agreed that stock should be
depreciated by ~ 20000, Plant & Machinery by 20%, ~ 5000 should be written
off as bad debts and land and Building should be appriciated by 25%.
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71

Prepare Revaluation A/c and Partner's Capital A/c. Also show the Balance

sheet of the new firm.
(7) From the following calculate :
(a) NetProfitRatio
(b) Operating Profit Ratio
Revenue from Operations (sales)
Gross Profit
Office Expenses
Selling Expenses
Interest on Debentures
Accidental Losses
Income from Rent
Commission Received
OR

S fReaEces Aol (o4 |

8. Application of computer in Financial Accounting.

~

2,00,000
75000
15000
26000
5000
12000
2500
2000

3+3+4

(9) XLtd. earned a profit = 1,80,000 during the year 2015-16 after considering the

following :

Provision for Tax

Proposed Dividend

Interest on Investment received
Gain on the sale of furniture
Depreciation charges

Loss on sale of plants
Insurance proceeds received
Decrease in Trade Receivable

Decrease in Trade Payables

20000
15000
10000
2500
12500
8200
40000
5800
8200
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Increase in inventories 7100

Increase in other current liabilities 1 0000

Refund of Income Tax 6000

Calculate Cash flow from Operating Activities. 6

OR
RfCIe FIE FRFI FeT0e @R 2 6 [T AW FLFACs Trizae
we | 2+4
Part-B
Marks : 36

oF Teals i <4 : 1x18=18

() e SERAmE FR0F 50000 W MCACR | (T 15% p.a. 2T AT G A
bECz | SICAmIS pfE (72 | S — ]
(a) 15% p.a. T 5W 2 (b) 1= W2 I =
(c) 6% p.a. =TI I A=K (d) 10% p.a. =TI 7 AR

(i) A 2SR T ™ 1000 ST 6 | M STERC S9IF e 21 5 % p.a.
23, O (NG CTSIEIR SoiF (A IK F© 2 ? ]
(a) 325 (b) 275
() " 300 d) "~ 350

(iii) AREASTR o1 ZARS FHF (@07 7l (FO6 Tl 232 ]
(a) SETHCIR ©91F M (b) I KA
(c) SRAmEME AifFfie (d) TR RS0

(iv) OIRYE MG Yo A= ST vl 2h— []

(a) AT AT IS 9T FCA (b) TR AP AT T
(c) T I SAfFwe efeqmg  (d) = (a) T (b) AT |

43
(v) O B T FoAC (<Pl A= 7272 ]
(a) WWW% (b) WFW‘I‘«T’T sIw(fs

(c) T or=fe (d) eI e s



Model Question with Answer Key 73

(vi) SRAMIS 2 SDICTR eTCa So 5 ]
() 3% rife (b) <= =
(c) &< wr (d) @t 2w

(Vi) A € B #S-76 351 I 4:1 SAITS | C & 2D SUITTe =311t ~ 2000
&S T (@O 91 | ORITIe (7 AP $21F 5% 2ICF (after charging such
commission) T A1 | (FI TRCIF AP 3,39,000 B (04 LI 41K

1), C-4 S F© 2077 ]
(@ 39000 (b) " 44000
(c) " 43000 (d) " 38000

(viii) ST SIS AT 211 PR GRG0 (e =T MG @ e S — |

() T 0= (b) s 3eam
(c) TG (d) TR CeT (Revalued figure)
(ix) eI 2T — []
(a) & Tife (b) = Tife
(c) SR Fife (d) SrET SE e
x) SAmI pfE @i ]
() CTR pfE (b) fafe pfe
(c) i <t ferfe pfe (d) TAF A0
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@ °5 (b) " 10
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(xi)) M F7 fona o 7S ScoFw I3 27, O Sl 2w — []
(a) A (b) e Afgfe
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(xiii) CARICH SRRICR #Afel A #Afel 200 2 ]
(@ 5% (b) 10%
©) 2% d) 6%
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(c) rF sy Al iore (d) =2
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(a) Topesl (b) ¥E 2 sWm
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. Gross Profit
(i) ?=""Net Revenue from operations x 100
(a) Gross Profit Ratio (b) NetProfit Ratio
(¢c) Operating Ratio (d) None of the above

(iii) 3 HeTRS SIgIT® 2: 1 77, O @ SATe T2 'Bills Receivable dishonoured'
(A ) LS 2T 2

(a) (AR AT Al (b) SO AT

(c) SI?Ie FICT (d) S(g#ITe AT S TS |
(iv) CoIt55 @ FRNZH (I AT e@ —

(a) beife 7ife (b) =&t Fife

(c) S s ife (d) mbE 7|
(v) oF61 TAfGre qItea (FIND 41 27 °f —

(a) BillsReceivable (b) Debtors

(c) Inventories (e #{¢[f) (d) Bankbalance.

(vi) T Jgw ey 14000, GO el TSI AT 5 5jel, KL -F7
125% | (B [P ST F© 2

(a) 30% (b) 25%
(c) 20% (d) 60%
ToR emieffer FFrY Tex e (RFmojfel smra) 1x8=28

() @ SRS ©IF ATH S 92T ZE (@ Ol (el 27 2AfSHIT (i
279 <ICe ol (TfE a1 2092

2|
Y1 TR F (AR 2
(i) P SN (I Fife SfFze FACT O Ty (e @ SRAMIED Capital
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52|
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(iii) LTI AL FeICO F QA 2
(iv) Raa9is1g (Prospectus) IECO 1 (@RI 2
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7IfATEaY (Memorandum of Association) 1 ?
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Answer Key

Part-A
A Capital A/c T 5640
To B Capital A/c © 4860
To C Capital A/c 780
Capital Reserve ~1,00,000
Capital Reserve © 68750, no. of
Debentures 5000.
Capital Balance
A -"3,04,500
B-"2,91,000
C-" 54,500

Transfer to Capital Reserve - ~16,000
Profit on Revaluation - ~ 27,000
Balance Sheet Total - ~ 3,35,000
Capital Accounts :

Rabin— " 1,88,500

Barin— " 2,28,500

Nirab — ™ 2,00,000
Balance Sheet total - ~ 6,37,000
(a) Net Profit Ratio 10.75%
(b) Operating Profit Ratio 18%
Net cash flow from operating activities— ~ 2,03,700

Part-B
i) ¢, i) b, iii) d, iv) d, v) d, vi) d, vii) a, viii) d, ix) ¢, x) b, xi) d,
xii) b, xiii) b, xiv) a, xv) b, xvi) d, xvii) d, xviii) b,

i) b, ii) a, iii) a, iv) ¢, v) ¢, vi) ¢

L.l 1.1
3°3°6°6
iv) > 45000
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Accountancy
SET - VIII F.M.-80

PART - A (Marks : 44)

fferfire epafera Tea wie (g amefer smwdia)

M

(1)

(iif)

(iv)

Amit, Sumit and Promit are partners in a firm . Their capital accounts on 1st
April, 2016 stood at ~ 1,00,000 ~ 80000, ~ 60000 respectively. Each partner
withdrew ~ 5000 during the financial year 2016-17. As per the provisions of
their partnership dead :—

(a) Sumitwas entitled to a salary of ~ 1000 p.m.

(b) Interest on capital was to be allowed @ 10% p.a.

(c) Intereston drawings was to be charged @ 4% p.a.

(d) profits & losses were to be shared in the ratio of their capitals.

The net profit of ~ 75000 for the year ended 3 1st March, 2017, was divided
equally amongst the partners without providing for the terms of the deed. (4)

You are required to pass a single journal entry to rectify the error. (Show the
working clearly).

OR
I F PR @I AW 2D AT ST AT 272 4

Tulip Ltd. was formed with share capital of ,10,00,000 divided into 10,000 eq-
uity shares of ~ 100 each. 500 shares were issued to the vendors as fully paid for
purchase consideration of Machinery acquired. 5,500 shares were alloted to the
public in payment of cash on which ~ 80 per share were called up and paid. How
would you show the relevant items in the Balance Sheet of Tulip Ltd.

OR
I € F50HF 0 2Ny T D 4 | 4

Gusty Co. Ltd. issued 10000, 8% debenture @ ~ 100 each on April 1st, 2013.
Interest is payable half yearly on 30th September and 3 1st March every year.
Pass necessary journal entries for the financial year 2016-17. 4

A firm earns average normal annual profit - 45000. The normal rate of profit
being 10%. The Assets of the firm amounted to ~ 6,20,000 (including goodwill
" 40000) and liabilities as ~ 2,00,000. Find out the value of goodwill by
capitalisation of Average Profit Method.

OR
IS AN G FAGTR AN FICP ACET 2 GO IR9YfoT SACeToell 1 242




v)

(Vi)

Model Question with Answer Key 79

Cosmos Ltd. was registered with a capital of ~ 4,00,000 in shares of ~100
each. It issued 2000 of such shares payable ~ 25 per share on application, ~25
on allotment, ~ 20 on 1st call, and the balance as and when required.

All money payable on application and allotment were duly received, except
when the first call of ~ 20 per share was made, one sharcholder holding 100
shares failed to pay the amount due and another shareholder holding 200 shares
failed to pay the allotment and 1st call money. Record the above transactions in

the journal. 6
OR
(IR (R SITSTAE ST 2129 3% o ST 229 o100 1 (- 2 SIS T
SCAW 212¢ S Z(e O FIOICF fRAfepiiae sl 232 2+2+2
A, B, C are partners in a Firm sharing profits in proposition of % ,% and%
respectively. The Balance sheet of the firm as on 1st April, 2017 was as fallows :-
Liabilities b Assets b
Trade Payable 40000 | Freehold 40000
Reserves 12000 | Machinery 30000
Capital Accounts Furniture 12000
A 30000 Stock 22000
B 30000 Sunday Debtors 20000
C 28000 | 88000 | Less:Provision 1000 19000
Cash 17000
140000 140000

(a) Cretires from the business and the partners agree to the following revaluation :
freehold premises and Stock are to be appreciated by 20% and 15%
respectively

(b) Bad Debt Provision is to be increased to ~ 1500
(c) Goodwillis valued at = 21000.
(d) Machinery and Furniture are to be depreciated by 10% and 7% respectively.

(e) The continuing partners have decided to adjust their capitals in their new
profit sharing ratio after C's retirement. Surplus or deficit, if any in, their
capital will be adjusted through current Accounts.

Prepare necessary Ledger Accounts and the Balance Sheet after C's retirement.

(10)
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7. Q. No. 7 or Q. No. 8 to be answered

~

7. (1) Calculate Operating Ratio from the following information :-

Net Revenue from Operations (sales) 4,50,000
Gross Profitratio 20%
Administrative and Selling Expenses 20000
Depreciation 2500
Loss on sale of Fixed Assets 1000

~

(i) Calculate current Ratio from the following

Working capital 45000
Total debt 1,00,000
Long term Debt 7,000
3+1
OR

Bt ceTTa 242

(a) GG e (vl Sig=ire

(b) SRR SeoTe

8.  Related to Application of computer in Financial Accounting.

9. Calculate the Cash Flow from Operating Activities :

X Ltd. made a profit of ~ 1,00,000 after charging depreciation of ~ 20000 on
assets and a transfer to General Reserve of ~ 30000. The goodwill written off was
" 7000 and the gain on sale of machinery was ~ 3000. The other information available
to you (changes in the value of Current Assets and Current Liabilities) is as follows :

Atthe end of the year Debtors showed an increase of ~ 6000, Creditors an increase
of ~ 10000, Prepaid Expenses an increase of ~ 200, Bills Receivable a decrease of
" 3000, Bills payable a decrease of ~ 4000 and Outstanding Expenses a decrease
of ~2000. 6

OR

9 2 Keaig SR A STl (A F6v 24ig W 919 (@ wierers
/S AS - 3 (S IS ZCACE ©f I I | 6
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Part - B
(Marks : 36)
1. = faeal fdivn <= 1x18=18
() IR AR SIS, oo b e ze1 — ]
a) RS ERCET 90% b) R&feTeaiey Eatas 90%

(i)

(iif)

(v)

v)

(vi)

(vi)

¢) RS YT 90% @ @ d) Rl EReaa 90%
A 7 eifontsl 6 i@ Srsl (@ &7, o ALHDeF e — [

a) AN b) IeTde FAgfe

c) S e d) I e

@35 Ltd. Company 2526 (<1 e ffet ez 10 FfRe 01 | 92t
IfsR &7 ((Face Value) ) @10® (R0 — ]
a) O T b) SMIFS T

¢) e T d) e 7|

(R ACSTANSFACIT (X [AIF 2 O RIS 1 280 — ]
a) o Algfo b) I

¢) YAEEOR Alghe d) F0e 7|

CerIet fiifet e T (X wififRI SR T of <RI < AR — ]

a)  ICH SR (@I R f&ife <19 @y
b) ST (FEAT &l
c) AR AlFRoTe RINSIFIACCR Gy

d) e 7|

(I {1 <RI @FeRE v — ]
a) PN b) @A 2

c) SHifire d) @«bE

fCrasgicaa ol o fefiael v =231 — ]
a) I SCeTs T b) fafercatay Ye=ne Tow

) T YCT A d) I T T
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(ix)

()

(xi)

(xi)

Model Question with Answer Key

AW B SRS SAMICIRA I 9] FCH (T — ]
a) I 2 b) TN AT

¢) SCEEI SIS d) @b

I 6 eI~ 52000 2 G SAMICHRA N6 Jel1F0 T 4% 2T S
AR (after charging such Commission) | &t ST AAfse — [ ]
a) 2080 b) 2000

¢) 1000 d) 1080

Profit & loss Appropriation A/c 25T [ ]
a) s e b) I f@ere

c) I TR forere d) @b

SRAMIA HIFCS Tl 72 FA 2 ]
a) GG SAMIS b) ACATEHY AWM

¢) Q@REeE SRR d) ) SRAME

(I ARSI A 3 T I AN 5 22 97 e fefere wa
23 | A6 IR JAeIofeT 26T —

year Profit/(loss) (7)

2012 50000

2013 (20000)

2014 10000

2015 60000

2016 80000
I o1 20 — [ ]
a) 180000 b) 36000
¢) 1,08,000 d) 220,000
AGIoT T~ 600 TR I AP ITCAH S — 3:2: 1 (A : B : C)
Aok B ¢ C 9= Afgfon sifcmne (el s 21 ]
a) A 9q ol b) A &I

¢) A GTIHS d) =g«
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(xiv) P R Q G(b IR SIRAMIT CR O JeTF I SoAS 5 - 3 | R ool SR M
WWW@Q%W@W@WM@WWC«W@ ]
a) 5:3:1 b) 5:3:2
c) 5:3:3 d 25:15:1
(xv) A, BEC YIS : 4 : 3 SRAICS | C SR 29 5167 (R OIF el
QM (A6~ 9000 @I credit F1 2eT T G |
A G TS F© [0 debit F1 0 AT (AT &) 2 ]
a) 20000 b) 16000
c) 5000 d) " 4000
(xvi) SRR A Wi I — ]
a) I ARSI b) AP T TS SN
) SRAMRME e A SRR d) @S
(xvil) TS N AT T4 (I SRAMIG S BTG ¥ (Drawings), & STSIF
T 7 eI Tl Z — ]
a) 6.5 WEE G b) 5.5 W &«
) 6N G d) 5 R e
?
(ovi) - A AT = — ]
a) GG G ~Afane b) <7 elfone
¢) 5 e e d) F=e a3
2. s gl e <= - 1x6=6
() vefooEoATe=2:7:1, ST eAe=1"8: 1,5 uld =~ 6,00,000, Tg©
[ 35T FO 2 ]
a) ~ 5,70,000 b) ~ 5,40,000
¢) ~ 10,80,000 d)  6,00,000
(i) Net Profit—Non Operating Income + Non Operating Expenses = [ ]
a) Gross Profit b) Operating Profit

¢) Returnon Investment d) Divisible Profit
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(i) etz SRS 7 []
a) TElg TS b) e Seeie
) OHE SAS d) wIRREE SEere

(iv) R ERE 251 — ]

a) GG e — (5 b) eI e — Afgfo
c) behe AIfe — beile wix d) G e — berfe v

(V) TGS 2/l SR B 5 90l 7T, G NGO SRS HAPIA 20 - ]
a) 365 e by 73T
c) S5 d) 146w

(V) G (RIS S6T Sl 2 - 1| (PTG (eIt (I o Feig <hee [ |
a) OFe SEHAICSH W AT b) O TN G AP

) OFE ST A FAI d) @abE w
(vil) (ARl - TP ST o wa — ]
a) ARF ATl b) TR NS SR
c) WS SfefF SRRl d) F=e
(vili) (IR SIS (o SIoATS = T W’jﬁw
H[ERIC T — ]
a) 9% I el b) IR o
c) (5 oremicd wAftet d) =g .
3. Computer related questions
4. Tmfafe epefers Tea me (Regmfer smdim) 1x8=8
() G S TR FNNE N G0 2N (574 |
BRE

AR IR @ FANIPIYE RN N GG AL (@74 |
(i) ORI YETH TS F @RI 2
w2
SIFS T T (2
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(i) wIfERIE R [ierRe I@ce F @R

(iv)

V)

(vi)

(vi)

(vili)

S € R 0 TG SHMI | R AP A5 FCO BRI SIS AT | IO
(I SAmI B (712 | R @7 wif 6 e e

9% SR :  1,20,000 RfFwfers sEre -~ 4,00,000, Tl HREE R - 15%
SETLIRE AOTS FACTE wAfare el o |

S AP TECS (IR 2
KA

T[T FICF ACA 2

wfefE Sifsges deioia [fet w1 2ce Oig G 7w (redl 21 e
A

R S SR G2 (P 9 R I [0S AN (Al g, 20137
‘Table F’W‘@)?

eI T T6100 I (I 2

Treea emleffera Are e wie (g epteffer arsam) : 1x4=4

)

(i)

(iif)
(iv)

5eIf® Se2II0eF Qb (=12 |
REEI

O SIS @0 (@1 |

AZETO! S0 MG Trizge wis |
[

HTRI 29 F
i R o Al

?

A

PR AP S#ire F© 70, I PR TS 88.94%?

HeRle SfFe] 9

@ 7K IR 2Dt @b oa g wifds g ——— @ Siwle
(A OIt (FCa AS - 3 [ Revised] QIK7olseTss < 2CACR |

Computer related questions
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Answer Key
Part A
1. Promit's Capital A/cDr. 9275
To Amit's Capital A/c 1275
To Sumit's Capital A/c 8000

2. Subscribed Capital :
Subscribed and Fully paid :
500 Equity shares @ ~ 100 each 50000
Subscribed but not fully paid :
5500 Equity shares @ ~ 100 each
~80 called up 4,40,000
©4,90,000
Interest on debenture as on 30th Sept ~ 40000 and 3 1st March ~ 40000
4. Goodwill -~ 70000
6. Revaluation Profit— " 6960
C's share of Goodwill — ~ 7000
C'sloan A/c— " 41320

Balance in CurrentA/c Capital A/c
A ~ 15000 (Dr.) 749230
~ 15000 (Cr.) " 16,410

Balance Sheet total — ~ 1,61,960
7. a) 85%,b)5:2

9. Cash Flow Operating Activities— ~ 1,54,800
Part B
1. ) b, 1) a, i) ¢, 1v) a, v) a, wvic, wvi)a, wi)a, iX)b,

x) b, xi)d, xi)c, xii)b, xiv)b, xv)c, xvid, xvii)a, xvii) b.

2. )b, @)b, di)d e Vb V)b, vi)c vi)a
3. V) 4,00,000
4. i) 11.06%
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Accountancy
SET - IX FM. =80

PART - A (Marks : 44)

A and M are partners with capitals of = 5,00,000 and ~ 4,00,000 respectively, on
which they are entitled to interest @ 10% p.a. They divide profits in the ratio 2:1.
They take X into partnership With% th share of profits and guranteed that his share of
profits will not be less than ~ 2,00,000. X brought ~ 3,00,000 as his capital. Any
excess profits received by X over his % th share will be borne by A and M in the ratio
of 4:1. Profits at the end of the year before allowing interest on capitals amounted

to = 7,20,000. Prepare Profit & Loss Adjustment A/c. 4)
OR

o T 219 3 SARSeTiet e fRAlCs ey AL o (4)

Starlite Ltd. forfeited 500 shares ~ 10 each issued at a premium of ~ 2 per share, for
the non — payment of the first call money of ~ 3 per share. The final call of ~ 3 per
share has not been made. Half of the forfeited shares were reissued by = 2500 fully

paid. Record the journal entries in the books of the company. 4)
OR

(a) SISHT SN o1q 21Ze IEATe (@R 2

(b) ST T 2 [2+2]

a) Y Ltd. issues at par 10000, 10% Debenture of = 100 each at a premium of
10%. redeemable at per after 5 years. Record the necessary journal entries for
issue of shares.

b) X Ltd.issues = 1,00,000, 10% Debenture of ~ 100 each at a premium of 5%
redeemable at a premium of ~ 10 per debenture after 4 years. Record the
necessary journal entries for issue of debenture.

A, B, C were partners sharing profits and losses in the ratio of 5: 3: 2 respectively.
The Balance Sheet was as follows :
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Balance Sheet
as at 31. 12. 2017

Liabilities b Assets b
Creditors 26,500 Fixed Assets 2,25,000
Outstanding Exp. 3,500 Stock 55,000
Reserves 15,000 Debtors 45,000
Capitals: Cash 10,000

A 2,00,000

B 50,000

C 40,000 2,90,000

3,35,000 3,35,000

B retires on 31.12.2017 and for this purpose the following adjustments are to be
taken into account :-

(i) Goodwill was valued at = 90000

(i) Fixed Assets were found undervalued by ~ 60000.

(i) Stock was considered worth ~50000.

B was to be paid in cash brought in by A and C such a way as to make their capitals
proportionate to their new profit sharing ratio which is 3:2 respectively.

Prepare Partners, Capital Accounts and the Balance sheet of A & C. 6
OR,
a) SRERZOFIS SRAMICIR “iNew] el FEE T P P K KI5+ FA00 272

b) SRR SAMICE A O AT e AN @ (vl 2
SRAMIST SN Q=T 37 S F P {08 I A0S 2 4+2

ABC Ltd. issued 50000 shares of ~ 10 each payable, ~ 3 on application, ~ 4 on
allotmentand ~ 3 on final call. Applications were received for 90000 shares. The
director resolved to allot as :-

a) Application of 50000 shares were alloted 30000 shares.
b) Application of 40000 shares were alloted 20000 shares.
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Sukanta, to whom 900 shares were alloted from category (a) failed to pay allotment

and final call money.
Pass necessary journal entry.
OR,
P TR0 RIS A Al SR AR B TS AT 2

Rinki and Pinki were partners in a firm sharing profits in the ratio of 3:1. They admited

Chinki as a new partner for th share in the profits. The new profit-sharing ratio
will be 3: 2: 3. Chinki brought ~ 200000 for her capital and ~ 50000 for her
premium for goodwill. On 31st March, 2017 the date of Chinki's admission the

Balance Sheet of Rinki and Pinki was as follows:-

Liabilities b Assets N
Creditors 60,000 Cash 90000
Bills Payable 20,000 Debtors 80000
Capital A/cs Stock 1,50,000

Furniture 50000
Rinki 4,00,000 Machinery 2,10,000
Pinki 1,00,000
5,00,000
5,80,000 5,80,000

It was agreed that

)  Stockto be valued at = 2,00,000

ii) Machinery will be depreciated by 12% and Furniture by =~ 2000.

i) A provision of 5% for Bad and Doubtful Debts will be made on Debtors.

iv)  The Capital Accounts of all the partners were adjusted in the new profit - shar-
ing ratio after admission. For surplus or deficiency, the Current Accounts were
to be opened.
Prepare Revaluation Account, Partners Capital Accounts and the Balance Sheet
of the new firm. (10)
Answer Q7. or Q 8. (related to Comp. Application)

a) Abusiness has a current ratio of 3 : 1 and quick ratio of 1 : 2 : 1. If the working

capital is = 1,80,000, calculate current assets and value of inventory,  (2)
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b) From the given information calculate the Inventory Tarnover Ratio :-
Sales =~ 2,00,000
Gross Profit 25% on cost.

Inventory at the beginning is 31—0f the inventory at the end which was 30% of

sales. 2)
OR,
Bt (=1 242
a) ERIRET el
b) e Sigien w-RKagd
9. From the following Balance Sheets prepare the Cash Flow State ment as per
AS -3 (Revised):
Particulars Note March 31st March 31st
No. 2017 2016
I. EQUITY AND LIABILITIES
1. Shareholders' Funds:
a) Share Capital 15,000 12,000
b) Reserves and Surplus : State
of Profitand Loss 6000 5000
2. Current Liabilities :
Trade payables (creditors) 11,000 15000
32000 32000
II. ASSETS
1. Non - Current Assets
Fixed Assets (Tangible): Furniture 8,000 5,000
2. Current Assets
a) Inventories (stock) 4,000 6,000
b) Trade Receivables (Debtors) 8,000 10,000
c¢) Cash 12,000 11,000
Total 32,000 32,000
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A dividend of ~ 3000 was paid during the year 2016-17. (6)
OR,
T 2_1E KRR FeTCe F (@A 2 G T ST 9 | (2+4)
Accountancy
Part-B
(Marks : 36)
1. s faegf fdion =4 : 1x18=18

(i) RS 6 TRcR JARFR SAfe T 75000, ~ 90000, ~ 80,000, ~ 1,00,000 and
* 80000 TG [ AT 3 5ol fRAIC FACNE Pou e s [

(a) 85000 (b) 255000
(¢) " 285000 (d) =02

(i) RGeS ErE - 1,50,000, 1= -~ 50000, Fe&E JHFR 217 20%
IR AR (TR Al ST — ]
(a) " 200000 (b) "~ 1,50,000
(c) " 3,00,000 (d)  1,00,000

(i) o SRAMICIT 2=l =i W M@ &= (@ e ARATe =Res 341 23
I AT — []
(a) AT (b) SN2l ST
(c) FrRPETEsa (d) I =z (@=iese)

iv) S Hie SeFPRfere SRAmMICET St 2ve ATee Boi F© Rt I
AN 2 ]
(A 5%np.a. (b) 6%p.a.
() 7%p.a. d 12%p.a.

(V) X '€y UG SRAMF 3R SITHE ST T 18000 ~20000 | z TG
1
SRAMI AT 23 T - SIR* S[AIRPR Tl @R 24000 e A
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ST | AR Al feffae v — ]
(@) " 24000 (b) " 20000
(¢) " 15000 (d) " 10000

_ 1 3 1
(vi) A, B @3 C FrS-50 16+ (K 7 5 T0 SR SIS, B o ez

T 1 A8 C SR AP @19 FC (04 3 1 2 ST | 371 & Tef Ao

T ]
(@ 1:2 (b) 3:2
() 2:3 (d) None

(vil) T SAIR Yo ATTTETeT, 0o N F feoN<ee (At w@me [
(a) o 4 (b) 3 veife <re
(c) A& 3R Haife IS 123 (d) 2 LA A A BeTrs A

(viif) SRS <5< (Al A M — ]
(a) TP IR S (b) CoMIl DI S
(c) FTITEE 2D BIeAId &y (d) (I 77 |

(ix) 71T 251 — []
(a) SIS Tife (b) T Tife
(c) SR Tife (d) S SN e |

(x) SRS HfEsitas SerPRore Simer SAmEl St 1932, T Ll
YAey 201 — ]
(a) =10 (b) =T 12
(c) @™l 13 d) «@=14

(xi) Share Application Account is — ]
(a) Iife TR e (b) Ifex e
(c) «If= f=oTare (d) wpe R |

(xii) CPIN CARNCIT N & ™ 100 BCS, S T JoTos F© B 2 ]
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@ 5 (b) ~ 10
(c) " 20 d ~25

(xiil) TG Freoifaa FifgF TR — []
(a) 2 (b) 7
(c) 10 (d) SEIN

(xiv) (T eIt e SrE 219 Srarel 41 QT A1l SICE F e 2 ]
(a) SIS el (b) SEifRCHIaCAl Ao
(c) TR wifsesig (d) *[ FA 2R AelAig

(xv) (ORI ACSANSIACEIT So) (IS <RI ZToing Fefuel Scal (o=t
e 2377 ]
(a) 7T (b) 10 =
(c) 14Mma (d) 21T=

(xvi) TS SITSIT T2 F6T09 (T TZCAT SNBAS ([RT— ]
(@) 1932 (b) 1956
(c) 2013 (d) 1881

(xvii) 'Reserves and surplus' Sa$=i(ad (FI QTS (@RI 2?2 [ 1956 ACER
(Al SRR AL VI OAfRIeT STegaridf] ]
(a) Current Liabilities (b) Non - Current Liabilities
(¢c) Shareholders' Fund (d) None of these.

(xviii) (I @I (T ™ 60000 CER <1 &K1 1 241 16 7174fe ~ 50000
T ARRCS | SfSRE 10000 (FIAR debit F41 70 2 ]
(a) Share Capital Account (b) Goodwill Account

(c) AssetAccount (d) CashAccount



94 Model Question with Answer Key

Q.2)d Q 3) Ted whe:

Q.2 Afo= fa=Fab oo #a: [1x6 = 6]
(i) BENe W AHR® ——— SR N0 oICal 27 | ]
(@ 3 (b) 6
© 9 d 12
(i) wom 2R Rl 2 )l 2— | ]
(a) AS-6 SRR (b) AS -3 SIS
(c) AS - 12 Sdl (d) AS -26 S,

(i) Net profit before tax - ~ 50000; Tax rate - 50%, 10% Preference share
capital - =~ 50000 and (in ~ 10 share)

Equity share Capital in = 10 share - ~ 50000 . Earning per [ ]
Share (T (R {217 1% ) 203 :-

(@ 10 ()5

(c) 4 (d) " 15

(iv) BeIfe Saiie = 2.7 : 1, o361 Sieaile =1.8 : 1, bethe wi — ~ 6,00,000, Tg©

714l SIS 219 4 51, TS ATl FLeT 2E— | ]
(@ "~ 21,60,000 (b) " 16,50,000
(¢) ~21,00,000 (d) ~ 34,00,000 ,

(v) aEd Sigfen wiR Kagdice St fofe «ta smpey REefer ol 2e
o< Al 2F — []

(a) = (b) =7
(c) TeoAma (d) 02 T |
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(vi) oA (I IRz IR (797 @iz K@) 2 ]
(a) oo e (b) I T
(c) R =7 (d) wom ST [fese siey 31
Q. 3. Computerised Accounting
Q. 4757 exafera Tea me : (Rge)fs avwam) (1x8 = 8)
i) oAmE pfE e ferfie 2ex agfie
OR,

TG SRAME M JELCTT 75% evie I O SRAMIS! Hiea esifefore @ T
] SR 2N 2

i) S CERRAI A5G T SIS A F (I 2
(ii) SN 219l W06 @=iot vfo AAffefoq Srad w91
(iv) AT SR F 2

OR,

TG SIRAMI FACTR 6T (ZAICT L S S ST F 2 2

(v) 2, NFERIAF 3 : 2 : | AJATO S-(ETFAN ©19l FCI (17 | G SRS (7SI 7]
S I TG ST (ST TS F =T 2
(vi) PRO-RATA Allotment?
OR,
A AR F1 2
(vil) TFFe BCI <11 efev=iisi 0o Ji @Rt
(viii) (P{lfe =2, 2013 ST Schedule VI3l Revised Schedule VI @3 #fz&féw 2l
AfCNTES g9 2
OR,
AT N2, 2013 I (AT G 23 2
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Q 5. 57 er9)fera Tea wie : (g ape)fet sTvenT) (1x4=4)
(i) Trading on Equity SIFa01 2
OR,
-SRI ST 2 : 1 TS F (@R 2

(i) IR AP FETCO I @R 2
(iii) g1 forfse Sreeices @it (=12 |
OR,

TR Tofers 2o S Soieejfe] T© LHC7 83 8 F F1 2
(iv) TR LT (NG 7M1 (Pl 201,91 1 LT eI 2 (751 2N A f0o)

Q 6. Computerised Accounting related questions.

Answer Key
Part A
1. Share of profit : A-"2,60,000
M - " 1,40,000
X -72,00,000
2. Transfer to Capital Reserve - 1000
3.a) Securities Premium = ~ 1,00,000
b) Securities Premium = © 5,000
Loss on issue of debenture - ~ 10,000
4. Profit on revaluation - ~ 55,000
Cash contributed by C - ~1,08,000
Cash paid to B - 98,000

Cash with drawn by A - 10,000
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5. Amountreceived on allotment - ~ 78,200
Call-in-Arrear (on allotment) from Sukanta - ~ 1800
6. Profiton Revaluation - = 18800. Premium for goodwill received by Rinki - ~ 50000

Balances Capital A/cs CurrentA/cs
Rinki 2,00,000 264100 (Cr.)
Pinki 1,33,334 . 28634 (Dr.)
Chinki 2,00,000

Balance Sheet Total - = 8,77,434
7.a) Current Assets — = 2,70,000
Inventory — = 1,62,000

b) Inventory Turnover Ratio— 4 times
8.0) balance of cash and cash Equivalent— = 12000
PartB

I. )b, @) d d)d )b, v)d wvi)a wi)a, wi)c, IX)c,
X) ¢, xi)b, xi)a, xii)d xiv)d xv)d, xvic, xvi)c, xvii) b.
2.0)d, d)b, ii)c, i) a, v) b, wvid

3. v) 9SO = QA =3:1
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Accountancy F.M. =80
SET -X
PART - A (Marks : 44)

Rimjhim and Barsha started a partnership on 1.1.2016 introducing ~ 20000 and
" 30000 respectively. The following terms and conditions they agreed upon —

(a) Profitsharing ratio between Rimjhim and Barsha was 3:2

(b) Interest on capital @ 6% p.a. and interset on drawings @ 8% p.a.

(c) Barsha gets asalary of ~ 2000 p.a.

The net profit for the year ended 31.12.16 was ~ 19280 before considering the
above adjustments. During the year each partner drew @ ~ 3000 at the end of each

quarter for a total of ~ 9000. The date of their first drawings was 1.4.16. Show the
profit & loss appropriation A/c for the year ended 31.12.16. 4

Or
e-5Fe B a2 TTe-5Ffe IG0a ZAaa Sy #Ney e 5|

A company issued 16000 fully paid-up equity shares of ~ 100 each for the purchase
of'the following assets and liabilities from Gupta Bros. —

~ ~

Plant 4,50,000 Stock-in-trade 3,50,000
Land & Building 8,00,000 Sundry Creditors 1,50,000
You are required to pass necessary journal entries
Or

PR YT IR (R S 4 |

X Ltd. issued ~ 50000, 11% debenture at a discount of 10% redeemable at the end
of 5 years. Show the Discount on Issue of Debenture Account for the said period.

Tiger and Doe are partners sharing profit and losses in the ratio of 4:1. Their Balance
Sheet as at March 31st, 2017.

Liabilities Amount Assets Amount
Capital Accounts : Machinery 30000
Tiger 40000 Furniture 10000
Doe 20000 60000 Stock 15000
General Reserve 8000 Debtors 20000
Creditors 12000 Cash 5000
80,000 80,000
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On 1st April, 2017 they admit Lion for 1/4th share in future profits on the following
terms —

1)  Lion brings in Capital proportionate to his share after all adjustments.
i)  Hepays = 6000 for premium for goodwill.

i) Depreciate Furniture @ 10% p.a.

iv) Machinery is to be revalued at ~ 35000

v)  Stock is to be reduced by ~ 1000.

vi) A provision for bad debt is to be made at 5% on debtors.

vil) New profit sharing ratio will be 7:2:3. Prepare Revaluation Account and Partners'
capital account. 3+3

Or
I fAafem Freita w1 203 A2

Pixel Ltd. offered for public subscription 20000 equity shares of ~ 100 each payable
as follows :

On application — ~ 30
On allotment — ~ 20
On Istcall — ~ 30
On final call — ~ 20

Applications were received for 35000 shares. Applications for 10000 shares were
rejected and refunded. 15000 applicants were alloted 10000 shares and the remaining
application were alloted in full. Excess application money paid on application of 15000
shares was utilized toward allotment money. One shareholder holding 500 shares paid
first and final call money with allotment money where as another shareholder holding
200 shares did not pay first call money but which he paid with final call money.

Give journal entries in the books of the company.
Or
SAEFTIE R F© 2/l 28 F Fl 2 6
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Model Question with Answer Key

The Balance Sheet of A, B and C sharing profit and losses in the ratio 0f4:3:2 is as
follows ason 31.03.2017 —

Liabilities Amount Assets Amount
Capital Accounts : Premises 1,25,000
A 1,00,000 Machinery 42,000
B 75,000 Stock 40,000
C 50,000 | 2,25,000 | Debtors 25,000
Sundry Creditors 25,000 | Less:Provision
for Doubtful Debt 500 24,500
Cash and Bank 18,500
2,50,000 - 2,50,000

B retires and the following adjustments have been agreed upon, before finalizing net

amount payable to B by the firm —

a)
b)
c)
d)
€)
)
g

h)

Premises to be appreciated by ~ 25000

Provision for Doubtful Debt is brought upon by 5% on Debtors

A provision of ~ 3850 are to be made in respect of outstanding rent
Stock value to be reduced by 6%

Goodwill of the firm is agreed to be valued ~ 54000

Future profit sharing ratio will be 5:3 between A & C

Entire capital of the firm after B's retirement to be fixed at ~ 1,40,000 between
A & C. Any excess capital to be paid off or to be brought in by the ramaining
partners.

'B' to be paid ~ 19000 immediately after retirement and the balance to be
transferred to Loan A/c, payable in four equal instalments with interest @ 5%
p.a. Pass necessary journal entries to record the above effect till the 1st instalment
of B.

Answer Q. No. 7 or Q. No. 8
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Prepare a Common size statement of Profit and Loss from the following information—

Particulars 31.3.16 31.3.17
Revenue from Operation 12,00,000 15,00,000
Cost of Material Consumed 6,00,000 7,00,000
Employes Benefit Expenses 1,00,000 1,50,000
Other expenses 50,000 70,000

Or

GRIET FIS-Fod RIAAR Sowly ¢l 4 |

Application of computer in financial accounting.

X Ltd. made a profitof ~1,20,000 after considering the following items :

~

1)  Depreciation on Fixed Assets 15000
i)  Amortization of Goodwill 5000
i) Transfer to General Reserve 10000
iv) Profit on sale of Land 12000
The following is the position of current assets and current liabilities —
Particulars 31.3.16 31.3.17
Trade Receivables 25,000 32,000
Trade Payables 20,000 16,000
Prepaid Expenses 4000 3000
Calculate cash flow from operating activities. 10
Or
9 2rE K dE AR Srad <+ |
Part- B
(Marks : 36)
a1 Tealb fioe =4 1x18=18
(i) MR beife 219 <ite —
a) Wi Cr. balance (3 b) &l Dr. balance 2(3

¢) Dr.3Cr.balanceZCo 77  d) T2 Dr. balance 2C® ACI I
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(i)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

Model Question with Answer Key

AfSDICTR B A — 40,000, GG SAMIT @) 5% 2/ FFHI 9IS (after
charging such commision) | MG #{f&stiel —

a) 4000 b) 2000
c) 8000 d) @«tE
TTSIETCR &9 7 —

a) @S b) X

c) wW d) F=e

Tt T “sifeiz sife ~ 1,20,000,2571%1% o1 SR~ 24,000 @R JETLCAT
T HI 2ROpiHIE 21 15% SOl 3 q=Cae 94 ot fefere Faicm
Al 29 —

a) 96,000 b) 18,000
c) 21,600 d) 40,000
A € BUHME | A @3 676 10000 G B 9= 314 s~ 6000, e SR

7 6% p.a. B 0T~ 300 (04 2/ | 97 € (o & 1 ~ 8000. A € B @9
T I Ol 0 —

a) A->1720,B-"1720 b) A-2000,B-" 1440
©) A->1440,B - 2000 d) @b

GG SIAFAZFIA SAWECE  4,80,000 e 262 517{6 w1t iz [fgce
GIR AR B 2R 10% | o 6% 203 —

a) 146,000 b) " 1,56,000

¢) " 1,38,000 d) F=e

SRR S8 SR, O SAME F© BICH IW A ©OF 2l S So —
a) 5% b) 6%

¢ 10% d) =g .

P, Q, R #lo-7{% ol 577 3:2: 1 Sq2IiTs, Q Tl (2151 30.4.2017 9 131.12.16
SIfite fSDIta i 2~ 1,68,000. Q-7 JAITH ©lof T 2

a) 28,000 b) 56,000
©) 18,667 d) HE T




(ix)

(x)

(xi)

(xii)

(xiv)

(xv)

(xvi)
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X @R Y v SRAMIF 2: 1 SIS 3155 ©lol 0 (| Z (P Vs ST &
SR TR 2129 FAE AR (T~ 20000 o7 SieTeT | X 8 Y 0 FReHifere
Al ARG o T 2

a) 400008 ~ 20000 b) 320008 " 16000
¢) 600008~ 30000 d) " 20000€ " 28000
(TR S I 7ot @G —

a) Ralfde owg b) RS (g

c) SRfEEw g d) =tz

AN CHTGITFINRHIETH 261 96 —

a) AR CFER @Al b) (PRI FCIF oAl
¢) (T CHET (A d) @=hE

QORI (AN A 707 7T —

a) 20w b) 30T

c) 40w d) 50%

TR @I T ARG AT —

a) 2%@d b) 3@«

c) 4T d) 55

TR RRATS A (@ AR <RI ST Srarel A, OIS 061 —
a) SIS e b)  IfRs e

¢) e e d) IR

@I Koo R o0 SR fas R [6fRes a1 zo1 —
a) T b) ST

) YU d) TeR wem
Cragla ze1 —

a) ey sevae b) A SETH

) TR YE d) v



104 Model Question with Answer Key

(xvil) I AR 40000 TR0 C<1RIF T G 60000 SN TSR | ACH(G
(PIT AW (FER 1 (SN 20T Pro rata allotment-&g e #© 207 —

a) 1:1 b) 6:4
©) 3:4 d 6:2
(xvii)) 10 Il [0 <19 A 9 Bi=wl 3= 62 <l 23 O ©f —
a) SR R & b) SRR <F [fet
) IRICH < et d) @
2. e gt v == - 1x6=6
() =i el Ko R 2 —
a) RIS b) e
c) Aemrst d) @[
(i) NfeTel Segoire 45t —
a) OIRCETE SO b) PRI Seite
¢) SHIF-TeR SiHTe d) TEETeR SEHTe

(iii) M= Sigfon [aaaice gwe 1 27 —
a) A Sighed Ale-wex Kwal
b) e Ffen Taeeig

c) Tw
d) @A
(iv) eife 3@ = ~ 1,20,000, HeTfs Ssiie = 2:1, He1ho 713 o ?
a) 60000 b) 80000
¢) 1,00,000 d) 120,000
(v) O SEoACes S 3w —
a) 32 b) 3:1

c) 21 d I
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(Vi) TS 2o TG AN 6 @R I Aegred #Afel ~ 40000 2o, [icw

ATTI IO —
a)  1,20,000 b) ~ 1,80,000
c)  2,20,000 d) " 2,40,000
3. Computerized Accounting related questions.
4. Tva eme)fera Tea wie (egelfer saim) 1x8=8
(1) i e
Or

G0 AFHIF @A THiRe W |

(i) SToT SIS FETCS F (@R 2
Or

QRIERGEOESE:
(i) wRECE e [ferd @ =16 @714
(iv) Ao e Fe
(v) SARCTe WRIsReE I A0eT 2

Or

= olg FICF AT 2

(vi) el e
Or

CSlolgole F 2
(vii) SIAmIE ofmefotTa i Aiffeifen Srae 4|
(vili) RIS STAATGR ST SRR ST A e @ JfHs o R0 (Rt S
3 Wi 391 2202
5. Treea epafera Tea whe (Regeffer evaim) - 1x4=4
(i) TAPRIIE Sgiltes [REse T=1ce F (-2
Or
HDZETO! 2ITS F 2
(ii) G TR SACSS @6 (@74 |
(iii) PTG JeTere 6 Al 200 A 2
(iv) YT SFiTo F 2

Or
e fefEre Seeres|feits w1 witel wiol Tl 232
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Answer Key
Part- A
1.  Rimhim's share of profit="9000
Barsha's share of profit=" 6000
2. Goodwill="1,50,000
" 1000 to be written off every year to statement of Profit or Loss

4. Profitin Revaluation ~ 2000

[ Tiger: ~ 1600, Doe : ~ 400]

Balance in capital A/c :

Tiger Doe Lion
53200 22800 25333

5. Application money adjusted against allotment ~ 150000

Call-in-advance  on allotment- ~ 25000

Call-in-arrear on Istcall-" 6000
6. Revaluation profit ~ 1,80,000 ( B will get ~ 99,000)
7.  Profitbefore Tax : 2016 2017

" 4,50,000 5,80,000
(37.50%) (38.67%)
9. Cash flow from operating activities ~ 12,800
Part-B

(e, (i) d, (iii) a, (iv) b, (v)a,
(vii) b, (viii)c, (ix) a, (x)a, (xi)c,
(xiii) b, (xiv)d, (xv)b, (xvi) b, (xvii) b,
(i) d, (i) d, (i) c, (iv)a, (v)d,

Model Question with Answer Key

(vi)e,
(xit)d,
(xviii) b.
(vi)d.
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BUSINESS STUDIES
SET-1
feetel-% (Marks : 44)

1. fwfie emefera Tea wie | (g opt svam) 4x7=28
(i) TPRI7AIE Tifex @i Al @R el |
w2l
[RIA € YRR ST A1 (0T |
(i) <RI AR 99 Tl |
(i) ~APEI AR SICEbAT A |
w2l

IS @ (FITETH &y AL (eTe |
(iv) frefefes et spifafe § St
RREI
faemifes et SPyfRatelfer Rgs wwta |
(v) elffrFel @ St SIeay 2Ny (ETeel |
SREI

F[97 SACIT TG A |
(vi) FoEmICT Somime]fera FERY 26 Wi |
(vii) fEEel @ SAfFFEIR AR TR CETeal |
2. fowfeie e Tea wie | (R ok smsaim) 4x1=4
DIl QISR 8 ST QSR AL (=0 |
Al
CRRI AR 24l I e |
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Model Question with Answer Key

3. fowfafae emeffera Tea e | (Rag ol emdin)

(1)

(ii)

LS IRFRANT ST A FC |
BRI

ETHCAR SO S 2 P [ 5 937G A |
fste @ fesioitas stigfmefer co1eal |
faeta-2 (Marks : 36)

A. foog Tearifera s 9w Seal® @ fca et

()

(i)

(iif)

(iv)

V)

(vi)

[RA 20T —

a) fel b) el

¢) e ¢ I e d) FCDE
SR IS T2 8 il 7B T 06T —

a) il b) el

c) fw ww dy farrgel
AfSRICTa Srriy7RICer A 2cet —

a) olfasel b) eI

¢) A d) o aig
SICH3 (0 IR ATy w2 2

a) SRl b) «FRIRFSl
c) ALeTe! d) T «fs
‘General and Industrial Administration’ 363 (573 (F 2
a) SACT b) (2l e
c) o 9%, g d) . TFe Gaa
‘FEMA’- 9[Ta1 =11 2ol —

a) Foreign Exchange Management Act
b) Foreign Exchange Marketing Act
c) Foreign Exchange Monitoring Act

d) @z T

4x2=12

2+4=6

1x12=12

]

]



(vi)

(ix)

(x)

(xi)

(xi)

Model Question with Answer Key

ATPE 2CeT —
a) WP 2
) ey

(TS A0S @RI —

a) PIIE 22 F9g G
c) Prw agrew 9w e

1 f-ioca 29w oR g —

a) I SN AT
c) ArHICII alze

AT FIES YT ST WA —

a) UfETe Al
c) g

ferrgCes Yeifefe ffee wite —

a) FRSIEOR T
c) aebTerz

o e —

a) qIRIIES
¢) AT

STl
TR0 2lfF

PG ©F I
Prrg fzeom Al

oo oigrt o=
©9 € AfFeT AP

Aot Qv
Seifed Al

OGNy
SICUTEEE|

Fefediar
gerEe

B. fawferiee erieffers eif el @b 1t Tea nie | (RFg o wvwam)

@

(ii)

(iii)

P! I AT 2

s @ faea @ 219 e

AP T 2

fcpeaiase S
AT ST 2o oL F 2

RN

RN

111

1x5=5
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(iv)

(v)

Model Question with Answer Key

elfers Kpifo wIcs aceT?

KA

ASCHIRERE - P A6 2
RPN G0 Sa=l] (104 |

C. W% Ser 4o <4

()

(i)

(iif)

(v)

v)

(vi)

(vi)

(I SR e 2ol 9o 23 2

a) WO Ay b)
c) SPRRIE d)
FEA LA B e —

a)  AIsg b)
c) welifERgE R d)
1< (SEBI) ¥ #AICeT 90T Srofest —
a) 1975 b)
c) 1986 d)
PIIG TR SRR ool w3 —
a) Alfdfens [et b)
) Aelsg d)

IR
AN

EPAGEIES
SRITS JeIFl

1988
2006

ORI I
T e

AR BIF CFCE e T (T Zee —

a) GF Bl b)
c) @AM d)
ABI T2lisly @3y et —

a)  CSlalysiey b)
c) SbABRS 7 d)
o43s S [viel FeT0o (@RI —

a) R b)

¢ R=w d)

aqF AYR
4P =g

e Sl
TR 2{el]

(Pola sAfple Alee

IS 77

1x12=12
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113

(viii)  SHCOTS INPHCT Sy (I VLS 2 2 ]
a) UASF b) o al Tl
c) I d) w02

(ix) CFIOCF Re@IoTed Sowely J& T =1 2 ]
a) bifewl @ b)  ICelE sJeisTosIe
) AN FAN Ji= d) fez 3w

(X) (PO T SN2 (el AT Y2 8202 ]
a) 1960 b) 1978
c) 1986 d) 1996

(xi) ST (O FHRHTAF Tl foTCe FCa — ]
a) ey T b) (U TR
c) el d) ZEFIHR e [pReife

(xil) SNSRI FHRMCTR APTR F S SR T2 20l — []
a) 6032 b) 65
c) 703=d d) 759

D. fasfeifee emefera afel «afb aite Tea wie | 1x7=17

(1) (PR ] SR SR (@ (AT 9o S (0 |

(ii)

(i)

(iv)

=12t

G (! RIS A1 (ETC |

(POl L SR SN (FOT (F 2
w2

(FO! ST GIORI ST i =] Srare el |

el 2fely2n aiFen® Fi 2

SR
AT o1 Sraly F 2
fRsferey fie 2
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(v) oo SIS 2
KRR
‘SEBI’-3 5[ <1 1 7
(vi) eI TG I Ao 2

(vii) 2FR(03 ToiF FIRRIT FICP A0 2

Answer Key

A @c  (G)b (iii) ¢ (iv) d W) d
(viil) a (i) a x) b (xi) a (xii) a

C. Ga (id (iii) b (iv) ¢ ) a
(i) d  (X) b x) ¢ (xi) a (xi) ¢

(Vi) a

(Vi) ¢

(vi) d

(vii) b
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BUSINESS STUDIES
SET -2
feetel-% (Marks : 44)

1. ffaiee emefers Ted wie | (e ol wmeoa) 4%x7=28
() IR T 9FT @ Wl &0 |
w2

Relfes RN RS M (ifers ifos)fer Sietba e |

(i) AT AR 00 F @RE? SO FIFAE SHIFACT 2SI SNCES!
Al |

(i) A AT SCEAD ST |
(iv) Re@ieae € O SIef(ed &y 219y (10|
SR

fafeamy ssioe @ [iFAEge Ao N0y 2Ny (et |
(v) oW oo AT R SRR — T R |
2
S o Al A CeTeR |
(vi) TCMICRR 93 eI |
2
OO GAMIfeT BT FCA |
(vi)) PRI fREC g T I
2. e emfee Tea mie | (g o orwam) 4x1=4
(i) oiftzean at PR aRenfs Rge

RGN
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Model Question with Answer Key

3. fmfeie epelfera Tea wie | (g et weaim)

(i) SRR ercas sifsnel fefacers =2l [m Scetbel e |

(i)

fRsteicars CafRra)fer GeTeal |
w124l

o1 el iR e A1 SoAMaET SIS S
faeia-2 (Marks : 36)

A. 70T Teq <o weat -

@)

(i)

(iif)

(iv)

v)

(vi)

6x2=12

1x12=12

TS Srel) VR —
a) fearga b) RISl

) oI d) e
RN LI Pl 2

a) el b) IR

c) = d) SoamE
RN 20 G 7w qr —

a) sifeReT b) PR

c) sifeHer @ i d) CPICIDE =

RN (T Feba @l FRrd 212 {o (el 21, Gl 26t — [
a) olfFEel b) foage

c) foie d) oM el

ARSI AT S A YIRTS (LIS 6Tl 27 —

a) (LA b) WellW @el

c) IPmEel d) g

RS AR 96 Gotmie 2ret —

a) RIS b) fwmi

¢) itER dife-aife d)

St
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(vii) frferie (IFT ACSE 2 ]
a) ORI IS b) R Al
¢) WY 8 T Siie AfiFE d) @R a7
(vii)  FCHR ST 247 FoE T ACF (IR — ]
a) (AR TR b) AR
) SITOFIA ARG d) FICIoE =
(ix) A SHITTT TG FMHF THO 2IT7 TiT© FA FISTF AT — ]
a) R b) AR
c) sitaEfe d) @IAIvE w7
(X) CICPACOR pOIg 7 2CeT — ]
a) SIAT ALFOFT b) e
) IO *(H IATA d) e
(xi) FICT (MO MG H{0F Ao 0 ¢ e Sl (2= (qlolz — [
a) IR b) A
c) fSomie d) ferzel
(xii) ferzrgel SRS TS e s w0 — ]
a) R b) o
) Al d) s
B. faferfie emeffer afel @b ditsy Tea wie| 1x5=5
(i) TT=EcE PRI e H 2
!
AR GG TS STl (e |
(i) SWOT Res=e Facet T orFdod o1 1 2

(iii)

KA

T I 0T 2

SR FICF A0 2
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(iv) 5T DS e 2fsl I0eT (el ?

Model Question with Answer Key

w2t
AR IS A 2
(v) Tageem @t @Y et
C. #fos Tex fodion weat 1x12=12
(i) T AT SIS ATl ZCetl — ]
a) S fE b) T ST s
c) T [ elfe =Im d) T I e
(i) I o eTepcet Pt erelfte st — ]
a) eTeIeAE 2d b) TR 2oz
c) dfer dfwieR ek g d) I
(iii) SO SACST A R — ]
a) F AHA b) «F YR
c) &F M d) 9=
(iv) SETHE SRR S T — ]
a) (I A b) elfis s
) setEs el RGO (SRR CE]
(v) e AR g Grm 2 — ]
a) 30 fu= b) 60w
c) 90 s d) 120
(V) (Ol (B 202 T FAE TG WIN 9 @ TG AN A7 — 32 AN (i
el 2 ]
a) ATl b) T
c) FoNAl d) R
(vii) RGNS #ACela Sugeel 2leTl — ]
a) AWy b) TEAIf®
c) Ao d) @GR
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(vil) BRI forery felfel =io T3 ST Ficz e Tesiifre way [/
FACE, ACF A — ]
a) MR R b) «FwR KT AT el
c) fae fsifez st kew d) IICAGR

(ix) fRieICes ST Sy — ]
a) e g b) R e
) T g d) o TgR e

(X) (! I B2 CIH00 (FI I 7 2 ]
a)  sif*eaee b) T S I
c) f= d) e

(xi) ol smiECe Sferl e - ifEe T — ]
a) 35 b) 5P
) 6% d) 17==

(xil) NG FHRHCI AP FRFHACHAT (IR T TR 2 ]
a) 5 b) 10
¢ 12 d) 15

D. f=fefve emiefera afelt @l rtay Tes wie | 1x7=7
(i) SR PO Sotmiwsffer F e
ol

SRR ST I 0T 2

(i) TR SIS R 2

(i) CMel ST FICTF 0T 2

Q0

Tl BI I 0e 2

(iv) (o] ] S SRl (Fold gl iRy (o0 |

<
(STl WIS Pl 2
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(V) O AGOTO! FICH A0 ?
(vi) TR=wio ¢ 2bitag @i 2l el |
(vii) PR PR G0 Sl @0l |

SRE
AT NI 0O | (AR 2
Answer Key
A. G c  ()a (iii) a (iv) ¢ V) ¢ i) ¢
(vii)) a (x) ¢ (x) ¢ (xi) ¢ (xii) ¢

C. @b ()d (iii) d (iv) ¢ ) ¢ i) a
i) ¢ () d x) b i) a  (xi) a

(vii) ¢

(vi) ¢



1.

2.
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BUSINESS STUDIES
SET - 3
feetel-% (Marks : 44)

fmferfire erejfera Tea wie | (g et w7ar) 4x7=28

(i) TR (G SO 8 (FCET MO QeTel[SETh ST A |

EEE)
R 5] 2R e ASb SNCABA FCA |
(i) SRR AR ARy e
(iii) AR G SN A |
w2
TR @ Feforfieon ey AL Coeal |
(iv) A a0 @ F FRASTAI C LI (&0 |
(v) 3 [WCRICaE Aifere SeAajfer (oTCa |
w2
3 fCaITeR Srersdi <@ AfRul € Spfat @l
(vi) SOPICETR Bifenl Ogis Sl <5l |
EEE)
AR @ (T [ AL (0|
(vii) Terrgel eifea fRfem distejfer FCCo (o104 |
frfaire et Tea wie | (R o wrwatie) 4x1=4
() fribRrueRrema-aa dRel g w327 7Rk Fie
Al
“@eld W PICF GIHHE 97 Sreaffet (=104l |
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3. fawferie emefera Tea e | (Fae) ol era)

(1)

(i)

TR IR € FRGA! TERICT T AT (7e |
2t
e GPRN7AIF @ @0 |
(NTFSSFT @ (NGFIHCS AL (FC |
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c) dfEw d) s

(vi) 'A/c payee' *(HE 9L TF — [ ]
a) (e BF b) JFFMI
¢) @eifere d) «ifers o

(vii) elfe¥fs «ita Bt (rea eifeufs SR — ]
a) *TSIH b) *3
c) SRS *SH d) @ T

(viil) (5 (RN (Hfelferal 751 — ]
a) 1 b)
c) 3 d)

(x) oo e cwea fKEicasy =g s — []
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a) SIS b) SR
c) Jifews d) e

x) @ 3 e K 3 927w o 2w — ]
a) At b) RISt
c) fnafze d) s@efe

(xi) 'Causa Proxima' *%fbd =12 21 — [ ]
a) o b) #Fex eluie SR
) oUW IP d) @ T

(i) CMf o1 — [ ]
a) URGIE b) Gl AICoF b
) TOSHCOR 5T d) IR T

(xiii) GG W A T (@FAIR w20 A 2 ]
a) 10 b) 20
c) 30 d 400

(xiv) PRI FEER oJfARCS TR (U g T2 ]
a) SlKCe b) <FleEl
c) SN d) TS

(xv) SIRCS A W 25 — ]
a) fafEm b) aftzs
c) IRTOITESF d) @abe w7

(xvi) = SR So 261 — [ ]
a) TR R b) CSlIRE F
c) CesAEReTel I d) =R ARG 46 AGIEFA

(xvi) [EFFIT Ff2oig SFRCE FALCE Fo =7 1T FRTHY| FAC© T 2 ]
a) 1 b) 5
c) 8 d) 103=s

(xviil) SR T2 oiftee AF — ]
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a) JIRIAF b) i
c) s d) EEE
(xix)  C(G =l e %31 SCa ARoLETE J= 7 2 ]
a) fACaIsisig ez b) e Fgfewia
c) SIfh f[eels ol F d) wfewTo@ *Tene 4
(xx) T WarwE ARl 26 — ]
a) fFwel b) e SRpRH @ Sl
c) WAL d) =0
(xxi) ol T sfes 2= — ]
a) Slef} b) SrerEar o
c) SrerEre faE d) e«
(xxii) O A G QTR 21801 267 — ]
a) S} b) T siSER
c) s W d) @lE T3
(xxiii) (P ATF SCHR 2 ]
a) fae b) T eelsig
c) e [R=a d) @9
(xxiv) SR e fofe = ooy 23 — ]
a) TS o Fe b) R
c) erel AGIE F4I d) @ T
feafeiire emefera Tea me: 1x12=12
() faME cmima smifE Fece < @Ree
(ii) 2o I A0 ?
(i) IRFAE TRIFACN9] WieTe] FICP 0T 2
(iv) CBCFA QG 2T (7
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v)

(vi)
(vii)

(viii)

(ix)
x)
(xi)

(xi)

1. () c
(vii) b
(xv) b
(xxii) b

Model Question with Answer Key

SRE
(< FICF FCeT?
i FeTre S @R?

SR
A R 2
ol et e 2
fifeam wAfzya SR S e 2
[BElKIERARERI:

SR
St el i et 2
T[] 2 I 0 2
Sl Fi3et FICF e 2
OICHIR 2

Q!

SerEIel SICHIH Yib Thide 1e |

(TG FTore] AGIZFI FICF e 2

Answer Key

(i) ¢ (iii) ¢ (iv) ¢ ) a i) ¢
(ix) b x) b ) d (i) b  (xii) b
Gvi) d (vi) d (i) v ki) v (k%) d

(xxii) ¢ (xxiv) c

(vii) a
(xiv) ¢

(xxi) a



Costing and Taxation
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COSTING AND TAXATION
Set-1

PART - A (Marks - 44)

1. e epfers Tee e (faegl sream) 4x2=8
a. fFferiie w2pTE (A0S FIFO #I%fers Stores Ledger A/c 2%® 54 |
2016
Dec. 1 Balance in Store 100 units @ 2.00 per unit
3. Purchased 200 units @ 2.10 per unit
12. Issued 150 units
15. Shortage found 50 units

17. Purchased 250 units @ 2.20 each

OR
FIETET [l EnRCE SARrs! (514 |
b. e sAsiefsles gl sife 1o ARl @ eyl @14 | 2+2
2. Tefefee emie Tes e : 6x1=6

ferferiie w2yajfet (2t GG = foafze <=1

Standard production : 500 units per week

Actual production : 400 units per week

Normal piece rate : Rs. 6 per unit

Under Merrick differential piece rate system
OR

T ST IR (AR S Aox et 51 |
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3. ffiee o Teawis 8§x1=8
During a certain week in the month of June, 2017 a worker produced 250 units of
a product. Working hours during a week 45 hours. Standard rate 10/- per hour and
standard time to produce an article is 20 minutes.

e ~fere s e fef < |

(i) Halsey plan (ii) Rowan plan

OR

GoeEa sjRge Ffefes Tgf omfea Iy otam @ @) @3 s=fox 1o
S

Al @ SPgfl SICeTbal 5 | 4+4
4. foefefee emefera Tea me: 4x3=12
a) M. Sen is the owner of a house property in Delhi. Its gross municipal value is
" 30,000. If the rate of Municipal tax is 10/-, then calculate Net Annual Value.
OR

o 0

rafoe Wfers =B i wie |

b) SIS B Ll e’ TS SR fofesjfst F e

c) fosferfe w2kt (24t Mr. Dhar-@9 2018-19 FAHRCER < STeiel T (AF
R WdiFel 391

(i) Salary of an MP 12000 pm
(ii) Winning from Cross puzzle - 20000 (gross)
(iii) Winning from Lottery - 100000 (before tax)
(iv) Daily Allowance of a MP - 1000
5. feferfe emifoa Tea mie 10x1=10

a) Mr. Atanu has a house property in Kolkata. The net municipal value of this
house 16000/-. Water tax 2000/-.Compute Gross Municipal Value. 4
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b) fafeTfe w2 (16 Gross Annual Value @37 | 6
H-1 H-2

Annual rent 96000 120000

Fair rent 70000 125000

Unrealised rent :

for current year 2000 3000

for previous year 2000 NIL

OR
Mr. Santanu ‘/ﬁ‘ e WiferF 1 2017-18 ‘75/?1@ AR A8 T LG T ST
feeygel 10
H - 1(Let out) H - 2 (Self residence)

Gross Municipal Value 250000 200000

Annual Rent 240000 —

Vacancy period 2 months —

Municipal tax 27000 2000

(5000 paid by owner)
Interest on Loan 40000 30000

PART - B (Marks : 36)

1. foog Terifera w1y (At A% Tea fdivn 903 e Aty @1d —1 % 24 =24

() IBINCER Fhows 47a9)feT 251 — ]
(a) 2 (b) 3
(c) 4 (d) @ICiE =

(i) B (T el Tos e — ]
(a) TeoAve el (b) TG el

(c) 7% el (d) ~ifz=r Kl
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(iif)

(iv)

v)

(vi)

(vi)

(vii)

(ix)

(x)

Model Question with Answer Key

GG HfE 8 IO 480 G5 216l) T AT W 320 GFF BA FeT,

TG O e el HAfie 2a — ]
(a) 80% (b) 120%

() 125% (d) @i T

THCaS AR 7B (GRN) Todt Sisi— ]
(@ ol (b) el

(c) Tw3 d) @IIvE w7

GG ©ICeT! WG 2wl JPRIT (e 26 — ]
(a) eTSl (b) &AMl

(c) Tw3 (d) @IIvE =

SFIGICETS Wifold F Sraeel (o= 1 27 2 ]
(a) IS IR e (b) <FIBISTIET frgees &

(c) Fore [ &y (d) FIBISIET TN Sl

(I B SRAMCTS &) o7 LS SOIT (T T =, © 21 — ]
(a) I[N A (b) T TeAWw T

(c) Tofaam (d) ST a3

3[R AR+ IR Golfe 5 = ]
(a) IR A (b) G I

(c) =uew A d) B am

T Tt < 2o — ]
(a) OiF 2SR (b) =T I

(c) Tex2 (d) @ICHE T
Termeae fefers Soifyca caAien 21 — ]
(@ 2 (b) 4

(c) 6 (d 8



(xi)

(xi)

(xiv)

(xv)
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951 &fe g 207 80 BIFFl, 93 «FF AW 10 W 7331 1i9ice, @3 @lfs

TG T = — ]
(@) 10 (b) 80

(c) 6 (d) P2

IR FRIRIC Sl g — ]
(a) WG e todl w4l (b) Teifs 5w stz

(c) SPITIAT *jefeTl Tl (d) cICGE T

52 NG FI(F SIS 2CACT SR SNRCAT (el A — ]
(@ 15-20 (b) 22-27

() 5-10 (d) 30-35

1Yl (RS AT (AT A el Sy SRCeTs 5@ 413 =Iowd <Rl iRy |
(a) 26 (b) 24
(c) 28 (d) 45

P [ ay

i wifeemEw AT e PRICE T U927 S0 IeIva b ARF

T 20— [ ]
(a) FairRent (b) Municipal Value

(c) I (d) bR T

(I erelt Fife— ]
() 6.5% AT (b) IfFsT® J=ICT 5iret

(c) o AT (d) Feffereia
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(xvil) [FL TG TG ST SN (I AR JCC ? ]
(a) 2(498) (b) 2(47)
(c) 47(d) (d) 10(23B)

(xviti) oA G 2T @ (A ? =
(a 2 (b) 3
) 4 d 5

(xix) 2(47) 41 SRR (0 ZVEF 0T 9007 20 12 ]
(a) (b) Rfe
() ol (d) Tz

(xx) ANRRGE CATITT A =TT AW Fo 2 ]
(a 15000 (b) 20000
(C) CRTITaR & sifsel (d) @ICHE T

(xxi) SR (FID Sl T (AE AT 772 [

(@) sTomRe (b)
(c) <Ererel (d) <=2

(xxi) IO RS G ACH (G AT 40000 TIF, ¢ 15% 20,
(ARG olfel 7 — ]
(a) 4000 (b) 5400

(¢) 6000 (d) FICDE T
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(xxiii) SO CITF 5 &1 B 2&T 98000 TR, (SITILET 1 (IFCO (NET 7)) ATFH(G

FACANE] SN A =7 — ]
(a) 98000 (b) 97500
(¢) 140000 (d) @i T
(xxiv) TR0 Co. (ATF AT ST (I TS TS — ]
(a) (SO AT (b) sTIfE WS
(c) STy B (d) @ICDE T
2. fwferiee epigfera Tea e : 1x12=12
() ORYT TCLT A=S FICF A0 2
(i) AT AGITLET B CHICET (I 2T o e w41 Tbw 2
OR
R AT 5T A faisieTa RS A gl 2
(iii) T fRIREECeR qib sifod FI1% (o1 |
(iv) aifs e Fie
OR
(BoTCes 52 Flefefes wgf s=fe vt el @74 |
V) ToIfF A5 FICF A0 2
(vi) SIReT Gl e vl Srizsel Wi |

OR

AT fefere Toifa e idieis 311
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(vit)

(ix)
(x)

(xi)
(xii)

Model Question with Answer Key

Rtafbe e Tnizae nie |

sprrifed RS &0 FICT a2
OR

MP-(ng &G (o (Il AICO FKCANGN 2

ToCITITIR IR (AT 2 OG! SElTaE (Fe Ao I 2
OR

AR AT =T A #IfwTel T 2

JETHAI BN HICP 0T 2
2T FhIGH [F I-W A1 (@I 4TS FAN90 2

OR
A & el (e 2

Answer Key

1. Ga (@b (iii) ¢ (iv) a ) d ) a (i) ¢
Gii) b (%) ¢ x) b x)d  (xi)d (i) b (xiv) b

(xv) ¢ (vi) e (i) b (vil) 2 (ix)d  (xx)a (i) c

(xi) b (i) d - (xxiv) c
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COSTING AND TAXATION
Set-2
PART - A (Marks - 44)

fmfeiiie eifera Tea wie (g eriafer srwam) 4x2=8
(1) Receipts Issues
2018 Qts. Rate Dt. Qty
June
3 500 110 7 400
5 600 115 10 300

11 200 120

THARGE 92 (AF 15th sept, 2018 SIfFTH FIFO #/=(oT® SI@s e #[Tel
e feidfiae 1|

OR
LIFO »ifes sffaiojfer S Fi2
(ii) =R g% SRS SEPT FREE Feltd RAN TFGT 41 232
e emisffers Tea e : 6x1=6

TReTRS SUPTE (ACF A 938 B -7 (G ToiTeie oo 37 |
Standard production - 600 units

Normal piece rate - 2.00 per piece

Actual production - A - 400 B - 700 units

Differential wages rates : upto 100% efficiency-normal piece rate, above 100% effi
ciency-120% normal piece rate.

OR

() T foTe R I S FICF (e 2

(ii) ST T FICF A0 2 4+2
Ffafee exifbaa Tea wie 8x1
ferfeiie w2y (e P @3z Q @ (MG Wgfy el 51|
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P Q
Standard Time (hours) 50 60
Actual Time (hours) 40 50
Normal wage rate () 5 10
Bonus plan Rowan Halsey

OR
() Halsey @3 Rowan “=(fez SICHy #{1ef< 54|
(i) fsferiie w2y (AtF X @R Y @3 (i oIy e 11

X Y
Standard production (units) 500 500
Actual production (units) 400 450
Normal rate per units (*) 6 6
Bonus plan Taylor's Merrick
Differential  Differential
4. Towferiee erofers Tea wis 4x3=12
(i) eI oS 4TS AR fofes)fel Srae 4| 4
OR
TR SETLA T8 FICF JCeT 2

(i) P (AT TR b Srizad nie I SR Sz S S| 4
(i) )

a) Income from horse race (gross) 63500

(expenses incurred for maintaning horses) 5700
b) Income from Lottery (TDS @ 30%) 63000
¢) Dividend received from foreign co. 8700
d) Family pension 30000

THARGE SRR (ATF Mr. Das 7 “SIajia) S (/0 = fefefizel 31 |
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Mr. Chakraborty 9fG JIfa iferss | G vfo w2y fosget

H-1 H-2
(Self-occupied)  (Letout)

Municipal value 166000 190000
Standard Rent 162000 194000
Rent Recived — 180000
Municipal tax 12000 14000
(paid by owner)
Repairs 45000 37000
Vacancy — 2 months
THARGE ©2 (AtF Mr. Chakraborty €3 527fe2ITe S fwfzel 35 |
OR

() AT Il (AT N AP 23 2
(i) J2Irile (AT SR MR Gy 24 QR ZIe|feT SACEbal 31 |
(iii) e e 97 oL 2 4+4+2 =10

PART - B (Marks : 36)

afeft arvaa g Teadifer iy (AFE AT TG AH @20 1x24=24

() Tofa R @RS S 25 — ]
a) AR ACHE UGS b) PwI® ez
c) Twxg d) @IAIvE w7

(i) fr Tl a3 e — ]
a) O ARG b) wiERRT @F
¢) (FICAIDE T d) Tem

(i) T AT MR (@I ARTER (T AL (@9l FACF 07— ]
a) oUOTF b) A

C) e d) e«
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(V)

v)

(vi)

(vi)

(ix)

(x)

(xi)

Model Question with Answer Key

a) e b) e

) = d)  sicaEen

T HfOTS (TR 20 =T — ]
a)  40% b)  50%

c) 60% d)  70%

T T YAICAT (AH1E 2eT — ]
a) TNl b) eACATel

c) Twxg d) @IAIvE w7

(7 Rt 1Ty <Prers o T fdie a1 2w ]
a) T R b) sifs famm

¢) iteR S d) e e

IO FIT WA elfsfra T Tbia (1 Fier Fat 2061 overtime JCET 421
7 ]
a) 8 b) 9

c) 10 d) 119G

(=S (I o0 (12— ]
a) Ttz b)

c) gl d) sfzere

GO (eTelCa (i rotel wifkist e ? ]
a) g Aot b) ifsaw e

c) Tesive d) R ke

BT OifeT (i el 2we a2 ]
a) ~IR=E el b) Teome et

o) fefmifac d) sree el



(xi)

(xiv)

(xv)

(xx)

Model Question with Answer Key
FIGISITER WIS I (ATeT (I oIl Ramal =1 2302

a) LIFO b) FIFO
c) AT 9T d) SIRYT G e
CITORI (@I (AT TSI SR SBCAR (FI A T[T ?
a) 10(33) b) 10(35)

c) 10(34) d) 10(37)

RIS CATINCTR AAfREe 42000 Bie 2T ACHIT RI0TH /0ol 201 —
a) 14000 b) 15000

c) 42000 d) 20000

(ITTATE (AT ST (I 4TS FICA0 2

a) oMl (AT =™ b) I ite B

C) SN B (LTS AW d) =0

M T 2N A allowance —

a) IS b) AN

¢) 50%%T d) @ T

AR G AR Alfefen JBIF 2o —

a) el b) velfe

c)  TCaNal d) e e
AR el F1I0S TN &bfere 2l Fo 2

a)  10% b) 20%

c) 15% d)y 25%

ST e 2w oY 251 —

a) =3 b) R

c) ol d) =

AR el ifies kel Sizcas (i 4R A0 ?

a) 2(29A) b) 2(47)

) 2(42)(A) d) 2(29B)
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2.

(xxi)

Model Question with Answer Key

sjearifes iferss faarica sfereiel fodifae 23 — ]
a) fwdffae Twea fefere b) S =
) f = d) =i 7=

(xxii) HECIT G0 ATH G C2ITTET 50000 HIFl 2067 (o176 AW 10% 2T 20,
AR ifasie 2 — ]
a) 5000 b) 4500
c) 6000 d) @IS 7
a) 5-10 b) 22-27
¢) 1520 d) 30-35

(xxiv)

feCera AT ARICAR Sy el e SIF Soia {0 KT 2T F© 2 ]

a) 15000 b) 30000
) 200000 d)  @I=tE 7

faferfe emefer wirTwtet e wie | (g ereffer emedlia) 1x12=12

()
(1)

(iif)
(iv)

v)

OIYT NGIYE A FICF 0T 2

FIGICER Qbfe o Sgred A nife 1 23
OR

Opening stock 100 unit @ 6 per unit. 120 units purchased @ 8 per unit and
150 unit issued. FIFO 79T closing stock G 36T 9 2( 2

(RS Sffhos IgRE 2 A=Fe FICP e ?
TRAMCH S F3R HICP A3 2

OR
QICACEIRIRC (SR (K
iz Goifsr e TrizRel i |



(vi)

(vii)

(ix)
(X)

(xi)
(xi)
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R fefers Toifa s @aiere 0|
OR
T TG T 0 FIF A6 2
vis SETfe S7rifex Tuigzd i |
e TS T AP € F 2
OR
A Sy G @l 5 Jerda (e 2
UTI (R 218 511 (i A0S FC0 2
{7 G @i oL NG 7T Ye0 2SI I 940 I 2
OR
S T (AT R BB (I AR ST 2
ST ST B o< BT NE F 2T =T e 97 e
ENEEASID RSN S E

OR

CTIET FICF A0 2

Answer Key

. Oc (Gid (iii) b (iv) a V) b ™) ¢ (Vi) a
wii) b () a x) b ) ¢ (ki)a (i) c (xiv) a

xv) ¢ (xv)a  (vi) b (i) @ ki) d (k%) a  (xxi) b

(xi) a (i) b (xxiv) b
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COSTING AND TAXATION
Set-3
PART - A (Marks - 44)

1. fsfafe epeffers Tea wie (eg enifoa emwaa) 4%x2=8
(a) e wUpRE (A0 e T 29 todl 5 |
2@ 1 A=(fete (Under Simple Average Method)

2018
Feb 1. Openingbalance 200 units @, ~ 4 per unit
3. Purchased 300 units @, ~ 5 per unit
6. Issued 200 units
10. Issued 150 units
15. Purchased 200 units @ ~ 6 per unit
Or
FIFO »[feq 16 ARl @ Spyfka Sainel 39 |
(b) ST FCIT FIA ST |
2. frferiae epsis)fers Tea wie | 6x1=6

From the following information Calculate total monthly remuneration of a worker.

Standard Production p.m. - 600 units
Normal hourly rate - Rs. 10

Normal production in a hour - 5 unit
D.A.-100 p.m.

H.R.A.-300 p.m.

Additional production bonus @ Rs. 5 per each% of actual production exceed-
ing 80% of the standard. During the month the worker produced 700 units.

Or
TRIefes TG [ICH 7Kl 8 SpIfREl SCebel 4 |




3.

4.

5.

Model Question with Answer Key 239
fereferee emifoa Ted wis | 8x1=8

A worker takes 75 hours to do a job for which time allowed is 100 hours. His daily
rate of wage is Rs. 5.00 per hour. Calculate the works cost under different method of
payment of wages

(1) TimeRate
(i) Halsey plan (50 %)
(1) Rowan plan
wfef® @27 : (i) Material Cost : Rs. 100
(ii)  Factory overhead @ 150% of wages

eI TR si%ifs @ carie fafmn sixfen siay #id< = | Aifefefes Tgf
CEISERCH SSRGS

fermferiere eriefera Tea wis | 4x3=12
(a) SIS SNEH SRl Jrifes el =@ (G i 59 |

Or
= o o~ o
PG N[2C [KRCAD® W[[6TR <RI 2

(b) AR @ FECIAMA [T F={f6= A A1 7 |

Or
(I (I il serael i & [irafoe =2 =1 |

(c) Fferie wapmz (2CF 2018-19 fefwd q=ra & afex AF Sy T
CCP S el <51

(1) Income from agricultural land in Nepal ~ 40,000
(ii) Income from royalty ~ 5,000, Actual expenditure spent for this ~ 1,500

(iii) Winning from crossword puzzle ~ 12,000

fereferee emifba Tes wie | 10x1=10
Mrs. Sen %fG IS o1, 2017-18 708! 7203 A6l 716 71w w272 wg=t : —
H-1 H-2
(lef-out) (self-occupied)
Municipal value 70,000 45,000

Rent Received 55,000 -
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Standard Rent 65,000 -
Municipal Tax @10 % @12 %
(paid by tenant) (paid by owner)
Vacancy period 1 month —
Fire insurance premium 1200 1500
2018-19 JAICET Mrs. Sen € ‘5J2or7If8 A0S’ o7 feefizel <1 |
Or

(a) M.Das SerploRl S[P=e gfb A8 Wfers, Hlerie w2y 737 (S Net Annual
Value 2018-19 faize 3=z f@em 4 -

H-1 H-2
Net Municipal Value 180000 360000
Fair rent 250000 270000
Rent Received 220000 430000
Municipal tax @ 10 % @ 20 %
Vacancy period 2 months —
(b) 76 @5« ST TwzRel Whe T ojarife A0S’ S e 9l 23 1 | 8+2

PART - B (Marks : 36)

1. ofsf evaa #fds Teal® @rr i eve it e 1x24=24
(i) FEECER @ e TAMCR FolRE ARFANTS A6 — ]
a) SHSIRE He b) wfefzs =
¢) Teifs % d) @IS w3
(i) FIGICETR T[S Z&T (i AT — ]
a) R Tife b) SEIF Fife
¢) beifs Fife d) Fefet
(ii)) FCNL FCAE (T FIGAET O BLAMCAT FICG JRA FA AT AN — [
a) gl b) Ttz

c) 2 d) AfFers
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(iv) oifs e siwifor sfEize 2w — ]
a) ZETCA b) e
c) feeifae d) @E T3

(V) T N S 26T — ]
a) Teifgary fadfae b) g et todl =
c) FIRLAMIT el A d =l

(vi) e Reitss o1 e 2e — ]
a) T b) IR AT
c) aifs AT d) e g

(vil) PRI T % BC (A (T SNECHH Ge)) (F ST A
e — ]
a) T b) wtafeF
) S d) @IADE 7@

(viil) S FEHE TG FOICH] el 11 A 2 ]
a) 2 b) 3
c) 4 d 5

(iX) 2 A Q] CAWH HLHE ey A AT — ]
a) SN N b) oUorF I
) M A d) Teifa I

x) I ST (& G TR 07 Trizae 2 ]
a) SRS b) F==

c) sAfFaSIe d) @IS w3
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(xi) CoIRRIN 2o S FIGEIET + ACArFE NG |

a) SR SICAFE A b) e AW
) e A d) @ahe w7
(xil) TAWMFT TAMICTR fofare T2 e 27 —
a) 2 b) 6
c) 38 d 4

(xiil) SETH] TS STFF SABCAF (I A SR ?
a)  45(1) b) 54B
¢) S54F d 54

(xiv) (I 3T7IG TVIVFF T Jo1el 37 27 2

a) SaE b) E

c) befe d) wepCIaly
(xv) ETHE! e (Al 2e—

a) 2 b) 4

¢ 3 d 5

(xvi) FL TG TBGT SATFT SN (e R T R 2
a) 2(14) b) 2(50)
c) 54F d)y 247
(xvi)) ST S (AT AT (I I I 2
a) 55 b) 56
c) 58 d 57
(xviii) =15 3% 7000 B 2 G 7 27 —
a) 10,000 b) 11,000
) 12,000 d) 14,000



(xx)

(xxiv)
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AR (2T A BT F© 2 ]
a) 10,000 b) 15,000

) 20,000 d) 25,000

OIS Al T (AT W — ]
a) AWM b) ACAN

) M TN d) 5000 Bl R T[T

o

I @I 1S Teal fofers @ wiim w77 2 i we o= fofd gaa—

]

a)  oJred WfeT b) oI
c) TERME d) e«

T IR G RO (ST RO TEAMIACE Hlfied Mferplal o1l 27— |

a) 5 b) 11
¢ 10 d 12
‘o€ (AT T AT AL (Pl A SR ? ]
a) 22 b) 21
c) 23 d 24

Il (el AT 15 AIfF o1 70000 BiF 20eT standard deduction AT
o ]
a) 14000 b) 21000

) 28000 d) 7000



244 Model Question with Answer Key
2. fosfeifee emefera Tea we: (g emefer srsat) 1x12=12
(i) oprifes e o0 T T 2

o fa

(i) THCIDS NieTE FICF A0 2

CTIET FICE ACET 2
(iii) e Gy Fefsg@l & JErl TrlfG 2

(iv) e WS Yo Tuizel vie |

Or
i SRl e Triggel e |
(v) RIS IW FICE A6 2

(vi) M f2IAMT 2l (Fod (I TS FAC9] 2

Or
FOIR (A Sfere oIy 5 T4 2
(vi)) fTerT FHE Fi2
(vil) IR O I A 2
Or
CIYT T A= F 2
(i) oo TG FIF A0 2
(x) =S o P e 2
Or

AT i HICF e 2
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(xi) 2 T @ T AT Al 79|
(xii) IfFSTAET SR TR g6 Sz wie |

Answer Key
1. (@)c (i) ¢ (i) ¢ (iv) c (v) d (vi) a (vil) ¢
(viil) a (ix) d x) b (xi) a (xii) d (xiil) a (xiv) b
xv) b (vi) d  (xvi) b (xvi) a  (xx) b (xx) b (xxi) a

(xii) d - (exii)) @ (xxiv) b
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COSTING AND TAXATION
Set-4
PART - A (Marks - 44)

1. f=fafie emoffer Tea nie (g eifoa sv=am) 4x2=8

(a) F=ferfe OUAPTIR (ACF FIFO 2%(fST® Stores Ledger Account #F® % :
2017 April, 1 Opening Stock 100 units @ 1.00 Per unit.

10 Purchased 200 units @ 1.10 " "

15 Issued 150 units

25 Returned from the issues on April, 15, 10 units.

30 Wastage 10 units.

OR

A 91 Afeq (Simple Average Method)ﬂ'{[ﬁzﬁsﬁ{ e

(b) 2P NG GIR 2ITAFF AGR J&y AL 54 |

2. Feferiie emibe Tea we| 6x1=6
fsferie wanafe (At XY @R Z @3 (NG ©oiieie 14T 9 Merriek's Multiple
piece rate system :-

Piece rate Rs. 2.50 per unit
Standard output =400 units perday of 8 hours
Actual out put in a day
A - 250 units
B - 300 units
C - 350 units.
OR

(eI '@ (RCHR 21149 o7 Wg1< 29 (Taylor and Merrick Differential piece rate)
G 3L 2N |

3. f=fafee epifod Tea wie - §x1=8
o1 O 3 (ATF A 3% B @71 (i ToiIeia 3z SRS gz 29 fefadfael 4 |
A B
Standard Time (Hours) 60 84

Actual Time taken (") 50 74



(a)

(b)

(c)

Model Question with Answer Key 247

Normal Wages rate per
hours (7) 12 5
Bonus plan Rowan  Halsey

OR
Nl PR (A X, Y 938 Z @3 (6 Ssiieie foefa 34|

(1) Standard production for each worker 1000 units
(i1) Actual production for the month

X- 900 units

Y- 1000 units

C- 850 units
(iii) Piece rate Rs. 0.25 per piece

(iv) Additional production bonus - 20 for each % of-Actual production exceeding
90%.

fraferfae emeffers Tea wie : 4x3=12
IO (e R e A &) GIFS FAAATE 15 AR ST (AT (@ —Ige)fert
2GS T O A S |

OR
oA P 97 s SR Sizad WS |
@ I (0 TBISR A6 RS 27 A1, G B Suizsel e |

OR
R W2 1961 SEREAT el 31’ AIte 9 @arol fefes|fer Sien w1 |

2018-19 e =@ & G Ty T (AF W Wefwe 74
(i) Rent from Vacant Land ~ 15000

(ii) Interest on bank Deposite (gross) ~ 30000



248 Model Question with Answer Key
(i) Income received from horserace ~ 691000

(Tax deducted at - source "~ 30,900)

(iv) Remuneration received as Head Examiner 13000
(Expenses relating to this ~ 3000)

5. fmferfie amfba Tea we| 10x1=10

& ST SR Y6 AT AT | 2016-17 13T =0 A ¥iG Awifde ey g -
H-1 H-2
(Letout) (Selfoccupied)
Municipal Value 450000 175000
Fairrent 500000 165000
Annual Rent 600000 —
Interest on Loan
(for construction of House) 90000 100000
Vacancy Period 3 months —
Municipal tax @ 10% @ 20%
OR

(a) Ol (e AT 15 A o1y fHefices s (e 2 w17 *1$ejfer I F2 4

(b) Mr. R. Ghosh has a house at Sodepur. He uses his house for his own residence for 9
months during the previous year and remaining 3 months the house is let out. Municpal
value 15000. Rent Received 3200 p.m. Municipal tax 500.

ATIR ﬁﬁ‘?ﬂﬁ/ﬂs{?ﬂ (Net Annual Value) f€i@e 34| 6
PART - B (Marks : 36)

1. el amew g Teasfea wiy (A4ts A% Teal @t fra vFiwes Ts eve

AT Tl 1x24=24
() PIEEE P siftze At @ Kol ]
a) I e b) gl

c) Tesme fotsl d) @IAIvE w7
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(i) SIFF SIgCea o0 AW ASHE YT (A0S T GICF0E FIGINCET I o4

A ]
a) FIFO b) LIFO
c) Weighted Average d) D
(iii) SR R&et e (Issue) faTes o1 2i=fe 2e1 — ]
a) 2 b) 3
c) 4 d 5
(iv) eIl AT oiferadt 261 — ]
a) I S b) I feraie
c) Twxg d) @IAIvE w7
(V) ST € 2RI T (e (=R 0T — ]
a) I fere b) IR SR
c) Twxg d) @IAIDE w7
(vi) Halsey weir premium #=SCS (I3 0 f&AICI &y A3 AFRL % 20
]
a)  50% b) 100%
c) 33 % % d) D«
(vi)) RN A=fOCS @R 217 26 ]
a)  30% b) 50%
¢) 33 % % d) @ T
(viil) SR (I ST TS T 2- ]
a) I b) I
c) fw d) CPICAITE =
(ix) SeoAme I A AL @ I IR AR — ]
a) TrE ™ b) sifFaSTR e I

¢) Y ARSI d) @ T
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()

(xi)

(xi)

(xiv)

(xv)

Model Question with Answer Key

RIEER GG ]
a) Y b) THfraw

c) I RIG d <l

ST Siferr =g I 251 ]
a) fae G b) S e wif

) GO el d) IR T

2) %(TT <TR) b) 50% (TSx TR)

o) %(Ts x TR) d)  @IDE T

it 2 1-4-99 =17 el (73, OC AW AW A BT ARl 207 2016-17

7[R e — ]
a) 30000 Gl b) 190000 i<

¢) 200000 Gt d) @anE w7

foler RICH & AT (09 w6 A o0 =07 — ]
a) b) «AISE

c) AT d) adRcTeng

AGATST VTR J2rIe (AT S — ]
a) FECIN b)  50% FACIN

c) TS d)  30% FACAY

Y AT (A0 o 5rife Aee” — ]
a) T b) ANy

¢)  50% FACASY d) @ T



(xx)

(xiv)
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Mr. Roy, 100 & c*21i=1 13 S0 wifi<s feiers SifEaeica (Aeieg | Gosta Coiigaffet

OIF ICZ 20 — []

a)  FEFEA JETHl e b) AR eIl STrife

c) Texz d) @D 97

el Trife (udifrers w99 fefe 2o — ]

a) LT b) BB o=fe

c) ey d) ifel Rtk s aR
S

(FIC FRGH (917 G (AF F© R 37 SRS 207 Jaga e

o fRcafoe 2 e ]

a) 5 b) 10

c) 15 d 8

eI fofere Jemea 7if6 2zo1 — []

a) 2 b) 3

c) 4 d 5

AR (oA ~AfRe 38000 BIA ZCeT RICSS ATl 2T — ]

a) 38000 b) 15000

¢) 13000 d) IR T

SR LS (Pl AR Seley $ (A0 O el S wivme [

a) 56 b) 57(2)

c) 58 d) FIabE w1

= 4l (AT 21 SR FACAN 2 — ]

a) (O (UCE p) e «its

c) S B€A d) ICNoE 7

@G AT 271 el M 60000 BiFl =Ni 23, 2we ©iel 30000 B @3

CTRINTSR 4 15000 BI<Al 2T Sl T (I S 20— ]

a) 15000 b) 30000

¢) 60000 d) @ioE =)



252 Model Question with Answer Key
2. fawfafe emifera sifoncg Tea me: (Reg emfer svwaim)  1x12=12
() F=E TR T e e
(i) “Tere AW Fi?
OR
GO A F 2

(i) IO SR Fh e

OR

FIGICER RIS (A5 F 2
(iv) ARSI THAGTT FICF A 2
OR
2 @ 5 HEPIT SRR S 2
(v) IR S IS A 2

(vi) SO TG FICE A0 2
OR
ST ACIR IR el F 2
(vii) 0 I TR AN (&7 A AN 7 |
OR
P.O.S.B (T A 7 A F© (w1l RISC140 2
(viiy AT CoAICTa (e AT 20w 2Ifiel o 2
OR

(x) (I (T 7S q=R R TR0 f91old PR (ATF 40,000 Gl 7w 20T
CATHCRS, 92 S FO0! FACAAN 2?2

(X) SN BB 1961 SR SETLI 37 FIF e 2
OR
2151 Pl [T S 2l o & el 37’ AT FAN90 232
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(x1) RO FCF o7 2

(xi)) 2017-18 ffzel TR0 SAMITT SISl ATHF 27 M 20T SR (97l gt
202
OR
Net Annual Value 12

Answer Key

@b (i a (iii) b (iv) a ) a o) ¢ (i) d
wii) b (ix) b x) b x) b (xi)a (i) ¢ (xiv) d
xv) ¢ (xvi)a  (xvi) b  (xvii) d  (xix) d (xx) a (xxi) d

(xxi)) a (xxii) ¢ (xxiv) a
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COSTING AND TAXATION

Set-5
PART - A (Marks - 44)
1. feffie emiefes Tea wie (g exifoa araim) 4x2=8
(i) fasferiie wUpTE (20 LIFO #%fote Stores Ledger Account AFO F |
2018
Dec.
1. Opening balance 100 unit @ Rs. 2.00
10. Purchased 600 unit @ Rs. 2.00
12. Issued 120 ,,
13. Purchased 50 ,,@Rs.2.10
29. Issued 250 ,,
OR
FTOIRYE 2Ifod I BEIfb f<al (o19 |
(ii) ooy @ 2IAF TG A A1 4|
2. fferfae erifba Tea ms) 6x1=6

A and B are two workers. A produced 800 units and B1000 units for 8 hours in a day.

Calculate the wages A and B from the following information. Standard time allowed:
100 units per hour.

Normal time rate per hour : Rs. 5
Differential rate :
80% of piece rate below standard.

120% of piece rate above standard.

OR
G0 Tew Tl emia R (ARReffer (7 |
3. T=ferie emie Tea wle, 8x1=8
A B
Time allowed (Hours) 60 60

Actual Time taken (Hours) 45 42
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Wages rate per hour Rs. 10 Rs. 10

Bonus Scheme Ruwon  Halsery
TS Wi fofers A @3k B @3 reia
(i) G Teffei
(ii) R g 2w e 1|

OR

GeTCER 7jRIge Ffeles wgf A=ifon g R @b @ | 92 sfer 1o
ARl o1 | 5+3
fafeie emeffera Tex mie | 4x3=12

a) fasferiie wapm (A0F 2018-19 w7 affwd T2t Mr. Sen-4g “SIjl=y T
cIte S feieffel 1|

)  Income from agricultural land 30,000
(Land is situated in Bhutan)
i)  Netinterest from Govt. Securities 6000
(after deduction TDS 4000)
i) Gross Salary received 15,000
iv) Income from vacant land in Kolkata 2,000
b) ‘oI AT S FACIN T G5 ST Tri=el wis |
OR

PRI €T I G RICTH 2SI 2

¢) @ @ TSR R [abe 237
OR

1) Household Furniture ii) Jewellery iii) Car for personal use iv) Drawings

— (iAot el STife (o1 |

fafeie emfba T e 10x1=10
e frafice SRR i A8 Wifers | M8t 76 THAEe SUPTR 26 (—
Purpose Let-out Self-occupied
Net Municipal Value 45,0000 800000

Standard Rent 500000 820000
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Annual Rent 480000 —
Municipal tax 9% @10%
Interest on Loan 30000 30000

Compute Income from House property for A.Y 2018-19.
OR

a) Roee SRS oRarifen o STe! SCEbl < |

b) RN STl A Z(T O FACNTST (574 |

¢) Tahe wfe st e 2 3+4+3
PART - B (Marks — 36)

A. oS desm e Seaefer St (e 1% Teafls @z e e its ¢aeal ¢

1%24 = 24

) EeaR gy @It @ Kol todt FE— [ ]
(a) Teolve et (b) =Afvfa fretal
(c) eiorerzeFial e (d) CFICAIDE w7

iy I bieTey (20 @ [/l 2o am— [ ]
(a) Trade discount (b) Cash discount
(c) Tez (d) @R 7@

i) 39 FIC F CoF FCAT— ]
(a) Bl TP (b) &t~
(c) VgOTHSF (d) o1 o

iv) 9T Tex TG e TR CAME 26— ]
(a) eeCatoel (b) et

(c) ZENT (d) F=eyfer
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257

D I TAMCAF Gy I A 50 T | GG N 40 TOIT FIG O 7947w
A | T TN smifore ¥ftaa @R 2 e 201, 949 951 ¢fe

G 29 20 Giwl—

(a) 100 (b) 150

(c) 400 (d) @IaE =
G 2mie ol e 27—

(a) SRR T oI =0 (b) g wiferel todt =1
(c) fimeers SCay 1 96 <l (d) o= =fie el =i

T TG (P IR TTGT—

(a) A I (b) T eI Toifa 57
(c) T3 (d) A A THAR 7
T G WfeTels 2o —

(a) T S (b) 7 forea

(c) Texg (d) (PICaGE T
Tl I 2 (9NCE1S 2fSDIE (T 7 I8 FACS 27—

(a) PRE A (b) ifFaETAe

(c) Sl sAfzderer (d) FICAIDE w7

Prime cost @3 AT TSI T IT 20 (@ [ AN IR-—
(a) works cost (b) cost of goods sold
(c) costofsales (d) @s a7
IAA TSI (o] (e AT SR JCIF Twizgel 2

(a) 2O I (b) It I

(c) “ACArF T (d) m@9fer

AT LI S CAF AN BCP Ao —

(a) G <5 (b) ~ifs=ra

(c) ToifF 3™ (d) FeaIDE =

(]

(]

(]

(]

(]
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xiii) JZIIE (ACF SN (309 A QG SR SN2d (@ (=R e 21—

[]

(a) 23 (b) 24
(c) 25 (d) 26

xiv) ©ISl (el e (w0 (G RS ohy 2oi— [ ]
(a) =TS 2% ool (b) =TIy wrer
(c) GG oA (d) Rejfers NCy J2ew

xv) PTG (FCE AT @77 N SR SBC PO =% A1 geeay— [ |
(a) 24(a) (b) 24(b)
(c) 24(c) (d) 24(d)

xvi) G0 Tl A w2 2 [ ]
(a) 2@ SRS &y (b) 6.5% = eioig
(c) T ecAee NS (d) Tfeare e

xvil) T FIfER AL SR SBCAE (P QA B2 2— ]
(a) 2(15) (b) 2(14)
(c) 2(47) (d) 47

xviil) T TSR THFH (I QI ARCR ? ]
(a) 2(47) (b) 2(48)
(c) 2(49) (d) 2(50)

Xix) A TG’ QTS S e eay e Aifen avwrer 2o — [ |
(a) 3 (b) 4
(c) 2 (d) FICaDE 7

xx) UTI €3 (07 32 MR @ SIS0 (@0l [T F9061 ©f F 4@07 el
TG ? ]
(a) =@l CIM (b) e ol

(c) Eal rife (d) IS w7
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xxi) TYL FZ (ACF ©0,000 BIF ToRT FGA 2NEN (5161 | FHCANS SCAS AN

TE— ]
(a) 18000 (b) 60000
(c) 6000 (d) ==

Xxii) ‘ST T (ATF SR ST T O QO ? [ ]
(a) 2 (b) 3
(c) 4 (d) 5

xxiii) SRR (A 2z (@ RUee St — ]
(a) 33L% 2Ne Cofemie (b) 15,000 GBIl
(c) a 93 bWy @G I (d) R9fei2

xxiv) FIE A FE PR (ACF 2RIF T2 A Fom— [ ]
(a) FACI] (b) AT T
(c) TR (d) DS 7

2. fasfefee emefera siceaptst Tea wie (g ereffer wmea) 1x12=12

(i) IR At wfets =i & FcA19) 2
(ii) A & Jeret il 2
OR
T (RIS AR T i€ e REIpl w41 232

(iii) WG et Tvife I e 2
(iv) Qe TRy ©rel F 2

OR
feter A (e 24 =1 A1 2IC 9fer F F 2

(v) SITICE (a4 2dWie 405 < 272
(vi) Sy T TS T FICSF A0 2

OR
SRR SFCSH THT AN (I AT FACN 2
(Vi) 325 T 1 2
OR

g foreiel 2
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(viii) SITSHT FITEF ANT FICF 0o 2

(ix) FIFWCET el o HICH 9061 2

(x) IFO =feq 76 7|
OR
FIFO #=fos 1ib Sryf<a |

(xi) F= Toifg g e

(xii) SNI#RIGTA SoifF 7 FICF 6T 2
OR
AfGIe1 Toife Cae 7fG TRl wis |

Answer Key

1. () c (i) a (i) ¢ @av) d (V) a (vi) b
(viil) a (ix) a (x) a (xi) ¢ (xil) ¢ (xii)) b
xv) b (xvi) d (xvii) b (xvii) a (xix) ¢ (xx) b

(xii) d (i) ¢ (xxiv) b

(vii) a
(xiv) d
(xxi) b
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COSTING AND TAXATION
Set-6

PART - A (Marks - 44)

1. fmfafe epefera Tea wie (g erifba =mam) 4x2=8
(a) faferfe w2z (2TF FIFO #feTe Stores Ledger Account 2 94!
2018, Janl Opening balance 400 Kg @ ~ 12 Per Kg

5 Purchased 500 Kg @ ~ 13 Per Kg
11 Issued 300Kg .
16 Purchased 700 Kg @ ~ 14 Per Kg
22 Issued 400 Kg.
25 Shortage 50Kg
OR
SIGIIET (TS (15 T G PO 4TS T4 2 2 2+2
(b) wrfefes Tgfama A=fon bl FR @72 |
2. fmferfie o2y sz (Ats A @3k B (ib Siteta fefa 41 6x1=6

Under straight piece Rate basis @<t Taylor's Differential piece Rate System :
Standard Production - 8 units per hour
Normal Time rate - ~ 0.50 per hour
Differential applied :
80% on or below standard.
120% above standard.
Production in a 8 hour day: A - 50 unit

B - 70 unit
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OR
(a) T IR 2fs @ @RI R 2ieq Ae 214w 34| 4
(b) AT TG Wi R oL F 2 2
3. ffeifee exifoa Tea s 8x1=8
ffeTiie PR (AP P G9% Q G LTSI (NG gl fsf 541 |
p Q
Actual Time Taken (hours) 15 18
Time Saved (hours) 5 2
Wages Rate per hour (7) 2 5
Bonus Halsey Rowan
OR

frferiie TPz (AF X @R Y @IT Soiiei @3 S Igiie 2 e

]
X Y
Standard Time (hours) 50 60
Time taken (hours) 40 50
Wages Rate (per hour) () 4 5
Bonus scheme Rowan Halsey
4. fowfefee emefers Ted wie : 4x3=12

(1) “Rrerel (Fair Rent) FICF 0T ?
OR

o o

afbe Wi e qceT 2
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(b) ife TS 5l Trizad wie |
OR
BIAG et srvifies Tuiggel wie |

(c) FHfeIie SepmE (AtF 2018-19 MafHel I Sy S (It = feffzel

4|
(1) Royalty from books: ~ 15000
(i) Dividend from Indian co.~ 10000
(i) Family pensionriceived ~ 60000
frmferre emifba Tea wie (e eifo wrma)
& 31 9% M WeT | 205 2-30 5y 7FS! TR A A6 A{{Fe © 2 TR fefwg=i:

H-1 H-2
N Kolkata Delhi
BISEAE G APTRIE STGIed IPTRI

(Self-Occupied) (Let-Out)

(s (Municipal value) 500000 400000
Iy @il (Fair rent) 450000 480000
2re gigo olel (Rent Received) — 500000
(+f77 (Municipal tax) @ 10 % @ 10 %
G «ifeT f=#7 (Vacancy Period) — 2 Month
AT G217 9 (Interest on Lone) 30000 40000

2018-19 e Twea ‘oz e Wite o’ Wfxe <7 |

OR 2+7+1
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() JTife TS A A Ao REA SRS *TGojfeT (#7< | <7 TS W
FIAT, G 6 Suizwe 7S | 2+2

Mr. Das has a house property in Kolkata. Gross Municipal Value 90,000. Fair
rent 84,000. The house is completely let-out. Rent per month 9000. Municipal
tax and sewerage tax paid @ 10% and 5%. Respectively Compute the Net
Annual Value. 6

Part - B (Marks : 36)
1. o Seaiifera sty (2ts 7% Teal® e i et
1x24=24

() e sifawfa [eellt @ el tofd Fa —

a) Wee ol b) Teolw frelaf
c) oifzvfa et d) @E T3
(i) T4 A FRISHE w4 6 [ier sl oi=ifs 2o —
a) LIFO b) FIFO
¢) Simple d) @FAIHE
(i) PG TGO G LT —
a) W-I-P b) befe e
c) =g e d) @E T3

(iv) TGRR sAfEe @I REEE o Won a2

a) JlceR SR b) IS T
c) Tem d) @aihe w3

(v) ReF fofes amliobg oo Je1 28 —

a) (PG b) (G
) s d) faerfecs



(vi)

(vii)

(ix)

(X)

(xi)

(xi)

Model Question with Answer Key 265
Rowan Premium #/%(fSCs (1 fF&fzces s7aft ze1 —

a) ST b) S-T
S
¢ T/S d ST
e A el S AR— !
a) e FGees g 20K b) IRfefes IgiH
c) Texz d) @aDE w3

GFGe HRFE GF FIEE G 16 6! (ST T&, (3 FIST0 8 T (51T F9 |
S el 2 2E —

a) 200 % b) 150 %
c) 66.67% d) 33.33%
52 MG TS SR (e IR G, 2T AR 2
a) 32 b) 24
c) 42 d) 62
@35 AT METe SR ¢3S 6 (e ~ 36000, NG (TN 207
a) 40,000 b) 36,000
¢) 27,000 d) @ T
G AGCATST el J2orife (A0 Al oy —
a) 40 % I b) 30 % I
c) AN T d) Il SRy
ACTRIM eVl FICS TSN AbfoTe T 2l T 2
a) 20% b) 10%
c) 15% d) 25%
A IR 2B @S (T —
a) (IeTE [T b) el

¢) ffesm d) Refe
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(xiv)

(xv)

(xx)

Model Question with Answer Key

ET] TG SRR SBCAR (I AR e W 2

a) 54 b) 54F

c) 54B d) 54(1)
ET] TIER AP (S 7 —

a) 2 b) 3

c) 4 d) @ICAIvE w7
eI e SrizRel a—

a) GO b) A

©) R d) *=E SRhRS wfy
R fofers Toifa IR 7 ©itel ©lol <11 A 2

a) 2 b) 3

c) 4 d 5

FIFLAT ST F 4T ToAfq 77 2

a) S RIE b) T MFE
¢) RFTAFw d) IO IE

CRRIC BT (MG S 5 60000 BIzFT = 3725 53 20000 BI=e 2CeT SR
IO?

a) 40000 b) 80000

¢) 20000 d) @E T3
SR () F LR Gl 7 2

a) T TIG b) SIRF T
¢) amaw d) @E w3
I T (AT T SO FOws UG ?

a) 2 b) 3

o) 4 d 5



(i)

(xxiv)

2. fowfafe epeffera wiceeet Tea wie (g epafer srmdia)

U
(i)

(iif)
(iv)
v)

(vi)
(vi)

Model Question with Answer Key

ANZRETE (oA IS 2FF wAfasner 2

a) 10000 G b) 15000 Bi=st

¢) 25000 B d) 30000 Gt

S T (AT SR (I I SN0 2

a) 50 R« b) 60 = gt

c) 56 4=l d) 54 xR a=

S (4! (-IT S —

a) T b) FICT

¢) SRR I d) 5000 izl 21(® T

2 OTF PGS FICF A0 2

Y T AG FICP qCT 2
OR
RS 2
LIFO #=feg vib < |
I foree 1 2

A ER I 2
OR

STET I FEIC0 | (@R ?

J2IAG QTS B L e 2

W< BI© (Standard deduction) €9 RTF9 ?
OR

RIRASI KSR

I 3T IE0e Q@R 2

1x12=

267

12



268 Model Question with Answer Key

(iX) ETHI A IS J AT 2
X) U T € TAR a4 2Ny (o7 2
OR
EESEREEETE
(xi) ST SRR ST FCAH 2 T 2

(xi)) AR CoipTca CFeg [ikew =Ites 2w Fo 2
OR
FOIR (AT ST oY (I AT TN 2

Answer Key

@ c @) c (i) b @iv) ¢ v) b (vi) b
(vii) a  (iX) b (x) a (xi) ¢ (i) a (i) d
xv) ¢ (xvi) a (xvil) b (xviii) b (xix) a (xx) a

(xi) b (xii) ¢ (xiv) ¢

(vii) a
(xiv) d
(xxi) d



Model Question with Answer Key 269
COSTING AND TAXATION

Set-7
PART - A (Marks - 44)
1. f=fafie emeffera Tea wie (e emifs w7 4x2=8
(a) TNfeIe SLUPTR (AGF Simple Average ST b gL A S
Bl
2018
April 1. Opening balance 100 kg @ ~ 9 per kg
3. Purchased 200 kg @ ~ 10 per kg
7. Issued 50kg
10. Issued 100 kg
25. Purchased 150 kg @ ~ 12 per kg
Or
LIFO #i=feg vt ARl @ SpiRal (o1eal |
(b) &b Tex WG awi AR BT (AT Trad 34 |
2. femferiae emiba Tes wie) 6x1=6
(a) ST T FICF ACE, G FIFelaffer 2 2+4
Or
Standard Production- 50 units per day of 8 hours
Normal wage rate - Rs. 50 per hour
Differential rates - 80% of the normal piece rate when below standard,
120% of the normal piece rate, when at or above
standard.
Production during the year - A - 50 units B - 40 units
3. ffiiee exifoa Tea wis | 8x1=8
frNfetfie w2y (A0F X @R Y 99 (G TG @3 I Ngiad 2l efiel 711

X Y
Time allowed (hours) 50 40
Time taken (hours) 40 36



270 Model Question with Answer Key

Wages rate (Rs.) 10% 10%
Bonus Scheme Halsey Rowan
Or
(a) BT RN sl G2 care RRRIN =ifon stey geml 54| 4
(b) =fefefes g smfox spifar e | 4
4. Tl emefers Tes wis | 4x3=12

(a) (I (I CFCG Y€ (AT O T T 2
(b) FECRIA R AR JETH TIfe7 #{12/7T 7|
Or
IE] TS ACS FACASTOI fofes|fer Stetbe 5|
(c) f=fefae ©27 (ACF Mr. Surojit @ Sy T (ACF S feffae 71|

Rs.
Family pension 45,000
Royalty from books (Typing cost) 11,500
Lottery (after tax) 70,000
Divident from Indian Co. 12,000
5. fafeiie emefera Tea nie) 10x1=10

(a) RO SRS spEaifed Faceel SICeTbl 5 |
(b) T Al FT O FACTO! FgA 2

(c) I *r$=[7e FAC 512 92 AT Y T9IF BT AN AR 2 3+4+3
Or
Mr. Asim @9 fSfe1fie 92 g (A0 2018-19 T4 fFdfze T207 “2omife (4
Y fEfze” 59 10
Municipal value 120000
Standard Rent 100000

Land Revenue 5000



1.

Model Question with Answer Key 271

Municipal tax paid

Loan taken for construction

Water tax paid

Legal charges

With interest 10% p.a.

4000
2000
3000
20000

Part - B (Marks : 36)

aife emafera faeg Tearfera ww (s A= 4o w02 vRlnts ewe Ty
CeTel:

1x24=24

() @R A=RSTe B [T JeT FHCT SET TGO A TGN (e Ao

(if)

(iif)

(iv)

v)

0 [ ]
a) FIFO b) LIFO

) TR 9T A= d) @ahe w7

S0 TS (e fretsl 2 w2 ]
a) g el b) Tesiwe el

o) Bfglmfg d) eI Rer

G 51T G T A OCS SE Terod ol — ]
a) TP b) SE@wE

c) Gioel d) Temg

(I Tego-ME (ACF TAWH TeITal FIBTET (FF(a TIZ© 232 ]
a) BT B b) JFIGINICER =life e

C) I T d) FoE [fem Resesg

ST T fevergel ol T — ]
a) I fefes wgfHe 2t b) e Fe fefes AgfH 2

c) Tex d) @ahE w7



272

(vi)

(vii)

(ix)

(x)

(xi)

(xi)

Model Question with Answer Key

I TFATS NTINEE TFNEFCNT Toly @ 92 2T I 06T —

[]
a) STASIRE ST A b) Sifefaes T
c) SR S e d) @I T
T felfSas siwifore wfsiwom@ FBICIR TEE (@ *foi 20T (@0 @ife
5 o1 26T — ]
a)  40% b)  50%
c) 60% d) 100%
FleTe feifsmm oo M=o 251 — ]
a) wioeTel b) < SETEE
c) Texz d) @aE w3
o Teifer g 21 — ]
a) ARSI b) = FrE
c) Tex d) @ahe w3
TSGR 26T — ]
a) S Soifg aw b) A ToifF 7
¢) Reaio 7FE A3 d) IS«
i (G TeAme 53 125000 BIR, =% (NG THT G 2Ifsiel 45000 Bi<hl 23,
O 6T R SRS 20 — ]
a) 70000 b) 100000
c) 80000 d) 75000
@It ez e Aoy TR0 9ICF 89 S_by oo — ]
a) AW TIF b) AT T

) SIRFT AT d) R mFe it I3



(xiv)

(xv)

Model Question with Answer Key 273

(I A ool 716 TBITC S SACIB Fl ZCR 2 ]
a) 2(14) b) 2(47)

c) 2(42A) d) 2(29A)

R R e i 2T siely T (altet e 2te 4 AdiE
R — O
a) 36 WeE @ b) 12 R I

c) 12w @ d) 36 R |

e PRICE T 9288 TR 897 i A =T 2 — ]
a) 20000 b) 30000

) 60000 d) 200000

X’ Rl Afonits O IIRIfeTE F[tad A JTIE 2B FCA, Jrifed

I SN Z — []
a) RIER 7TaF 2I0Y b) x99 F 2O

©) XEF IS d) X 99 70 SRS SISO 20O |
srrife Aite s fefe 21 — ]
a) o 9o b) IS ST

c) Tex d) @ahE w3

8] T2 OURIG CRNeR Gy 70000 Il 03 1 2061 GRS I-W
SECR RICTH AT 207 — ]
a) ISl ieH b) 30%

) IR A7 oA d) @ T

(D el Frife 2 ]
a)  IGME b) =T SRR G

c) e wBaaNS d) 7% Gold bond 1980
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2.

(xx)

(xxiv)

Model Question with Answer Key

EE TIE THEAGS eTe FARN 20T — ]

a) (T IYH TBERES 2R |

b) Iifes o Aficn S 2R
) TIfel (Felx Ity FRIgT 2R
d) @ale T

AR CoT=ICeT 0L =TT A 7ol — ]

a) 30000 b) 25000
c) 20000 d) 15000 i< |

TCHF (I SIHATT ST AT (TP ST 3 2 ]
a) TEIE BOiF M b) T TorSrG
C) TSN (ATF W d) @ T

CAGTATG (AT (Sre! (G S “ifsie 50000 Bi<Fl, (ARG I 475 18000
DI<Pl, < 0I5 SCH Aferanel 209 — ]

a) 50000 Gl b) 18000
c) 32000 d) @IIDE w3

=IOIfA (A0 2 6 ST 69100 BiAl @1 (0 (T 0 O = —[ |

a) 100000 b) 120000
¢) 75000 d) IIDE T

feafeiire emefera Tea me: 1x12=12

@)
(i)

(iif)

srifas RS o7 FICE A0 2

OIT! AT G AR Lo (A F =T “en e
Or
CoMER <M (SIS *Ssffet I i 2

JETKA A8 T AT € F 2



Model Question with Answer Key 275

(iv) e fGlepieitas 9o Swizge e |
Or
RN SETLA T8 FICF e 2
(v) UTI-64 IS (A oY F1S & FAC197 2
(Vi) MP (7% 2l (e (Pl TS FAN0 2
Or
(AT (AT SRS SN (AT F 7T AN A 2
(vi)) ToIf I FICE A 2
(vili) =TT ST e s SwigEe Wi |

Or
EEe fefere oifd e @idiftere 54|
(ix) oifs fadrme Fte
Or

TR T Ipe Fafefes wgf smfox 7t Al @12 |
(X) ORYT TG ANS FICP A0 2
(xi) SECF Abe7q 62
Or
FIBTE SIS 73 epe 7563 (3 A WM AT ©ies 6 0er 2

(xii) I feTICeTR ST 5 2

Answer Key

. @a Ga (iii) a (iv) ¢ V) a i) ¢ (i) b
i) ¢ () ¢ x) ¢ ) c )b ()b (xiv) b
V) b (xvi) ¢ (xvi)) ¢ (wvil)) @ xix) ¢ (%) a (ki) d

(xi) d - (exii) ¢ (xxiv) a



276 Model Question with Answer Key
COSTING AND TAXATION
Set-8
PART - A (Marks - 44)

1. f=ffee epafera Tea wie (e emelfer svaim) 4x2=8

(a) TN SUPRE (ATF ORI T %S (Weighted Average method)-Co
G Nered A Tot T |

2017
Feb 1. Openingbalance 500 kg @ ~ 12 per kg
7. Purchased 600 kg @ ~ 10 per kg
9. [Issued 300 kg
22. Purchased 900 kg @ ~ 16 per kg
27. Return from 100 kg
(Issued on 9 Feb)
28. Shortage 20 kg

OR
fifer a1 FpIICeR Yo Mefaees drrearre Figel?
(b) e M fo1ea #i=ifex (AT BB T |

2. feafeiiae emefera Tea e : 6x1=6
RIS O 32 (UTF X IR y-< (G Goileie] f«i&figel Sl Taylor's differential
piece Rate System “I&oC9 |

Standard Time for one unit 6 minutes
Normal wage rate per hour 10/-
In a week of 40 hours x produced 350 units and y 400 units.
OR
ATV NG 2Wle] PRI ARG 0] ST B |

3. ffeifae emeffers Tea e : 8x1=8
oo wey (A0 P @3k Q-9 (b SIgE @31 (NG I3 izl vl |

p Q
Standard Time (hours) 60 50
Time taken (hours) 40 40



4.

Model Question with Answer Key 277

Normal wage rate (Rs.) 10 5
Bonus plan Halsey Rowon
Material cost (Rs.) 800 800
Factory overhead @50% @100%
of direct wages
OR

fferiie w2y (A (N6 Tiieiq @ SR SHATS = 77 feffae el | A @3 B.
Standard Time for one unit production 10 minutes
Normal wages rate 20/-
Actual production
A - 800 units
B- 1200 units
Normal working hours : 25 days in a month of 8 hours per day.
Differential piece rates : upto 100% efficiency - Normal piece.
rate; Above 100% efficiency - 120% of Normal piece rate.
fraferfae emeffers Tea wie : 4x3=12
(a) 26 (AT O (WERTeR Se 24 A RIws)feT NCenbal S0 |
OR
PR (AT FIT G BT Trizgel wie |
(b) oAl e’ SR fofes)fer I Fie
OR
S S SR (ST BT 31 Gl IS Suizgel i€ |

(c) f=feTe w2 (A 2018-19 @3 H&fe I=Ca Sy B (AT SR A0S
TN S e e

Rs.
Income from Lottery (net of tax (@ 30%) 70,000
Interest from Govt. securities (gross) 15,200
(Expenses for collection above) 500

Income from Horse rates (net of tax @ 30%) 35,000



278 Model Question with Answer Key

5. fa=fafee emibe Seq wie : 10x1=10

& K. Dhar g6 i ifers, 2017-18 #[798] q=ra 5o ©pfE (A0 oF
‘oarrife SRite” ffae S|

H-1 H-2
(let-out) (self-occupied)
Municipal value 2,16,000 2,40,000
Fairrent 2,30,000 2,32,000
Annual Rent 2,35,000 -
Unrealised Rent 10,000 -
Repairs 12,000 10,000
Municipal tax 21,000 17,000
Interest on loan 45,000 35,000
Vacancy period 1 month -
OR

a) YEIrifed Wfers =w@iva il wie |
b) wlel (el Irifer Fi5 AR e Fefaredm A=xfel Figol?

PART - B (Marks : 36)

1. e emefers #fs Teal® e fca wmfrts eve At cerat

1x24=24
() FBICER SIfEAHIT D97 T 2o — [ ]
a) fae b) Sered AbAAG
) GBI T d) SIS wifer
(i) FHEICET [Kfera w ez sifs ze1 — ]
a) 8 b) 3

c) 6 d 9



(iif)

(v)

v)

(vi)

(vii)

(ix)

(x)

(xi)

Model Question with Answer Key
FIBINCER (T o TeAMF Freifs e 906, ©its 057 —

a) el wio b) SrEeliRE we

c) oo wfe d) @anE
LIFO #I%fs @3 2tas —

a) G Erfefes b) el Ffefes
) T Pfefes ofe d) Refer

T CAETCAICAR Sy I 78 ZCeT O ST SHIZRel 2

a) HSIRE ST AR b) SRS St T
c) Twxg d) @IIE T
Sl 7 SinE iR T SICerw SifEs Fis Ol 06 —
a) SIfEpIE b) e T

¢) I ST A d) e

(@ AR 7R [Kfen e [esme 1 A7, ©f 26—

a) AR b) Jerel Feffa

c) o d) FCDE
Halsey-weir premium A=f6T® QIR e 26—

a)  50% b) 125%

0) 33%% 4 100%
AN TG Zo—

a) ! (FECRIM) b) AEGRIM el e
c) TwR d) FIAbE w1
RO Fofers Jerel 7ife ze1—

a) 2 b) 3

c) 4 d 5
BT 109 (I —

a) f&w b) el

c) FRfesm d) s@efer

279



280
(i)

(xiv)

(xv)

(xx)

Model Question with Answer Key
G (A GaTIeR T [ W03 SRFS 2o Pl Afe gEw— [

a) 5 b) 10

c) 8 d) 15 =h

P (AT <Pl (AT 2 eI — ]

a) T b) A

¢)  50% T d) FCDE

I BT (ATF AT SFLITOF FOH 4G ? ]

a) 2 b) 3

0 4 d 5

STOIfR (2T e ST oiE— ]

a) IS b) 5000 T 1® FT

C) SRIITS FAC] d) e

AR (oIt AHI RITT A 27— ]

a) 10,000 b) 15,000

c) 20,000 d) 25,000 B

Ol (redl AT (a5 IR 6T 26— [ ]

a) GG AR b) R ool

) UPO A Ol d) @I =

TN SRS MBI (09 (oIfea & /0 — ]

a) A5 (AR er b) @G T @l

c) I ST €2 d) @I 97

G TS 2o fefere s I ©iF woi oz sl e fofi ztaa—
]

a) Wt b) TG

c) TERME d) @IC0E 97

©IGl (el AT (Fq e Qred 2l 29— [ ]

Q) 30% b) 33%%

) 20% d)  50%
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(xxi) TR TR @ TR SEeT ? ]
a) G b) JFIfefes
SRR d) @I =

(exif) B R AT AT (@ 35 3 A o ze— ]
a) PRFam b) “AfRTET e T
c) difes a7 d) @ 9w

(xxiil) IR 2Rl (P SRR ST ? ]
a) I b) =i
c) f=w d) @ 9w

(xxiv) CRAM T T (IETS (F T FAC© 2— ]
a) PREIm b) =ifes ax
) ARG A d) IADE w1

2. fosferfee emefe Tea wie: 1x12=12

() FOCET SifeT FICF A0 2

(i) o M Fi e

OR
Tt FIGIET Fi 2
(iii) ST I FICF ACA 2
(iv) G TG P AT 2
OR

TR TR AOYfoT FI 2

(v) oAfTSTIeT TolfaareEa Tnigdd wie |

(vi) SRR FICE ACET 2



282
(vi)

Model Question with Answer Key

(e Sreitd e 232

OR
Yol SERICR @217 A9 6 %06 -G 21 A 2
SET] AT I e 2
TWIGH HCH (e QI T AR ?

OR
SETE TS I AP € U2
SO (AT 21 SIS SN S A (el ?
MP-31 (&7 (I 4TS TN 2

OR
UTI-64 IS (A0F 2l sTepies & F197 2

T MG YAl JRIF 9o (AR (ETea |

Answer Key

1. Ga (@b (iii) a (iv) c ) a
wil) ¢ (ix) d ) a ) d  (xi) ¢

xv) ¢ (xv) b (xvi) d  (xvil)) @ (xiX) a

(xi) b (i) d (xxiv) a

(vi) a
(xiii) a

(xx) a

(vii) ¢
(xiv) d

(xxi) ¢



Model Question with Answer Key 283
COSTING AND TAXATION

Set-9
PART - A (Marks - 44)

1. f=ffie exiafera Tea e (e emifs srsdi) 4x2=8
(a) SRR ORI (=T 18 #=fors (Simple Average method) GG STEeT

Ao Tof el
2.3.18 Receipts 200 kg @ 2.00 per kg.
10.3.18 Receipts 300 kg @ 2.40 per kg.
15.3.18 Issue250kg
18.3.18 Receipts 200 kg @ 2.70 per kg.
31.3.18 Shortage 50 kg
[
FIFO @& LIFO /%1 Je® ASH-G= JhIRCA T G2 IS 2

(b) Tex g vl Awifen WA [asy [Eaejfer F Fie

el emeffera Tea wie 6x1=6

(a) OIS ST TN R SRSl ST TRCF N0 L A |
(b) erefes g smfox vib ARl ¢ Sefl (=T | 242

KRR
NETRS SRR (A0S X -7 (N6 g e a1 under Merrick differential
piece rate system.
1)  Standard production per week 200 units.
i)  Actual production for the week 150 units.

i) Normal piece rate Rs. 5 per unit.

Ffafie epifoa Tea wie : 8x1=8

e STz (At P, Q @3k R (G Soieid foefdl AT |

Standard Production for each worker — 1000 units
Actual Production for the month : P - 900, Q - 950, R - 1000 units
Piece rate Re. 0.25 per piece

Additional Production Bonus : Rs. 5 for each % of Actual production exceeding
80%



284

4.

5.

Model Question with Answer Key

RN

ferfeifee wUPmE (AF A @98 B-99 (6 Igfv @32 SR gfhd 2
faefael wea |

A B
Time allowed (Hours) 60 70
Actual Time taken (Hours) 50 55
Wages rate per hour (Rs.) 5/- 10/-
Bonus plan Halsey Rowan
frafeiie epifera Tea e : 4x3=12

(a) ©IT el AT GR WS PRICR G AZ© AMGH S5 S 6T (AF @
RE9|fet Ael T S SHCAG FCA |

RN
5J2T{G (AT B SN THIZRel 7S Al SRR SN2 SN T |
(b) ALCRIAT ol F7ifE TP A6 2
RN
R T2 SR Yl w7’ Y00 T fefes)fer Trard we |
(c) HfETe PR (A0F Mr. P. Roy-ag Syl B3 (0 o fefdffel e |
(1) Salaryasan M.P.Rs. 1200 p.m.
(i) Income from Agricultural Land Rs. 30,000
(1) Wining from Horse race Rs. 7000 (net amount)

(iv) Interest from SB A/c of SBI Rs. 6000
el emeffera Tea wie 10x1=10
(a) TG TS T4 = Tgo 272

(b) Mr. Sen has a house in Kolkata. He uses the house for his residential purpose.
Municipal value of his house Rs. 60,000. Municipal tax @ 10%. On 1.4.15
he has taken a loan Rs. 40,000 for the purpose of repair of the house @
10% interest.

THRITE 02l (ACF Mr. Sen-a7 2orife AItw o7 fefiwel e |
RN
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House - 1 House - 11
Municipal Value 40000 30000
Fair rent 20000 15000
Rent Received 36000 —
Municipal tax 4000 5000
Interest on loan 10000 8000
[taken for Construction
ofthe house use] Letout Self occupied

THARITE L (A0 2018-19 7 feffzel amea jzar=rifie qire” o ffze e |

PART - B (Marks : 36)

1. % Teal @y fATa oMt ewe Ats eTea 1x24=24
() IO Siferl (e [Fels] 4F© 022 ]
a) e o b) T ool
c) s e d) i ke
(i) T PTG ol I 211, O (el 7S TAYT 2 ]
a) FIFO b) LIFO
c) IREE AT Ffe d) ST T A=
(i) R A=OTS @INR @b 267 — ]
a) % b) TS
¢) ST d) S%T
(iv) =W I 20 CAITETS (T A3 FACO T — ]
a) fRE W b) sifsaEalet
¢) SIS W d) oifss "
(v) @Rl e Seoiwe 0 1, [6g Teoies AR 90, S A — [
a) Teowe Krelsl b) I e
) e e d) el e
(vi) SFIBIIET T (O (Fe LR SART R TGS ? ]
a) e b) I

c) f=x d) ST AHE
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(vi)) IREF fefers Toifsaeaa fafete 2ot — ]
a) TRy ™ b) sfaaET e
c) A= d) fi Soifaamm
(viii) (I SIS ST A TGS 2/ eI Tl 22 2 ]
a) e Yo b) T
c) Tod W @ I d) aebTem
(x) e offros g 29 Afere b Sl 20T FA TR ? ]
a) 2 b) 3
¢ 4 d) R
(x) ST T fefzrgel sl AR — ]
a) IRefes TG 2T b) I FEefEF IGH 2
c) Twxg d) @IIE T
(xi) G 7 2o — [ ]
a) =g b) wfaaETleT
c) SIS d) @A™
(xii) SES T R — [ ]
a) oo b) el
c) Texz d) @t
(xiii) oJ2rifex 4 IR o1 (A0 2T ez R — ]
a) dffoge b) TR TR I
c) Teg d) @R
(xiv) Special Bearer Bond, 1991 2&7 — [ ]
a) eIl e b) e Tife
c) Texg d) @D 97
(xv) oSl SRS SR GIT (T 60000 GBI 20e1 8 (oA 10% 20
CTRCR A 207 — ]
a) 6000 b) 5400

c) 5000 d) @IC0E 97



(xx)

(xxiv)

Model Question with Answer Key 287

01-2-16 wiffiy &rg o< &ee1 31-3-17 wifeey &fs w1 20t — ]
a) FECEIM b) ARGRM el e

c) Tex d) @ICoe a7

FOIR (2t 46 2 51 69,100 B (TDS @ 30.9%) Z0& (NG el il
= ]
a) 100000 b) 120000

¢) 70000 d) FChE

STRIPICR @I MR Tz wiieg — ]
a) 10 b) 54

c) 56 d) 22 «q@Te

TCats] (Il (AT e Tepies] =e7 — ]
a) I b) *W[E

) SIRME FHCA0 d) Tewz

D Jeeat Twife w22 ]
a) MG b) e A

c) G d) cema

JRTIE (A0S 2 —ite s @ g <o @it — ]
a) 23 b) 24

c) 25 d) 26

T R (A 50000 iFl T2l fRACT AN (9l6T, UG FHCAST WA
Ao =207 — ]
a) 5000 b) 25000

c) 50000 d) @IAIDE «

B[V 09 (RN 2 [ ]
a) T b) i

c) ol d) e

JICETR SRS DI 3541 (AT O 2T — []
a) JEER b) azTife

) IR B (AE S d) IR 7
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Model Question with Answer Key

2. fefefee eofera Tea wie :

(1)
(ii)
(iii)

(iv)
(v)

(vi)

(vii)

(vii)

(ix)
(x)
(xi)

(xii)

STl IS JceT [RTabe w7 @3 uib TnizRe |

FHITIeT fKfeTa PTG STeres| 9ib A5=11 (o103 |

FIpie R Resel «iq (@ Coft w1 277
A

FOIF A STy ool a1 2717

FBICTR TR SIRTF (o FIF 0T 2

Gi7jef SIGINIET FICH 0o 2

REN

FHENCTR TfoRB FICF A0 2

(BETCER CIAET NG B SRR 0 SO 7 (e ?
RREI

SR G it K eibe dfe e

ST HLPIE SoAfy3 ol 2

95 CMTETCS FOIC (G TR #AfSw el [ 2
SRGI

©Ie! (el AT (A0 28 LI SR F 2T ANe A2

1961 SN SRR Soreell 377ife T 4 € F 2

UTI-64 I (AT e eyl 6 S0 2

EE] TG FICF A0 2

=2
Ffeare fefemisitas uio iz wie |
QI T FICE e 2

Answer Key

1. ©a G)b (iii) a (iv) a V) b i) a
i) ¢ () b x) a ) b (i) b  (xii) a

xv) b (v b (i) a  (vil) ¢ xix)a () b

oxii) d - (xxiil) d (xxiv) ©

1x12=12

(vii) d
(xiv) d
(xxi) b
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COSTING AND TAXATION
Set-10
PART - A (Marks : 44)

1. f=fefie emelfers Tea wie (g emiafer smsdi) - 4x2=8
(a) fasferie w2y (At FIFO 7fste it Sgres Wfsxi (ot s |
1-4-18 600 kg of material purchased @ 10 per kg.

5-4-18 300 kg ,, s issued @15 ,,
8-4-18 100kg ,, ., "
10-4-18 400kg ,, ,,  Purchased @ 12/- per kg
15-4-18 150 kg ,, , issued

OR

(b) BIN Card @3 Stores Ledger-43 SC&y 212/ S |

2. FEeiie epiefers Tea me : 6x1=6
(a) Halsey Plan €38 Rowan Plan €3 3[4y #1951 |
OR
fsferiie wey (At Sifdmer gax (IG wegf fdfae |
Days Hours Worked
Monday 10
Tuesday 9 Normal Working hours = 8 per day
Wednesday 8 Normal rate — 5/- day
Thursday 12 Overtime : upto 9 hours per day
Friday 9 Single rate and above 9 hours
Saturday 4 Double rate
3. fsferfe emf Tea wie : 8§x1=8

GG AR RS sfore @b e e et |
a) HalseyPlan b) Rowan Plan
Baric rate per hour : 10.00

Time allowed : 16 hours

Time taken : 14 hours
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OR
A, B @3 C @3 Merrick's Rate System #=f6T (MG Toieis fegoiel S0 |
Normal Rate per hour : 5.50
Standard Time per unit : | minute
Output: A-350units B-450 units C-500 units.
Working per day are 8
4. feferfee emefers Tea e : 4x3=12

a) TS (ATF O ST G BIEIG SR TARgel Wie |

OR

wfKerze o1 e F (I 2

b) BT WM TWiEFe WIS [ THEI e [QAhe oI |
OR
RN G AL e STeq [0y Al R |
) flerie Wy (AP Sy B (A O e el |
i)  Family pension @ 4000 p.m.
i)  Dividend from Indian Co. 7000 and a foreign Co. 4000

i) Sub-letting of house @6000 p.m. Rent paid 3000 p.m., Municipal tax
paid 2000.

5. fmfafie ax Sea we : 10x1=10
(a) ar™ife (AF B AIcdq fefe 7
(b) ‘Wferd *fog ot Wi |

(c) T J2TIlE QTS SR T 27 2
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OR

Mr. S is the owner of a house, the construction of which is completed on
12-12-2011. The house is used by him for 3 months and for the remaining 9 months

itis let out at a monthly rent (@1500. Other particulars are as follows :—
Municipal value — 18000
Municipal tax — @ 5%
Interest on loan— 7000
THARGT 97 Wife Atw o Weffwe wea |
PART - B (Marks - 36)

Afow Tea® (AT Fita vt ewe At et ¢ 1x24=24

() =fIoitaa So o fsfzel a1 28 — ]
a) 53(2) b) 56(2)
c) 54(2) d) 55(2)

(i) A G (AT B JgIrife Ate— ]
a) FACAI b) A
¢)  50% FACASY d) @ T

(iii) 2ITIe (TP B e oy i fofe g — ]
a) Ry oiel b) iR IEW
¢) N FCF 2 d) @ahE w7

(iv) D S B (AT S 7 2 ]
a) | b) eTeyieH
¢) E@erne d) orife e el ol

(v)  J2rife AITe S (I QI S — ]
a) 15-17 b) 30-44

©) 22-27 d) 5-10
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(vi) AR CoemIteTa TR =TT Al 2ei— ]
a) 8000 b) 15000
c) 10000 d) Iyl e

(vi)) TICSTE AT (oMiiE TS A2 FACE ©IF ST A 2a— ]
a) Il A b) (oM (ATF =T
¢) 97 e (AF o d) @ T

(vili)  RICTRIAT S Srifes kel 0T — ]
a) 2(47) b) 2(42)(A)
c) 2(29A) d) 45(2)

(ix) G0 2B 72 2 ]
a) ffmm b) R=w
c) ol d) Tomw

(x) QNI AT (AT B “oj2orrife (A0 SR QTS — ]
a) FACI] b)  50% FACAA0
c) AT d) e

(xi) CAIGTATG (AT (&ro! (G SCLS 2T 50000 B, (ANGT TR 246 2o
16000 DI, (TCFLG FACANS] S 2If0el =07 — ]
a) 56000 b) 38000
¢) 50000 d) I«

(xii) Bank Interest A% <15 SN 18000 GIFl | SITICET 7 16T ZCACZ 10% | TG
(G Ao Sifael 2q — ]
a) 20000 b) 20150
c) 20100 d) 19850 Gi=l

(xiil) (BT FHE 7 2T — []
a) ST b) FrE A

c) SIS d) @AIDE «



(xiv)

(xv)

(xx)

Model Question with Answer Key

TGO THF (T —

a) G A b) e T

c) Texz d) @anE
IS THFANCTTFCN Gely (T IR 8 2 9f o] —

a) ASIRE St T b) AR ST A
¢) wfelis d) @abE
TR Ao Cofa ea —

a) 97 e b) oifsar

c) ge d) fefiie [em
qHa5Iq FAL I (o 23 2

a) 2 b) 3

o 1 d) 4

T RN ffore @NeR 29 2@—

a)  40% b) 50%

) 60% d)y 100%
e i sirfers Aot 21—

a) @beTel b) < =EE
c) Tex@ d) @IAIvE w7
RSl T3 2e1 —

a) SIS b) = T
c) Tex d) FIAIDE
Tesmias fefere Boifd a1 2o —

a) 2 b) 3

c) 4 d 5
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(xxil) T FIHINCETH W FA9N© FCO ACF — ]
a) FIFO b) LIFO
¢) WG xS d)  (PICaDE 77|
(xxii)) G WeTCeT Gof Fofe e ege awe el 29— []
a) eIt @ile (b b) FBIER wifeia
c) SFPIBICTS (FES (A6 d) e
(xxiv) I AR Sl eI 2o 30 9951, GG HfaF 25 IO PGV (¥ A |
GUFCE WO 2Ifwo] 7ot — ]
a) 100% b) 110%
c) 80% d) 120%
2. faafeifee emiefera Teq me: 1x12=12
() JEINCER FI (+1G F2
(i) TGreg vifk7lg PICE e 2
(i) TSR @A oo Fi2
OR
TRIfefes g 2 G- FICP 0312
(v) e s ifon 1o a7 Seard e |
(v) e R sfers @mpT Wees 1@t Fig=i?
(Vi) ST NG PP A6 7
OR
2R AT ToAfF7T FICF A0 2
(Vi) IH T ST FICF 0o 2
OR
(TR <46 AW (RET *1$ 2

(vili)

I G ©TG! MR (T S 27 O (I A0S I 2
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(ix) POSB ((<F 1 1% (A A & O (e A0S TN 2
(X) <9 R SN0 T 3 G0 SRR WG |
OR
S T (AT S (I R AN 2
(xi) ETE TG T @5 9o Twize mie |
(xii) T ol Ivifes vis Swiggel wie |
OR
S[ETE I8 I e 2

Answer Key

1. @b @) a (i) b @v) d V) v (vi) b (vii) b
(vii)) a (x) d (x) ¢ (xi) ¢ (xii) a (xii)) ¢ (xiv) a
(xv) a  (xvi) ¢ (xvi) b (xvii) b (xix) ¢ (xx) ¢ (xxi) b

(xxi) a (xxii) d  (xxiv) d






Printed at
Saraswaty Press Limited
(Government of West Bengal Enterprise)




